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/fli6«o k/LIff af]8{ 
k/LIff lgoGq0f sfof{no -sIff !! / !@_ 

;fgf]l7dL eQmk'/ 
 

 

gd"gf k|Zgkq ;fj{hlgs ul/Psf] ;DaGwdf  
 

gofF kf7\oqmd cg';f/ sIff !@ df cWofkg eO/x]sf ljifox?sf] k|ZgkqnfO{ cem ;/lns[t / :ki6 kfg]{ p2]Zon] ;DalGwt 

ljifo lj1 Pj+ d"Nof+sg lj1x?sf] ;xeflutfdf ;~rflnt uf]i7Laf6 k|fKt x'g cfPsf tkl;nsf tL; -#)_ ljifox?sf] 

gd"gf k|Zgkqx? ;DalGwt ;/f]sf/jfnfx?af6 ;'emfa lng] p2]Zon] af]8{sf] j]j;fO6df ;fj{hlgs ul/Psf] 5 . ctM pQm 

gd"gf k|Zgkqx¿df s'g} ;'emfa ePdf af]8{sf ;DalGwt sfof{nox? dfkm{t jf l;w} k/LIff lgoGq0f sfof{nodf !% lbgleq 

;'emfa pknAw u/fpg' x'g cg'/f]w 5 .  

 

tkl;n  
 

S.N. S. Code Subject Name Remarks S.N. S. Code Subject Name Remarks 

1 0021 Com. Nepali 1 set 16 3021 Chemistry 1 set 

2 0041 Com. English 1 set 17 3041 Economics 1 set 

3 0061 Com.Social Studies & Life Skill 1 set 18 3061 Tourism and Mountaineering Studies 1 set 

4 0081 Com. Mathematics 1 set 19 3081 Marketing 1 set 

5 1021 Physics 1 set 20 3201 Civil and Criminal law and justice 1 set 

6 1041 Accounting 2 set 21 3321 Opt. Nepali 1 set 

7 1061 Rural Development 1 set 22 3341 Opt. English 1 set 

8 1101 Nepalese Legal system 1 set 23 4061 Business Mathematics 1 set 

9 1181 Instructional Pedagogy and Evaluation 1 set 24 4141 Environment  Science 1 set 

10 2021 Biology 1 set 25 4161 General Law 1 set 

11 2041 Education and Development 1 set 26 4181 Finance 1 set 

12 2101 Legal Drafting 1 set 27 4281 Computer Science 1 set 

13 2121 Sociology 1 set 28 4401 Hotel Management 1 set 

14 2161 Business Studies 1 set 29 4421 Mass Communication 1 set 

15 2241 Population Studies 1 set 30 4441 Health and Physical Education 1 set 

 

–k/LIff lgoGqs 

 

 

 

 

 

 

  



 
 

ljifo sf]8 M ))@! 

NEB - XII 

@)&((2023) 

gd'gf k|Zgkq 
clgjfo{ g]kfnL  

ljBfyL{x¿n] ;s];Dd cfˆg} zAbdf pQ/ lbg'kg]{ 5 . bfofF lsgf/fdf lbOPsf] cª \sn] k"0ff{ª\s hgfpF5 . 

 

;do M # 306f              k"0ff{ª\s M &% 

 

!= tnsf] jfSodf /]vfª\lst zAbx¿sf] cIf/ ;+/rgf -cIf/Ls/0f_ b]vfO{ cIf/ ;ª\Vof;d]t n]Vg'xf];\ M    # 

g]kfn k|fs[lts ;f}Gbo{n] ;'zf]let 5 . g]kfnsf ljljw 7fpFaf6 ;"of]{bo b]Vg ;lsG5 . g]kfn ;+;f/d} 

ko{6gsf nflu cfsif{s s]Gb| ag]sf] 5 .  

@= z'4 u/L k'gn]{vg ug{'xf];\ M                # 

jgljgfzsf sf/0f clxn] x/]s b]; k|b'if0fsf] hf]lvddf 5g\ . ljZjsf ;a} /fi6« jgljgfzsf] ;dfwfg 

df cu|;/ x'g'kg]{ b]lvG5 a9\bf] jgljgfznfO{ Go"lgs/0f ug{ j[If/f]kg ug'{ pko'St x'G5 .  

#= s'g} Ps k|Zgsf] pQ/ lbg'xf];\ M               @ 

-s_ tnsf] cg'R5]baf6 Pp6f kfl/eflifs zAb / Pp6f cg's/0ffTds zAb klxrfg u/L ltgnfO{ jfSodf k|of]u  

ug'{xf];\ M 

cg';Gwfg u/]afkt cfˆgf] kfl/>ldssf] bf];|f] ls:tf a'em]/ pm v';Ln] ub \ub\ x'Fb} ;/f;/ 3/ uof] . 

kl/>daf6 kfPsf] /sd cfdfsf xftdf /flvlbFbf pxfF d';'Ss xfF:g'eof] .  

-v_ tnsf] cg'R5]baf6 Pp6f pvfg  / Pp6f 6'Ssf klxrfg u/L jfSodf k|of]u ug'{xf];\ M 

 Ps y'sL ;'sL ;o y'sL gbL eGg] s'/f xf];\ ls ufF; 5f]8\g' t/ ;fy g5f]8\g' eGg] s'/f xf];\, o:tf 

egfOx¿ TolQs} k|rngdf cfPsf xf]Ogg\ . glbg] aHo} cfOtaf/ afl5{g\ eg] em}F logLx¿n] xfd|f] 

hLjgnfO{ xl/ofnL agfpg] / d'6\7L kfbf{ kfFrcf]6} cf}Fnfsf] dxŒj b;f{pg] sfd u5{g\ . ;fd"lxstfsf 

ljifodf cfkm" t d'vdf a'emf] xfn]/ al;Fb}g a? g]6f] sfl6G5 . 

$= tnsf] cg'R5]bdf /]vfª\sg ul/Psf zAbsf] kbju{ klxrfg u/L n]Vg'xf];\ M        # 

xfdL 3'Dbf3'Db} kf]v/Lglhs k'Uof}F . æcfa'O Û sqf] df5f] .Æ clu|dn] kf]v/Lsf] df5f] b]vfP/ eGof] .  

%= tnsf] cg'R5]baf6 b'O{cf]6f tT;d zAb / b'O{cf]6f cfuGt'szAb klxrfg u/L n]Vg'xf];\ M       @ 

lstfa cWoog ug]{ afgL eP klg pgn] v]Ng] ;fdfg h:t}, df]6/, xjfO{hxfh / 8'ª\uf cflbsf] gd'gf 

klg :jod\ agfP/ v]Nb} /dfpFy] clg ;fyLx¿nfO{ 1fg klg lbGy] . 

^= s'g} Ps k|Zgsf] pQ/ lbg'xf];\ M        # 

-s_ tnsf] cg'R5]baf6 tLgcf]6f pk;u{ / tLgcf]6f k|Too Jo'TkGg zAb klxrfg u/L ltgsf] lgd{f0f k|lqmof 

b]vfpg'xf];\ M 

Ps cfk;df ldnLh'nL ;xsfo{ ug{] ;fyL, aGw'afGwj jf cGo hf]sf]xL JolSt ;xsf/L xf] . ;xsfo{ 

eg]sf] ;fdflhs, ;f+:s[lts, cfly{s cflb If]qdf ul/g] ;f]2]Zo ;fd"lxs lqmofsnfk xf] . ;xsfo{sf] 

oxL clek|fonfO{ lnP/ cfw'lgs cy{zf:qLn] cfly{s ;d[l4 / ljsf;sf nflu kf/:kl/s ;xof]u / 

;xsfo{ ug{] p2]Zon] :yflkt ;+:yfnfO{ ;xsf/L eg]sf 5g\ . ;xsfo{af6 ;Ddfg k|fKt eO{ s'ljrf/ 

cGTo x'G5 .  

-v_ tnsf] cg'R5]baf6 tLgcf]6f ;d:t zAb / tLgcf]6f låTj zAb klxrfg u/L ;d:t zAbsf] lju|x /  låTj   

 zAbsf] lgdf{0f k|ls|of b]vfpg'xf];\ M        

lxGb' ;+:s[ltsf ;d"x, d08n, u0f, u'?s'n Pjd\ a'4 wd{sf ;»\3, g]jf/L ;d'bfodf k|rlnt u'7L, 

u|fdL0f ;dfhdf k|rlnt ef/f]kd{, wd{esf/L, P]Frf]k}Frf], ;xsf/Lsf cflb ¿k x'g\ . o; lsl;dsf 

;xsf/Ln] kf/:kl/s ;/;xof]u / ;xsfo{sf dfWodaf6 kf6Lkf}jf, wd{zfnf, af6f]3f6f], rp/ rf}tf/f 

cflbsf] lgd{f0f, j[If/f]k0f h:tf dfgjlxtsf sfo{ u/]/ ;fdflhs ljsf;df pNn]Vo of]ubfg k'¥ofPsf 

5g\ .  



 
 

&= s'g} Ps k|Zgsf] pQ/ lbg'xf];\ M        $ 

-s_ tnsf] cg'R5bdf /]vfª\lst kbx¿sf sf/s klxrfg u/L ltgsf] gfd n]Vg'xf];\ M  

/d]z cfhef]ln a'afnfO{ lgs} ;xof]u u5{ . p;n] ljBfnoaf6 3/ cfPkl5 v]taf/Ldf uP/ sfd 

;3fpg yfn]sf] 5 . p;n] lxhf] lj/f6gu/af6 a'afsf nflu lu|g6L / cfdfsf nflu klg cf}ifwL lnP/ 

xjfO{hxfhaf6 cfh hgsk'/ cfof] . 

-v_ pRr cfb/df ¿kfGt/0f u/L k'gn{]vg ug{'xf];\ M  

ltdL ;w}+ ;dod} ljBfno uof} . ltdL cg'zfl;t eO{ k9\of} . ltdL]n] u'?x¿n] eg]sf] klg dfGof} .  

ltdL k/LIffdf ;jf]{Ts[i6 glhtf NofO{ k|yd eof} . 

*= s'g} Ps k|Zgsf] pQ/ lbg'xf];\ M        $ 

-s_  rf/cf]6f km/s km/s ;Defjgfy{s ls|ofkbsf] k|of]u u/L rf/ jfSodf tkfO{Fsf] efjL sfo{sf] j0f{g    

ug'{xf];\ . 

-v_ tnsf] cg'R5]bsf jfSonfO{ s/0fdf kl/jt{g ug{'xf];\ M 

ltd|f] :jefj /fd|f] 5}g . ltdLnfO{ ;a}n] dg k/fpFb}gg\ . ltdL ldlxg]tL klg 5}gf} . ltdL hLjgdf  

;kmn x'Fb}gf} xf]nf .       

(= s'g} Ps k|Zgsf] pQ/ lbg'xf];\ M        $ 

-s_ tnsf jfSonfO{ ck|ToIf sygdf kl/jt{g ug'{xf];\ M 

lzIfsn] eGg'eof], æltdLx¿sf] k9fO /fd|f] 5 .Æ 

ljBfyL{x¿n] Ps :j/df eg], æof] ;a xh'/sf] k|]/0ffn] xf] .Æ 

lzIfsn] eGg'eof], æltdLx¿ lgs} ldlxg]tL 5f} .Æ 

ljBfyL{{x¿n] eg], æxfdL ;Sbf] ldlxg]t u5f}{F .Æ 

-v_ tnsf jfSonfO{ Pp6} jfSodf ;+Zn]if0f ug'{xf];\ M 

;u/dfyf g]kfndf 5 . ;u/dfyf ljZjsf] ;jf]{Rr lzv/ xf] . ;u/dfyf g]kfnsf] klxrfg xf] . 

;u/dfyfn] ko{6sx¿nfO{ cfslif{t u/]sf] 5 . 

!)= lbOPsf] cg'R5]b k9L ;f]lwPsf k|Zgsf] pQ/ lbg'xf];\ M     % 

g]kfn v'nf Pjd\ ahf/f]Gd'v cy{Joj:yf ePsf] d'n's xf] . xfd|f] b]zn] cfˆg} ;|f]t;fwgsf] kl/rfng u/L  

cfly{s ljsf; / ul/aL lgjf/0fsf] jfl0fHo gLlt cjnDag u/]sf] 5 . cGt/f{li6«o :t/df k|lt:kwf{ ug'{ / 

Jofkf/ Joj;fosf] k|jw{g ug{' o;sf] d"n p2]Zo xf] . ;fdfg lgsf;L, k}7f/LnfO{ ;dofg's"n agfO{ 

/fh:j ;ª\sng ubf{ b]zsf] cy{tGqdf 6]jf k'U5 . cfˆgf] b]zdf pTkflbt h8La'6L tyf s[lifhGo 

j:t'nfO{ Joj:yfkg u/L d'gfkmf cfh{g ug{ ;lsg] 9fFrfdf xfd|f] jfl0fHo gLlt to ePsf] 5 . Jofkf/ 

3f6f sd ug{ / /f]huf/Lsf] ;ª\Vofdf j[l4 ug{ o; gLltn] ;xof]u k'¥ofpg] ck]Iff lnOPsf] 5 . k|fs[lts 

/ h}ljs ljljwtfn] o'St o; b]zdf pTkfbgnfO{ plrt k|ljlw / hgzlStsf] ;+of]hgåf/f lgof{t k|jw{g 

ug{ ;lsg] ;Defjgf 6/]sf] 5}g . n3' pBf]u, 3/]n' pBf]unfO{ k|f]T;fxg ub}{  g]kfnL df6f] ;'xfpFbf] 

cy{tGq lgdf{0flt/ nfUg] xf] eg] /fHosf] /fh:j ;ª\snngdf klg j[l4 x'G5 . b]zleq} /f]huf/ l;h{gf 

ug{sf nflu pBf]u Joj;fo ;~rfngfy{ /fHon] lghL If]qnfO{ klg k|f]T;lxt ug{ ;s] xfd|f] cy{Joj:yf 

dha't aGg k'U5 . o;/L ;/sf/n] ;xhstf{sf] e"ldsf lgjf{x u/L pTk|]/s / lgofds lgsfoaf6 

cg'udg;d]t ub}{ lghL If]qsf] klg ;ls|o ;xeflutfdf b]znfO{ cfly{s ;d[l4sf] af6fdf lxF8fpg ;S5 . 

 k|Zgx¿ 

  -s_ g]kfnn] s:tf] jfl0fHo gLlt cjnDag u/]sf] 5 < 

       -v_ /fh:jdf j[l4 s;/L ug{ ;lsG5 < 

       -u_ b]zsf] ;d[l4df lghL If]qsf] e"ldsf s] x'g ;S5 < 

       -3_ lghL If]q / ;/sf/sf] ;DaGw s;/L hf]l8Psf] x'G5 < 

  -ª_ b]zleq} /f]huf/L l;h{gfsf pkfox¿ s] s] x'g\ < 

 

 

 



 
 

!!= lbOPsf] cg'R5]b k9L d'Vo d'Vo rf/ a'Fbf l6kf]6 ug'{xf];\ / Ps t[tLof+zdf ;f/f+z n]Vg'xf];\ M @+# = % 
xlsªn] a|Xdf08sf] pTklQ / ;+/rgf;DaGwL ulx/f] cWoog u/L o;;DaGwL cfˆgf df}lns dfGotf k|:t't 

u/]sf 5g\ . a|Xdf08sf] pTklQ lglZrt kl/eflift l;4fGtcg';f/ ePsf] dfGotf /fVg] xlsªn] o;sf] pTklQ 

;jf{lws 3gTjsf] cj:yfdf /x]sf] s'g} laGb'af6 ePsf] / To;sf] cGTo klg To:t} laGb'df x'g] atfPsf  

5g\ . o; laGb'nfO{ j}1flgsn] l;ª\u'nfl/6Lsf] ;+1f lbPsf 5g\ . SjfG6d k'~hsf ¿kdf /x]sfn] ;jf{lws 

3gTjsf] cj:yfdf /x]sf] o; laGb'nfO{ xlsªn] ANofsxf]n eg]sf 5g\ . pgn] ANofsxf]n cToGt ef/o'St 

tf/fsf] cj;fgkl5 lgdf{0f x'g] ePsfn] tf/f cgGt eP em}F ANofsxf]n klg cgGt x'g ;Sg] / tLdWo] s]xL 

ANofsxf]ndf dxflj:kmf]6g eO{ a|x\df08sf] pTklQ x'g] dfGotf /fv]sf 5g\ . xlsªn] ;'?df cfOG:6fOgn] eg] 

em}F ANofsxf]nleqsf] :yfg, ;do / u'?Tjfsif{0fsf] k|antfsf sf/0f To;leq l5/]sf] k|sfz;d]t aflx/ 

glg:sg] / To;n] ;a} lrh cfkm"df ;dflxt ug]{ ePsfn] To;sf] ef/ a9\5 eGg] wf/0ff /fv]sf lyP . kl5 

pgn] o; ;DaGwdf cfˆgf df}lns ljrf/ k|:t't u/] . pgn] clws u'?TjzlStn] ubf{ ANofsxf]nleq x/]s 

lrh v'lDrP/ /x]sf x'g] / cem v'DrFb} hfFbf To;af6 ljls/0f pT;h{g x'G5 eGg] kQf nufP . pgs} gfddf 

o; ljls/0fsf] gfd klg …xlsª \; /]l8o;gÚ /flvof] . ANofsxf]ndf dxflj:kmf]6g eP/ pTkGg ePsf] 

a|Xdf08 v'DrFb} uP/ k'gM ANofsxf]ndf kl/0ft ePkl5 To;sf] cGTo x'g] ljrf/ klg pgn] k|:t't u/] . 

xlsªn] k|:t't u/]sf] of] ljrf/ / ;+;f/s} k|frLgtd\ u|Gy …CUj]bÚ df k |:t't ePsf] ;[li6;DaGwL b[li6df 

lgs} ;dfgtf /x]sf] b]lvG5 . …CUj]bÚ df …o; ;+;f/sf] ;[li6 x'g'k"j{ cGwsf/n] 9flsPsf] cToGt ;3g 

pmhf{zLn cGwsf/ lyof] . oxL cGwsf/af6 rf/}lt/ km}lnPsf] ls/0f kbfy{df kl/0ft ePkl5 ;+;f/sf] ;[li6 

eof] .Ú elgPsf] 5 . 

!@= s'g} Ps k|Zgsf] pQ/ lbg'xf];\ M         $ 

-s_ sIff !@ pQL0f{kZrft\ ljBfnon] k|bfg ug]{ rfl/lqs k|df0fkq lng cfkm" pkl:yt x'g g;Sg] ePsf   

  sf/0f pSt k|df0fkq lbbLnfO{ pknAw u/fOlbg'x'g cg'/f]w ub}{ n]lvg] d~h'/Lgfdfsf] gd'gf tof/ kfg'{xf];\ . 

-v_ a9\bf] dxFuLn] hghLljsfdf kf/]sf] k|lts"n c;/sf af/]df ;DalGwt lgsfosf] Wofg cfsif{0f u/fpg Ps  

    /fli6«o b}lgs klqsfsf ;DkfbsnfO{ lr7L n]Vg'xf];\ . 

!#= s'g} Ps k|Zgsf] pQ/ lbg'xf];\ M         % 

-s_ cfˆgf] ljBfnosf] jflif{sf]T;j ;df/f]xdf cfof]lht sfo{qmdsf af/]df !%) zAb;Ddsf] k|ltj]bg tof/  

    kfg'{xf];\ . 

-v_ …a9\bf] a]/f]huf/L ;d:ofÚ zLif{sdf !%) zAb;Ddsf] l6Kk0fL n]Vg'xf];\ . 

!$= s'g} Ps p4/0fsf] JofVof ug'{xf];\ M               $ 

-s_ d g]kfnnfO{ dfof ug]{ /fi6«jfbL dfG5] x'F / d]/f] /fi6«sf] x/]s efunfO{ d plQs} :g]xl;t d'6'df ;FufN5' . 

-v_ x]/f}Fnf Tof] x'/L eP/ cfpg] 5 

    ltdL kft eP/ k5\ofpg] 5f} 

!%= s'g} Ps k|Zgsf] pQ/ n]Vg'xf];\  M        $  

-s_ pgL ;f]lWng\ xfdLnfO{ sxfF hfg] bfO 

    eGg'knf{ lxdfnsf] a'6L vf]HgnfO{  

    8f]/]6fdf s:t'/Ln] ltl/g RofkL x]nf{g\ 

    kft}kft r/f gfRg] kftnn] 3]nf{g\ . 

    k|Zgx¿  

-c_ dflysf] sljtf+zdf s:tf] kl/j]zsf] lrq0f ul/Psf] 5 < 

-cf_ dflysf] sljtf+zdf …lxdfnsf] a'6L vf]Hg'Ú eGg'sf] cfzo s] xf] < 

-v_ xfdLn] ljsNk vf]Hg'k5{ . ;a}n] pxL sfd u/]/ x'Fb}g . xfd|f cfjZostf c;Lldt 5g\ . ltgsf] kl/k"lt{sf 

    nflu ljljwtf cfjZos x'G5 t/ gug'{ eGbf s]xL ug'{ /fd|f] xf] . …b]vfl;sL u/L vf cfl/;] d/L hfÚ eGg] 

    xfd|f] pvfg klg 5 . hxfF;Dd xfd|f] h:tf] pBf]usf] s'/f 5, To;df eg] clxn] slt klg sfd ePs} 5}g . 

    xfdLn] u/]sf sfd t xfQLsf d'vdf lh/f h:tf dfq} x'g\ . o:tf xhf/f}F pBf]u x'g'k5{ . s]xL s'/fdf eg] 

    xfdLn] Wofg lbg}k5{ . klxnf] s'/f xf] u'0f:t/df ;Demf}tf ug'{x'Fb}g . bf];|f] s'/f, :j:y k|lt:kwf{ / ;xsfo{sf] 

    ;+:s[lt a;fpg'k5{ . To;f] ug{ ;s] xfdL hlt w]/} pTkfbg Tolt w]/} kmfObfsf] cj:yfdf hfG5f}F . 



 
 

k|Zgx¿  

-c_ …s]xL gug'{ eGbf s]xL ug'{ /fd|f]Ú eGg'sf] tfTko{ n]Vg'xf]; \ . 

-cf_ hlt w]/} pTkfbg Tolt w]/} kmfObfsf] cj:yfdf k'Ug] pkfo s] xf] < 

!^= s'g} Ps k|Zgsf] pQ/ lbg'xf];\ M          $ 

-s_ ;xsf/Ln] g]kfnsf] ljsf;df s;/L ;xof]u k'¥ofPsf] 5 < rf/cf]6f kIf pNn]v u/L k|:6 kfg'{xf];\ . 

-v_ g]kfnL ljljwtfnfO{ ko{6g;Fu s;/L hf]8\g ;lsG5 < …g]kfnL klxrfgÚ kf7sf cfwf/df ts{ lbP/ 

k''li6 ug'{xf];\ . 

!&= s'g} Ps k|Zgsf] ;dLIffTds pQ/ lbg'xf];\ M        *  

-s_ …Ps lrxfgÚ pkGof;df lrq0f ul/Psf] g]kfnL ;dfhsf] tl:a/ s:tf] 5 < pkGof;sf cfwf/df   

    ;dLIff ug'{xf];\ .  

-v_ ddtfn] ;'af]wnfO{ kl/Tofu u/]/ 5f]/f5f]/L;Fu g} ;Dk"0f{ hLjg latfpg] egL u/]sf] lg0f{o tkfO{FnfO{  

    s:tf] nfUof] < …dft[TjÚ syfsf cfwf/df cfˆgf] k|ltlqmof lbg'xf];\ . 

!*= s'g} Ps zLif{sdf sDtLdf @%) zAb;Ddsf] lgaGw n]Vg'xf];\ M      *  

-s_ g]kfnsf] ;f+:s[lts ljljwtf 

-Vf_ d]/f] b]z M d]/f uf}/j 

-u_ k|fljlws lzIff M cfhsf] cfjZostf 

-0- 
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Model Question 

Compulsory English 

 

Candidates are required to give their answers in their own words as far as practicable. The 

figures in the margin indicate full marks. 

 

Time: 3 hrs.          Full Marks: 75 

1. Read the following text about a fitness activity and complete the tasks that follow.       15 

You want to be healthy. You know, you need to exercise more. But if you are not ready to grunt 

through an hour of kick-boxing, don't despair. There is a growing agreement among exercise 

researchers that the intense physical activities offered by most health clubs are not the only–or 

even the preferable–path to better health. Indeed, the best thing for most of us may be to just 

walk. 

Yes, walk. At a reasonable vigorous clip (five to six km/h) for half an hour or so, may be five or 

six times a week. You may not feel the benefits all at once, but the evidence suggests that over 

the long term, a regular walking routine can do a world of preventive good. 

Walking, in fact, may be the perfect exercise. For starters, it's one of the safest things you can do 

with your body. It's much easier on the knees than running and doesn't trigger untoward side 

effects. Dr.Johnna Manson, chief of preventive medicine at a leading Harvard woman's hospital 

says, "If everyone were to walk briskly 30 minutes a day, we could cut the incidence of many 

chronic diseases by 30 to 40 per cent." She further says, ''Regular physical activity is probably as 

close to a magic bullet as we will come in modern medicine." 

And for those of us who don't have half-hour chunks of time, the news gets even better. Several 

recent studies suggest that walking briskly three or four times a day for 10 minutes at a time may 

provide many of the same benefits as walking continuously for 30 minutes.  

Here's how to make the most of your walking routine. First, get into gear. Walker's shoes need to 

have enough room at the front for the feet to spread. Then, ease on down that road. Avoid 

muscle aches by starting slowly and incorporating gentle stretches into both your warmup and 

cool down. You must plot your course. Some people walk at a specific time each day. Others 

shoehorn walking into their routines by parking the car a few minutes from the store or taking 

the stairs instead of the lift. Record your efforts, including how long and how far you walked. 

Jotting down improvements keeps you motivated and challenges you to do better. 

Since walking affects you in so many ways at once, it's difficult to determine precisely why it's 

good for you. But much of the evidence gathered so far is compelling. 
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Brisk walking is good for the heart—which makes a lot of sense. The heart is a muscle after all, 

and anything that makes the blood flow faster through a muscle helps keep it in shape. But 

regular walking also lowers blood pressure, which decreases the stress on the arteries. It can 

boost the amount of HDL cholesterol (the good one) in our blood. It even seems to make the 

blood less "sticky", and therefore less likely to produce unwanted clots. This all adds up to as 

much as a 50 per cent reduction in the risk of suffering a heart attack. 

A. Complete the following sentences using the words highlighted in the text. Two of those 

words are not necessary.          5x1=5 

a.  He looks like a bodybuilder as he has a strong ………………….  

b.  You can still get a good house for a very …………………. price.  

c.  It was really freezing. So, we ……………………… some wood to build a fire.  

d.  Although he lost his job, he didn‘t ……………..  

e.  Jogging regularly is the best ………………….. measure for a heart disease.  

B. Read the text again and write 

TRUE   if the statement agrees with the information given in the text. 

FALSE   if the statement contradicts the information given in the text. 

NOT GIVEN if there is no information in the text.     5x1=5 

a.  According to the author, only strong physical exercise keeps people healthy. 

b.  The author thinks that walking is better than running in the initial stage. 

c.  Regular exercise frequently releases our brain cells.  

d. Physical exercise ensures the overall growth of a person.  

e. The author advises people to make notes of the duration and distance of the daily walk. 

 

C. Give short answers to the following questions in ONE SENTENCE each.               5 x 1= 5 

a. Why does the author mention ‗exercise researchers‘ in the first paragraph?  

b.  Where does Johnna Manson work?  

c.  Why does the author use the phrase ‗a magic bullet‘ in the third paragraph?  

d. Do you agree or disagree with the author‘s point of view? Why, why not? 

e. How is the author in this text trying to convince the readers?  
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2. Write short answers to the following questions in about 75 words each.             5x2=10 

a.  Why was the success of Rakesh a matter of discussion in the neighbourhood? (A Devoted 

Son)     

b. Describe the irritating things that the people do with the strange old man. (A Very Old Man 

with   Enormous Wings)      

OR 

 Describe marriage as a social institution. (Marriage as a Social Institution) 

c.  ‗Human beings are connected with hope.‘ Do you agree or disagree with this statement? 

Give reasons. (The Awakening Age)     

d.  Do you agree with the author‘s view that history has been a major debatable issue in the 

present world? Give your opinion. (Humility)     

OR 

 How can wisdom be taught? Give examples. (Knowledge and Wisdom)         

e.  How does Famous Actress try to convince Earnest Young Woman? (A Matter of   

      Husbands)         

 

3. Write long answers to the following questions in about 150 words each.        2x5=10 

a.  Explain the following lines with reference to the context. (I was My Own Route)  

And I was all in me as was life in me... 
 

I wanted to be like men wanted me to be: 

an attempt at life; 

a game of hide and seek with my being. 

But I was made of nows; 

when the heralds announced me 

at the regal parade of the old guard, 

the desire to follow men warped in me, 

and the homage was left waiting for me. 

OR 

Sketch the character of Monsieur Durand. (Facing Death)  

b.  How does the play make a satire on feudal system of Nepali society of late 18
th

 century?  

(The Bull) 

4. Summarise the following text in approximately 150 words. Write only the ideas of the 

original text but do not include your own opinions, interpretations, deductions or 

comments.              7 

Madhav Prasad Ghimire is a renowned Nepali poet who has given a great contribution to 

Nepali literature. He is one of the last of the oldest generation of poets in Nepal. He was 

motivated by the works of Rabindranath Tagore. He is a poet of the romantic tradition. 

He has written many incredible books such as Gauri, Malati Mangale, Himal Pari Himal 

Wari, Aswathama, Rajheswari, and Shakuntala and he is well known for his inspiring works. 

He was honoured as Rashtra Kavi (poet of the nation) of Nepal. He is undoubtedly one of the 

rare poets in Nepal to gain fame and fortune, and not the unfortunate forgetfulness they 

normally receive. 
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But the greatest asset of his life is its simplicity. He is a very simple person with a simple 

taste, but his verses are varied and complex. However, for some, he is a Himalayan poet and 

for some the poet of love and harmony. However, this truth cannot be denied: he is a lyric 

poet and one of the true servants of Nepali literature. 

It is also a national treasure associated with the golden age of Nepali literature. He is one of 

the last of the oldest generation of poets whose contemporaries, Bal Krishna Sama and 

Laxmi Prasad Devkota, have become historical figures in the annals of Nepali literature. 

It is known that in his masterpieces such as Gauri and Malati Mangale he portrayed terrible 

truths of society. This literature was most praised by the Nepali people. Some of his other 

important literary works include Himal Pari Himal Wari, Rajeshwori, Aswathama, and 

Shakuntala which are most appreciated. 

He is a simple man with a complex and different perception. Rastra Kavi Ghimire was cited 

as a source of inspiration in the Nepali literary brotherhood. Not only writing but also his will 

to live has inspired many Nepali people. According to him, there are three mantras to live 

longer; Easy exercise or yoga, positive thinking, and creativity. 

For him, education in his own life is very important, since it takes a person from darkness to 

light and it is very important that Nepali youth should learn these things from him. He is 

respected by the people of Nepal.  

―I think poets should be able to go beyond the social hierarchy and bring visions to humanity, 

and by using their poetic abilities, they should be able to expand the mind and pursue the 

truth.‖, this is a great sentence by Madhav Prasad Ghimire. 

 

 

5. Write a letter to your cousin recommending him/her a book/novel that you thought 

worth reading in about 180 words. Describe the factors that you liked most. 8 

 

6. ‘Privatization in education creates two class citizens.’ To what extent do you agree with 

this opinion? Write an essay in about 300 words on why you think so shading light on 

pros and cons of privatizing education, issues and Government responsibilities. 10 

 

7. Do as instructed in the brackets and re-write the sentences.    (10x1=10) 

a. I have to go to the dentist because my tooth is aching terrible. (Find the mistake in this 

sentence and correct it.). 

b. His house is … (in/ at/ by/on) the way from Itahari to Biratnagar. (Choose the correct 

preposition to complete the sentence) 

c. Ram assured me that he would meet me at the bus station exactly at 8 a. m. It is now 10 

a. m. I have waiting for him since early morning.  (Identify which bolded verb forms is 

incorrect and rewrite.) 

d. You … (will/must/has to/had to) stop smoking. It is very harmful. (Fill in the blanks 

choosing the appropriate auxiliary verb).  

e. He usually … (do/did/has done/does) his homework in his room. (Identify which bolded 

verb forms completes the sentence.) 

f. As a part of the project work, the students had to work physically. Therefore, they 

requested their teacher to stop study. (Identify which bold-faced word needs to be 

rewritten and correct it.) 
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g. Ganesh is a doctor. His wife is a doctor. (Combine the sentences using the conjunction 

both …………. and.) 

h. The man is in the garden. The man is wearing a blue jumper (Join the two sentences 

using appropriate relative pronoun). 

i. My uncle wrote a wonderful play. (Change the sentence into passive voice). 

j. Mohan said, ―My brother arrived home late‖. (Change the sentence into reported 

speech). 

8. Choose and copy the correct alternatives:       5x1=5 

a) Which one of the following words has a different final sound? 

i) brushed  ii) glanced  iii) looked  iv) filled 

b) You went for a long run this morning. The word ‗run‘ in this sentence is: 

i) a noun   ii) a verb  iii) an adverb  iv) an adjective 

c) Which one of the following words does not take the prefix ‗Im‘? 

i) pure   ii) fertile  iii) moral  iv) proper 

d) Which one of the following words comes between ‗example‘ and ‗exchange‘ in the 

dictionary entry? 

i) excavate  ii) examine   iii) excite  iv) exclude 

e) The administration has officially asked transportation employees to …………their 

demonstration. 

i) call on   ii) call off   iii) call at  iv) call for 

-0- 
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NEB-XII 

2079 (2023) 

gd'gf k|Zgkq 

Social Studies and Life Skill Education 

ljBfyL{x?n] ;s];Dd cfkm\g} zJbdf pQ/ lbg'kg]{5 . bfofF lsgf/fdf lbOPsf] c+sn] k"0ff{+s hgfpFb5 . 

Candidates are required to give their answer in their own words as far as practicable. The 

figures in the margin indicate full marks. 

Time: 3 hrs.         Full Marks: 75 

;a} k|Zgsf] pQ/ lbg'xf];\ . (Attempt all the questions.) 

;d"x s ( Group A) 

clt ;+lIfKt pQ/fTds k|Zgx? M Very Short Answer Questions:      !!× ! Ö !! 

1= hLjgf]kof]uL lzIffsf] cy{ Ps jfSodf n]Vg'xf];\ .  

Define life skill education in a sentence.  

2= k"jL{o lrGtg cGtu{tsf s'g} b'O{ k/Dk/fsf] gfd n]Vg'xf];\ . 
Name any two traditions under eastern thoughts. 

3= tkfOsf] s'g} n]v, /rgf rf]/L ePdf tkfO{Fn]]] ug{] s'g} b'O{ sfo{x? pNn]v ug{''xf];\ .  

Mention any two functions that you perform if your creation is plagiarized. 

4= tkfO{FnfO{ dg kg{] Pp6f ljifoj:t'sf] cg';Gwfg zLif{s tof/ kfg{xf];\ . 

Prepare a research title of the content you like most. 

5= g]kfn ;Dat\ slxn]b]lv ;'?jft eof] < lj=;+=df n]Vg'xf];\ .  

When did Nepal Sambat begin? Write in B.S. 

6= tkfO{Fsf] ljBfnodf s'g} b[li6 ljxLg ;fyL 5g\ . tkfO{F pxfFnfO{ s;/L ;xof]u k'¥ofpg' ;Sg'x'G5 <              

s'g} b'O{ a'Fbf n]Vg'xf];\ .  

There is a visually impaired friend in your school. How can you support to him/her ? Write in two 

points. 

7= g]kfndf ;"rgfsf] xssf] sfof{Gjog ;DaGwdf /fli6 «o ;"rgf cfof]usf k|d'v cfo'StnfO{ ;f]Wg ;lsg] 

b'O{j6f k|ZgfjnLsf] gd"gf tof/ kfg'{xf];\ .  

Prepare a model of two questionnaire that shall be asked to The Chief Commissioner of National 

Information Commission regarding implementation of right to information in Nepal.    * 

8= zx/Ls/0fsf s'g} b'O{j6f cfofdx? k|:t't ug{'xf];\ . 

Mention any two dimensions of Urbanization. 

9= cfly{s ljsf; / cfly{s j[l4ljrsf] Ps leGgtf n]Vg'xf];\ . 
Write a difference between economic development and economic growth. 

10= tkfO{F pBf]u, jfl0fHo tyf cfk"lt{ dGqL x'g' eof] eg] b]zsf] Jofkf/ 3f6f Go'gLs/0f ug{ tkfO{Fn] 

ckgfpg] b'O{ pkfo n]Vg'xf];\ .  
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 Mention any two strategies to reduce the trade deficit of your country if you were appointed the 

Minister for Industry, Commerce and Supply.  

11=  ;dfj]zL lzIffsf] cy{ Ps jfSodf k|i6 kfg'{xf];\ . 
Clarify the meaning of inclusive education in a sentence.  

   

;d"x v ( Group B) 

 ;+lIfKt pQ/fTds k|Zgx? Short Answer Questions:     *× % Ö $) 

12= TfkfO{n] cfkm\gf] hflt, ;d'bfo cGtu{t ;fdflhs ;+/rgf cWoog cg';Gwfg ub{} x'g'x'G5 eg] ;f]sf] 

nflu k|:tfjgfsf] cfj/0f k[i7 tof/ kfg{'xf];\ .  

 Prepare a Cover Page format of research proposal, If you are going to study the social structure 

of your caste or community. 

cyjf (OR) 

 ;fdflhs ;d:of ;DjGwL s'g} zLif{s tof/ kf/L ;f] zLif{s cGtu{t ul/g] cg';Gwfgsf] s'g} rf/ 

p¢]Zox? k|:t't ug{'xf];\ . 

    Preparing any one title related to the social problems, present any four objectives of the research 

under the title. 

13= g]kfndf ;fdflhs ?kfGt/0fsf nflu eO/x]sf s'g} kfFr k|of;x? :ki6 kfg'{xf];\ .  

  Clarify any five efforts that are being held for social transformation in Nepal.  

14=  tkfO{sf] If]qdf jf9L, klx/f] h:tf] ljkb\ cfPdf p¢f/ Pj+ ;'/lIft sfo{ ug{ hg;xeflutfsf nflu s] 

ug{' x'G5 < sfo{ ;'lr tof/ kfg{'xf];\ . 

   What would you do to have public participation for rescue and safety measures if natural 

disaster like flood, landslide occurred in your region? Prepare a checklist. 

15=  lj=;+ @))& b]lv @)!& ;Ddsf] cjlwnfO{ ;+qmd0fsfnLg cjlw dflgG5, lsg < ljZn]if0f ug'{xf];\ . 

    The duration between 2007 B.S to 2017 B.S is considered 'a transitional time period', why? Analyze. 

16=  ;fdflhs ;dfj]zLs/0fsf ;sf/fTds k|efjx? pNn]v ug'{xf];\ . 

   Mention the positive effects of social inclusiveness. 

17=  tkfO{n] lszf]/ jf lszf]/Lsf] ?kdf cfkm\gf] kfl/jf/df kfngf ug{' kg{] s'g} kfFrj6f st{Jox? 5f]6s/Ldf 

j0f{g ug'{xf]];\ . 

   As a teenager, explain any five duties that you have to fulfill in your family . 

18=  a;fO{F;/fO{af6 kg]{ jftfj/0fLo r'gf}tLx? ljZn]if0f ug'{xf];\ . 

    Analyze the environmental challenges caused by migration. 

19=  lzIffsf] ljsf;n] ;fdflhs ?kfGt/0fdf ;3fpF5 . pbfx/0f;lxt kfFr a'Fbfdf :ki6 kfg'{xf];\ . 

    'Development of Education supports the social transformation'. Clarify it in five points with 

examples. 

cyjf (OR) 

 lzIffsf] I]fqdf ;d'bfon] s:tf s'/fx?df ;xeflutf hgfpg] u/]sf 5g ,pbfx/0f ;lxt :ki6 kfg{'xf];\ . 

 In what ways has the community participated to the field of education? Clarify with examples. 
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;d"x -u_ ( Group C) 

lj:t[t pt/fTds k|Zgx? Long Answer Questions:    #×* Ö @$ 

20= ;dfnf]rgfTds lrGtg / l;h{gfTds lrGtglarsf] cGt/ ;DaGw ljZn]if0f ug'{xf];\ . 

 Analyze the inter-relationship between Critical thinking and Creative thinking. 

21= k|fb]lzs cGt/ ;DaGwsf cfofdx? k|i6 kfg'{xf];\ . 

         Clarify the dimensions of inter- provincial relations. 

cyjf (OR) 

;"rgf k|ljlwsf] sf/0fn] tkfO{ xfd|f] hLjg / ;dfhdf s:tf cg's"n jf k|lts"n kl/jt{g NofPsf 5g, 

pbfx/0f ;lxt j0f{g  ug'{xf];\ . 

What sorts of compatible or incompatible changes has Information Technology resulted in your 

life and society? Explain with examples.  

22= ul/AfL lgjf/0fsf] nflu cjnDag ug'{kg]{ /0fgLlt, sfo{s|d / ck]lIft pknlAw ;d]6L /fli6 «o of]hgf 

cfof]udf k]; ug]{ of]hgfsf] 9fFrf tof/ kfg'{xf];\ .  

 Comprising the strategies, programs and expected outcomes for the poverty alleviation, Prepare a 

format of planning to be submitted to National Planning Commission. 

-0- 
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Model Question  

Mathematics 
 2079/2023  

Candidates are required to give their answers in their own words as far as practicable. The 
figures in the margin indicate full marks. 
Time: 3hrs                                                                                 Full Marks: 75  

Attempt all questions.      

 Group "A" 11×1 = 11 

1) What is an arrangement of the n natural numbers called?     

A) Induction B) Permutation C) Combination  D) Expectation 

2) Let 1, w, w
2
 be the cube roots of unity. Under which operation is the set A= {1, w, w

2
} closed?   

         

A) Addition B) Subtraction C) Multiplication D) Division 

3) What is the domain of sin
-1

x ?        

A) x 1 or x -1 B) (- ) C) -1<x<1 D) -1 x 1 

4) ABCD is a parallelogram.Which one of the following represents area of the parallelogram?   

 A) Magnitude of vector product of two vectors along AB and BD.  

 B)  Magnitude of vector product of two vectors along AB and DC. 

 C) Magnitude of vector product of two vectors along AC and BC. 

 D) Magnitude of vector product of two vectors along AB and AD.  

5) If a conic section haseccentricity(e) = 
 𝑎2−𝑏2

𝑎
, what is the equation of that conic section? 

 A) 
𝑥2

𝑎2 - 
𝑦2

𝑏2 = 1 B) 
𝑥2

𝑎2 + 
𝑦2

𝑏2  = 1 C) 
𝑥2

𝑎2 + 
𝑦2

𝑎2 = 1 D) 
𝑥2

𝑏2 + 
𝑦2

𝑏2  = 1 

6)  If cosӨ =
−1

2
for integer (n), what is the general value of  Ө ?     

 A) 2n𝜋 ±  
2𝜋

3
 B) n𝜋 + (−1)𝑛

𝜋

3
 C)  n𝜋 −  

𝜋

3
 D) n𝜋 +  

𝜋

3
 

7)  Let A and B be two dependent events. If P (A) = 
1

2
 , P (B) = 

3

4
  and P (A ∩ B) = 

2

5
 ,  what is the value 

of  P(A/B) ?         

 A) equal to P(B/A) B) equal to P(A) C) less than P(A ∩ B)        D) less than P(B/A) 

8)  The edge of a cube increases from 10 cm to 10.025 cm. What would be the approximate increment in 

volume?        

 A) 10
3
 cm

3 
B) 10.025

3
 cm

3 
C) 7.5187 cm

3 
D) 7.5 cm

3
 

9)  What is the integrating factor of the differential equation cos
2
x 

𝑑𝑦

𝑑𝑥
+ 𝑦 = 1 ?    

 A) tan x  B) e
tanx 

C) sec
2
x D)e

sec1x 

10) What is the number of solutions of the system of linear equations x + y = 5 and x + y = 7 ?  

 A) One solution    B) No solution  

 C)  Infinite solutions   D) More than one solution 

11) Forces P and Q are acting along ceiling and floor of a rectangular room. What is the nature of the 

forces?          

 A) Like B) unlike C) collinear  D) parallel 

OR 

 If  ∆ yt = yt+1 - yt , then ∆2 
yt  is equal to… 

 A) yt + 2 - yt +1 B) yt+1 - yt C)yt+2 - yt+1 + yt D)yt+2 - 2yt+1 + yt 



 

Group “B” 8×5 = 40 

12)  For any positive integer n, (a+x)
n
 = c0 a

n
+ c1a

n-1
x+ c2a

n-2
x

2
+………+ cnx

n 

 a) How many terms are there in the expressions?    [1]  

 b)  Write the binomial coefficients in the expansion.    [1] 

 c)  Write the general term of the expansion.     [1] 

 d) Write the relation among C(n,r-1), C(n+1,r) and C(n,r).   [1] 

 e) What is the value of C0 + C1+ C2+…+Cn?     [1] 

13)  a)  Using the principle of mathematical induction, showthat: 1+2+3+…. +n < 
1

8
 (2n+1)

2 
     [3]    

 b)  Find the quadratic equation whose one of the roots is 2+ 3.     [2]  

14)  a) Given y = sin
-1

x and y>0, express cosy and tany in terms of x.   [3]  

 b) If  𝑎  , 𝑏   and 𝑐  are any three vectors such that 𝑎 × 𝑏   = 𝑎 × 𝑐  for 𝑎 ≠ (0,0)., show that 𝑏   = 𝑐 .   [2] 

15) The price in Rupees (X) and demand in unit  (Y) of 6 days of a week is given as: [5] 

X 10 12 13 12 16 15 

Y 40 38 43 45 37 43 

 Calculate the Pearson’s coefficient of correlation and the regression coefficients of X on Y. 

 

16)  a)  Define L.Hospital’s rule.      [1]  

 b)  Write the slope of the tangent and normal to the curve y = f(x) at (x1,y1).  [1+1] 

 c)  Write the integral of  
1

𝑥2+𝑎2dx   [1]  

 d)  What is the integral of  𝑆𝑖𝑛𝑕𝑥 𝑑𝑥  [1]  

17) a)  Solve: 
𝑑𝑦

𝑑𝑥
=

𝑦

𝑥
     [2]  

 b) Verify the Rolle’s theorem for  f(x)=x
2
+3x -4 in [-4,1].    [3]   

18) Using simplex method, maximize P(x,y)=15x+10y subject to 2x+y 10, x+3y 10, x, y≥ 0 [5]  

19) A particle is projected with a velocity ‘𝑣’ and greatest height is ‘𝐻’, prove the horizontal range R is: 

 R= 𝐻(
𝑣2

2𝑔
− 𝐻)  

OR, 

 The cost function C (x) in thousands of rupees for producing x units of maths textbooks is given by  

 C(x)=30+20x-0.5x
2
, 0 x 15 

a) Find the marginal cost function.     [3] 

b) Find the marginal cost for producing 12,000 maths textbooks.   [2] 

   

 

  



 Group “C” 3×8 = 24 

 

20) a) Using matrix methods, solve the following system of linear equations : 

  x+y+z = 4, 2x+y-3z = -9,2x-y+z = -1     [4] 

 b) Apply De-moivre’s theorem to find the value of 2(𝑐𝑜𝑠15° + 𝑖𝑠𝑖𝑛15°) 6
  [2]  

       c) Prove that ( 1 +
1

1!
+

1

2!
+

1

3!
+ ⋯ ) ( 1 −

1

1!
+

1

2!
−

1

3!
+ ⋯ ) = 1    [2] 

21) a) Find the direction cosines of the line joining the points (4,4,-10) and (-2,2,4). [2]  

 b) Find the angle between the two diagonals of a cube.   [4] 

 c) Find the vertices of the conic section: 

 16(y-1)
2
 -9(x-5)

2
 = 144.       [2] 

22) a) If the limiting value of  
(𝑓 𝑥 −5)

𝑥−3
  at x= 3 is 2 by using L’ Hospital’ rule, find the appropriate 

value of f(x).      [2]  

      b)  Write any one homogeneous differential equation in (x,y) and solve it.  [3] 

      c)  The concept of anti-derivative is necessary for solving a differential equation. Justify this 

statement with example.       [3] 
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NEB-XII 

2079(2023) 

Model Question 

Physics 
 

Candidates are required to give answers in their own words as far as practicable. Figures in the margin indicate full 

marks. 

Time: 3hrs     Full Marks: 75 

Attempt all the questions. 

    Group – 'A'     

Rewrite the correct options of each question in your answer sheet.      (11x1=11)  

1. The product of moment of  inertia and angular velocity gives 

(A) force       (B) torque 

(C) linear momentum    (D) angular momentum 

 

2. The bob of a simple pendulum has a mass of 0.40 kg. The pendulum oscillates with a period of 2.0 s and an amplitude 

of 0.15m. At an extreme point in its cycle, it has a potential energy of 0.044J. What is the kinetic energy of the 

pendulum bob at its mean point? 

(A) 0.022 J (B) 0.044 J (C) 0.011 J (D) 0.033 J 

 

3. What causes earthquakes?  

(A) The flow of magma    (B) The expansion of the earth’s crust 

(C) The rubbing together of earth’s plates  (D) Tsunami 

 

4. What percentage of original radioactive atoms is left after 4 half-lives? 

(A) 1%   (B) 6%   (C) 10%   (D) 20% 

 

5. Two wave pulses travel toward each other as shown in the diagram below.  

 

 

 

 

Which of the following diagrams represents the superposition of the pulses when they meet? 

 

 

 

 

 

 

 

 

6. Which one of the following properties of sound is affected by the change in air temperature? 

(A) amplitude   (B) frequency   (C) wavelength   (D) intensity 

 

7. Internal energy of an ideal gas depends on 

(A) volume only    (B) pressure only 

(C) temperature only    (D) both pressure and volume 

 

8. In which of the following processes of the gas, work done is the maximum? 

(A) Isothermal  (B) Isobaric  (C) adiabatic  (D) Isochoric 

 

9. The neutral temperature of a thermocouple is equal to 500°C when the temperature of cold junction is 0°C. 

Percentage change in the temperature of inversion when temperature of cold junction is equal to 20°C is 

(A) 2%  (B) 3%  (C) 4%   (D) 5% 
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10. In which of the following circuits the maximum power dissipation is observed? 

(A) a circuit having inductor and resistor in series 

(B) pure resistive circuit 

(C) pure inductive circuit 

(D) pure capacitive circuit 

11. Why laminated cores are placed in transformers? 

(A) to reduce hysteresis loss   (B) to reduce eddy current 

(C) to reduce the magnetic effect   (D) to increase coercivity  

 

 Group – 'B'  (8x5 = 40) 

12. (i) Define simple harmonic motion.          [1]   

   (ii) Derive an expression for the time period of oscillation for a mass m attached to a vertical spring of force 

constant k.              [3]  

(iii) What will be the time period of this system if it is taken inside the satellite?     [1]  

13. (a) State Bernoulli’s principle.           [1]  

(b) Figure below shows a liquid of density 1200kgm-3 flowing steadily in a tube of varying cross-sections. The cross-

section at point A is 1.0 cm2 and that at B is 20 mm2, points A and B are in the same horizontal plane. The speed 

of the liquid at A is 10 cm/s. Calculate  

(i) the speed at B.      [2] 

(ii) the difference in pressure at A and B.    [2] 

 

14. (a) Draw a PV diagram of a petrol engine and explain its working based on its PV diagram.   [3] 

(b) Compare the efficiency of petrol engine with that of diesel engine based on their compression ratios. [2]  

 

15. (a) When the wire of a sonometer is 75 cm long, it is in resonance with a tuning fork. On shortening the wire by 

0.5 cm it makes 3 beats with the same fork. The beat is the difference in frequencies. Calculate the frequency of 

the tuning fork.                            [ 3] 

 (b) The diagram below shows an experiment to measure the speed of a  sound in a string. The frequency 

of the vibrator is adjusted until the  standing wave shown in the diagram is formed. 

 

The frequency of the vibrator is 120Hz. Calculate the speed at which a progressive wave would travel along the 

string.              [2] 

16. (a) State Lenz law in electromagnetism. Justify this law is in favor of  the principle of conservation of energy.             

              [1+2 =3]  

(b) A magnet is quickly moved in the direction indicated by an arrow between two coils C1 and C2 as shown in the 

figure. What will be the direction of induced current in each coil as indicated by the movement of magnet? 

Explain.                 [2]  
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17. (a) State the principle of the Potentiometer. A potentiometer isalso called a voltmeter of infinite resistance, why?             

[1+1=2] 

(b) In the meter bridge experiment, the balance point was observed at J with l=20cm. 

 (i) The values of R and X were doubled and then interchanged. What would be the new 

position of balance point?       [2] 

(ii) If the galvanometer and battery are interchanged at the balance position, how will 

the balance point get affected?                        [1] 

OR 

(a) State the two Kirchhoff’s laws for electrical circuits.     [2]  

(b) In Meter Bridge shown below, the null point is found at a distance of 60.0 cm from A. If now a resistance of 5 ohm is 

connected in series with S, the null point occurs at 50 cm. Determine the values of R and S.   [3] 

18. The graph below shows the maximum kinetic energy of the emitted photoelectrons as the frequency of the incident 

radiation on a sodium plate is varied. 

 

(a) From the graph determine the maximum frequency of incident radiation that can cause a photoelectric effect?  [1] 

(b) Calculate the work function for sodium.         [2] 

(c) Use the graph to calculate the value of the Planck constant in Js.      [2] 

 

19. (a) Figure below shows the experimental setup of Millikan’s oil drop 

experiment.  Find the expression for a charge of an oil drop of radius r 

moving with constant velocity v in a downward direction using a free body 

diagram.          [2] 

 

 

 

(b)What will be the expression for the charge of an oil drop if the  electric force is greater than its  

    weight?             [1]  

(c) Determine the electric field supplied when the electric force  applied between the two horizontal 

platesjust balances an oil drop with 4 electrons attached to it and mass of oil drop is 1.3x10-14 kg.    [2] 

       

OR 
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(a) A diode can be used as a rectifier. What characteristic of a diode is used in rectification? [1]  

(b) Draw a circuit diagram of full wave rectifier.  [1]   

(c) A NOR gate ‘opens’ and gives an output only if both inputs 

are ‘low’, but an OR gate ‘closes’. An AND gate ‘opens’ 

only if both inputs are ‘high’, but a NAND gate ‘closes’.  

Construct a truth table for the circuit shown below including 

the states at E, F and G.    [3] 

 

 

Group – 'C'       (3x8 = 24) 

20. (a) What is the significance of the negative energy of the electron in an orbit?    [1] 

(b) The energy levels of an atom are shown in Fig. below. Which one of these 

transitions will result in the emission of a photon of wavelength 275 nm? 

Explain with calculation. ( h= 6.64 x10-34Js, C= 3.0x108 ms-1)          [3] 

 

(c) Find the expression for the wavelength of radiation emitted from a hydrogen 

atom when an electron jumps from higher energy level n2 to the lower energy 

level n1.       [2] 

(d) Calculate the magnitude of the wavelength of the second Balmer series?(R =1.09x107m-1)  [2] 

21. (a) A student is trying to make an accurate measurement of the wavelength of green light from a mercury lamp (λ = 

546 nm). Using a double slit of separation of 0.50 mm, he finds he can see ten clear fringes on a screen at a distance 

of 0.80 m from the slits. He then tries an alternative experiment using a diffraction grating that has 3000 lines/cm.  

(i) What will be the width of the ten fringes that he can measure in the first experiment?     [2] 

(ii) What will be the angle of the second-order maximum in the second experiment?   [2] 

(iii) Suggest which experiment you think will give the more accurate measurement of wavelength (). [1] 

(b) A physics student went to buy polaroid sunglasses. The shopkeeper gave him two similar-looking sunglasses. In what 

way he can differentiate between polaroid sunglasses and non-polaroid sunglasses?    [1]   

(c) At what angle of incidence will the light reflected from water ( = 1.3) be completely polarized?   [2]  

OR 

a) In what way does the intensity of sound heard by an observer change if the distance with the source changes by four 

times?              [1] 

b) A train is traveling at 30m/s in still air. The frequency of the note emitted by the train whistle is 262Hz. What 

frequency is heard by a passenger on the other train moving in the opposite direction to the first at 18m/s (i) when 
approaches the first and (ii) when receding from the first?( velocity of sound= 340 m/s)     [2+2] 

c) In a sinusoidal sound wave of moderate loudness, the maximum pressure variations are of the order of 3.0x10
-2

 Pa 

above and below the atmospheric pressure. Find the corresponding maximum displacement if the frequency is 

1000Hz.in air at normal atmospheric pressure and density. The speed of sound is 344m/s and the bulk modulus of 

the medium is 1.42x10
5 
Pa.           [3] 

 

22. (a) What is choke coil?            [1] 

(b) Why is it preferred over a resistor in ac circuit?                 [2] 

(c) In figures (a), (b) and (c), three ac circuits with equal currents have been shown.   
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(i) If the frequency of e.m.f.be increased, then what will be effect on the currents flowing in them? Explain.      [3] 

(ii) What difference do you expect in the opposition provided by circuits for the current flow in figure (a) and (b) if given 

a.c. e.m.f. is replaced by its equivalent d.c. e.m.f.  ?               [2] 

 

OR 

(a) Define 1 Ampere of current in terms of force between two parallel current-

carrying conductors.          [1] 

(b) How do you explain the contraction of the solenoidal coil while the current 

is passed through it?             [2] 

(c) A conductor of linear mass density 0.2 g m
-1

 suspended by two flexible wires 

as shown in the figure. Suppose the tension in the supporting wires is zero 

when it is kept inside the magnetic field of 1T whose direction is into the page. 

(i) Compute the current inside the conductor.     [3] 

(ii) If the current determined in part (i) is passed through a 100-turn coil of 100 cm
2
 area with its axis held perpendicular 

to the magnetic field of flux density 10 T and plane of coil parallel to the field, how much torque is produced?     [2] 

 

 

-0- 
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figures in the margin indicate full marks. 

 

 Time: 3 hrs.  Full Marks: 75 
 

Group A 

-clt ;+lIfKt pQ/fTds k|Zgx¿/Very short answer questions): (11×1=11) 

1. lghL sDkgLsf] cy{ pNn]v ug'{xf];\ .  

 State the meaning of private company. 

2. ;+roL k"jf{lwsf/ z]o/sf] cy{ n]Vg'xf];\ .  

 Write the meaning of cumulative preference share. 

3. rfn' ;DklQsf s'g} b'O{ zLif{s ;"lrs[t ug'{xf];\ .  

 Give any two items of current asset. 

4. nfut n]vf ljlwsf] cy{ n]Vg'xf];\ .  

 Write the meaning of Cost Accounting.  

5. lgoGq0fsf] cfwf/df pkl/JoonfO{ juL{s/0f ug'{xf];\ .  

 Classify overhead according to controllability.  

6. cfjlws df}Hbft ljlwsf] cy{ lbg'xf];\ .  

 Give the meaning of periodic inventory system. 

7. ;dob/ Hofnf k|0ffnLsf s'g} b'O{ kmfObfx¿ pNn]v ug'{xf];\ .  

 State any two advantages of time wage system.  

8. n]vf ljlwdf sDKo'6/ k|0ffnLsf s'g} b'O{ j]kmfObfx¿ pNn]v ug'{xf];\ .   

 Mention any two disadvantages of computer system in accounting. 

9. ¿= !%))) cflh{t sldzg, t/ k|fKt gePsf]nfO{ ;dfof]hg k|ljli6 tof/ ug'{xf];\ .   

 Prepare adjusting entry of commission earned but not received Rs. 15,000. 

10. lgDgfg';f/sf] hfgsf/Lsf] cfwf/df vl/bsf] nflu gub e'QmfgLsf] u0fgf ug'{xf];\ .  

 Calculate amount of cash paid for purchase, from the following information: 

 ljqmLsf] nfut (Cost of goods sold)  :  Rs. 350,000 

 z'¿ df}Hbft (Beginning inventory)  :  Rs. 50,000 

 / clGtd df}Hbft (and ending inventory) : Rs. 40,000 

11. olb k|lt cfb]z nfut ¿ #)), k|lt OsfO{ ;+ef/ nfut ¿= @ / jflif{s vkt #),))) 

OsfO{ 5 eg], ldtJooL cfb]z kl/df0f kQf nufpg'xf];\ .  

 If ordering cost per order Rs. 300, carrying cost per unit is Rs. 2 and annual 

requirements are 30,000 units, find out economic order quantity. 
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Group B 

-;+lIfKt pQ/fTds k|Zgx¿/Short Answer Questions):       (8×5=40) 

12. Pp6f sDkgLn] ¿= !)) b/sf !) k|ltzt k|Jofhdf #),))) lsQf z]o/sf] nflu cfj]bg 

cfJxfg u¥of] h;sf] e'QmfgL lgDgfg';f/ x'g]5 . A Company Ltd. invited application 

for 30,000 shares of Rs. 100 each at 10% premium, payable as under: 

 cfj]bgdf (On application)  Rs. 30  

 afF8kmfF8df  (On allotment)  Rs. 40  

 k|yd tyf clGtd ls:tfdf (On first and final call) Rs. 40  

 $@,))) xhf/ lsQf z]o/sf] nflu cfj]bg k|fKt eof] . ;~rfns ;ldltn] @%,))) 

cfj]bgsnfO{ k'/}, !),))) cfj]bsnfO{ %) k|ltzt / &,))) cfj]bg cl:js[t u¥of] . 

cfj]bg ;fy k|fKt clws /sd afF8kmfF8sf] cf+lzs e'QmfgLsf] nflu k|of]u ug]{ lg0f{o  

ul/of] . k|yd tyf clGtd ls:tfsf] /sd @)) z]o/df afx]s ;Dk"0f{ /sd r'Qmf eof] .  

Applications were received for 42,000 shares. The board of directors decided to 

allot 25,000 applicants in full, 10,000 applicants 50% and 7,000 applicants were 

rejected. It was decided to utilize excess application money in part payment of 

allotment. All money were duly received except a shareholder holding 200 shares 

failed to pay first and final call money.  

tof/ ug'{xf];\ (Required): uf]Zjf/f clen]v (Entries for): 

i) cfj]bg  (Share application) 

ii) afF8kmfF8 (Share allotment) 

iii) k|yd tyf clGtd ls:tf (Share first and final call.)                   [1.5+2+1.5=5]  

13.a.  Pp6f sDkgLn] ¿= !!,)),))) d"Nodf lgDg ;DklQx¿ v/Lb u¥of] . A company 

purchased the following assets at an agreed price of Rs. 1,100,000:  

KnfG6  (Plant)   Rs. 520,000  

hUuf tyf ejg (Land and Building)  Rs. 730,000  

 pQm v/Lb d"No @) k|ltzt 5'6df ¿= !)) b/sf z]o/ lgisfzg u/L e'QmfgL ul/of] . 

The company paid the agreed price by issuing shares of Rs. 100 each at 20% 

discount.  

 tof/ ug'{xf];\ (Required): ;DklQ v/Lb / z]o/ lgisfzgsf] clen]v (Entries for 

purchase of assets and issue of share) [1+1=2] [a] 

13. b.  Pp6f ln= sDkgLn] ¿= !,))) b/sf % k|ltzt k|Jofhdf % jif{kl5 !) k|ltzt 

k|Jofhdf lkmtf{ ug]{ u/L *,))), !) % C0fkq lgisfzg u¥of] .  (A Co. Ltd. issued 

8,000, 10% Debentures of Rs. 1,000 each at a premium of 5% redeemable at a 

premium of 10% after 5 years.)  

tof/ ug'{xf];\ (Required):  

     C0fkq lgisfzg tyf e'QmfgLsf] uf]Zjf/f clen]v  

  Journal entries for issue and redemption of debentures                 [1.5+1.5=3]  
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14. Pp6f sDkgLsf] utjif{sf] #! cfiff9sf] lgDghfgsf/Lx¿ lbOPsf] 5 M Following 

information was taken from a company as on 31st Ashad, last year is given as: 

Particulars Amount (Rs.) 

cu|LdjLdf (Prepaid  insurance) 8,000 

s"nd'gfkmf (Gross profit) 420,000 

gfkmf gf]S;fg afF8kmfF8 vftf (P&L appropriation account) 150,000 

tna (Salaries)  42,000 

aflx/L 9'jfgL (Carriage outwards) 5,000 

ljqmL vr{ (Selling expense) 18,000 

k|zf;lgs vr{ (Administrative expenses)  25,000 

Jofh vr{ (Interest expenses) 12,000 

ef8f vr{ (Rent expenses) 36,000 

yk hfgsf/Lx¿ (Additional Information): 

a. k|:tfljt nfef+z (Purposed dividend) Rs 90,000 

b. clu|djLdf vr{ n]lvof] (Prepaid insurance was expired) Rs. 6,000. 

tof/ ug'{xf];\ (Required): gfkmf–gf]S;fg vftf / gfkmf gf]S;fg afF8kmfF8 vftf  

 (Profit and Loss account, and Profit and Loss Appropriation account)  [3+2=5]  

15. Pp6f sDkgLsf] ut jif{sf] r}q #! sf] ;Gt'ng k/LIf0f lgDgfg';f/ lbOPsf] 5M (The Trial 

Balance of a Co. Ltd. as on 31
st 

Chaitra last year is given below):  

Particulars Debit Rs. Particulars Credit Rs. 

sfof{no cf}hf/ (Office equipment)  

ljqmLsf] nfut (Cost of goods sold) 

gub (Cash) 

cf;fdLx¿ (Debtors)  

k|zf;lgs vr{ (Administrative expenses) 

tna  (Salaries) 

ahf/Ls/0f vr{ (Marketing expense) 

180,000 

121,000 

32,000 

25,000 

12,000 

24,000 

18,000 

k"FhL (Capital) 

;fx'x¿ (Creditors) 

ljqmL (Sales) 

clu|dcfo (Unearned income) 

152,000 

25,000 

230,000 

5,000 

Total 432,000 Total 432,000 

yk hfgsf/LAdditional information: 

i. ltg{ afFsL tna (Salary payable) Rs.6,000  

ii. clu|d cfo dWo cfDbfgL afFlwof]  (Unearned income was earned) Rs. 4,000 

tof/ ug'{xf];\ (Required): sfo{ ljj/0f (Worksheet)                                            [5]   

16. nfut n]vf / ljlQo n]vflar km/s 5'6ofpg'xf];\   

 Differentiate between cost accounting and financial accounting.                 [5]  

17. a. pko'Qmpbfx/0f ;lxt ;fdu|Lsf] juL{s/0fsf] cy{ pNn]v ug'{xf];\ .  

     State the meaning of material classification with suitable examples.       [2]  

 b.  d] dlxgfsf] e08f/ ;DaGwL sf/f]af/x¿ lgDgfg';f/ 5g\ M Following are the store 

transactions for the month of May:  
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May 1:  z'¿ df}Hbft (Beginning inventory) 150 units @ Rs. 20  

May 2:  v/Lb (Purchased) 400 units @ Rs. 25  

May 20:  v/Lb (Purchased) 650 units @ Rs 30 

d] dlxgfsf] ljqmL (Sales during May) 850 units  

 

tof/ ug'{xf];\ (Required): 

 cfjlws df}Hbft k|0ffnL cGtu{t k|yd bflvnf k|yd lgisfzg ljlw cGtu{t clGtd 

df}Hbftsf] nfut / ljqmLsf] nfut .  

 Cost of ending inventory and cost of goods sold using FIFO method under 

periodic inventory system.                                                                             [3] 

18. a.  *) PsfO{ pTkfbg ug{ @ 306f ;do lbOsf] 5 . Pp6f sfdbf/n] Ps dlxgfdf 

$)) PsfO{ pTkfbg ub{5 . k|lt 306f Hofnf b/ ¿= *)) /x]sf] 5 .  

 The time allowed to produce 80 units of output is 2 hours. A worker produced 

 400 units during the month. Wages rate per hour is Rs. 800. 

kQfnufpg'xf];\ (Required): pQm sfdbf/sf] Hofnf (Wages of a worker)                   [2]  

 b. ljlQo n]vf / nfut n]vflar t'ngf ubf{ lgDg tYox¿ kQf nfUof] M  

  On reconciliation of Financial and Cost Accounting, following facts were 

disclosed:  

i.  nfut n]vfn] b]vfPsf] gfkmf (Profit shown by cost account) Rs. 420,000. 

ii.  nfut n]vfdf sf/vfgf pkl/Joo ¿= @%,))) Go"gclen]v ePsf] 5 .  

 Works overhead under recorded in cost account Rs. 25,000. 

iii. sfof{no pkl/Joo ljlQo n]vfdf ¿= !%,))) Go"gclen]v ePsf] 5 .  

 Office overhead under recovered in financial account Rs. 15,000. 

iv. :yL/ ;DklQsf] ljqmLdf ¿= %,))) d'gfkmfljlQo n]vfdf b]vfPsf] 5 .  

 A profit on sale of fixed assets was shown in financial account Rs. 5,000. 

tof/ kfg'{xf];\ (Required): nfutldnfgljj/0f (Cost reconciliation statement)          [3]  

19. n]vf ;km\6j]o/sf ljz]iftfx¿ j0f{g ug'{xf];\ .  

 (Explain the features of accounting software.)        [5] 
      

Group C  

 lj:t[t pQ/fTds k|Zgx¿(Long answer questions):               [3×8=24] 

20. ut jif{sf] r}q #! ut] P sDkgL ln= sf] ;Gt'ng k/LIf0f lgDgfg';f/ lbOPsf] 5 M  

 The Trial Balance of a company Ltd. as on 31st Chaitra last year is given below:  

ljj/0f Particulars Debit Rs. Particulars Credit Rs. 

z'¿ df}Hbft (Opening inventory)  

ljqmL sldzg (Sales commission) 

v/Lb (Purchases)  

d;nGb (Stationery)  

ef8f (Rent) 

tna (Salary)  

cGtl/d nfef+z (Interim Dividend)  

;+oGq (Equipment) 

60,000 

40,000 

350,000 

9,000 

20,000 

60,000 

8,000 

100,000 

ljqmL (Sales) 

;fx'x¿ (Creditors)  

cGo ;]jfcfo (Other service revenue) 

!) % C0fkq (10% Debentures)  

z]o/ k"FhL (Share capital) 

nufgLdf Jofh (Interest on investments) 

z]ifcfo (Retained earnings) 

 

520,000 

30,000 

40,000 

100,000 

500,000 

15,000 

40,000 
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clu|djLdf (Prepaid insurance)  

gub (Cash)  

h}ljs ;DklQ (Biologic assets) 

!) % nufgL (10% investment)  

k|zf;lgs vr{ (Advertisement expense) 

hUuf tyf ejg (Land and building) 

k|fKo vftfx¿ (Account receivables) 

Jofh vr{ (Interest expenses) 

10,000 

17,000 

60,000 

150,000 

10,000 

300,000 

41,000 

10,000 

Total 1245,000 Total 1245,000 

yk hfgsf/L (Additional Information): 

i. clGtd df}Hbft (Closing inventory) Rs. 120,000. 

ii. cu|Ld jLdf vr{ n]lvof] (Prepaid insurance was expired to) Rs. 8,000. 

iii. ;+oGqdf !) % / ejgdf %% n] x|f;sl§ (Depreciation charged on equipment 

by 10% and on building by 5%.) 

iv. cfos/sf] nflu Joj:yf (Provision for income tax)  @ 25%. 

tof/ ug'{xf];\ (Required):  

a.  NFRS df cfwfl/t gfkmfjf gf]S;fg ljj/0f Profit or Loss statement based on 

NFRS. 

b.  NFRS df cfwfl/t ljlQo ljj/0f Statement of financial position based on 

NFRS.                                                                                          [4+4=8]  

21. Pp6f sDkgLsf] #! l8;]Da/sf] lgDgfg';f/ jf;nft lbOPsf] 5 M  

 The Balance Sheet of a company on 31st December were given below:  
bfloTj (Liabilities) Year I (Rs.) Year II 

(Rs.) 

;DklQ (Assets) Year I (Rs.) Year II 

(Rs.) 

z]o/ k"FhL (Share capital)   

z]if cfo (Retained earnings)  

;fx'x¿ (Creditors)  
ltg'{kg]{ vr{ (Expense payable)  

300,000 

20,000 

20,000 
25,000 

300,000 

60,000 

30,000 
17,500 

l:y/ ;DklQ (Fixed Assets)  

df}Hbft (Inventory) 

cf;fdLx¿ (Debtors)  
a}+s df}Hbft (Bank balance)  

250,000 

10,000 

40,000 
65,000 

325,000 

35,000 

12,500 
35,000 

Total 365,000 407,500 Total 365,000 407,500 

yk hfgsf/L (Additional information): 

i. ljqmL (Sales) Rs. 300,000   

ii. ljqmLsf] nfut (Cost of goods sold)  Rs. 180,000 

iii. :yL/ ;DklQsf] ljqmL (Sales of fixed assets)  Rs. 25,000   

iv. :yL/ ;DklQsf] v/Lb (Purchase of fixed assets) Rs. 110,000 

v. nfef+z e'QmfgL (Dividend paid)  Rs. 30,000    

vi. ;+rfng vr{ (Operating expense)  Rs. 40,000 

tof/ kfg'{xf];\ (Required): Cash flow statement using direct method           [4+1+2+1]  

22. z¿ tyf clGtd df}Hbft lgDgfg';f/ 5 M  

 The opening and closing balance of inventories are as below: 

  Opening Closing 

tof/L a:t' (Finished goods) Rs. 40,000 Rs. 45,000 

cy{ tof/L j:t' (Work-in-progress) Rs. 25,000 Rs. 20,000 

sRrf kbfy{ (Raw materials) Rs. 40,000 Rs. 50,000 
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sDkgLn] pknAw u/fPsf Ps dlxgfsf cGo hfgsf/Lx¿ lgDgfg';f/ 5g\ M 

 The other information provided by the company for the month ended was as follows: 

sRr kbfy{ v/Lb (Purchase of raw material) Rs. 350,000  

k|ToIf Hofnf (Direct labor cost) ....... Rs. 420,000 

gfkmf (Profit ................................... 25% on sales  

sf/vfgf pkl/Joo (Factory overhead) 50% of direct labor cost 

ljqmo vr{ (Selling expenses) 12% of factory cost  

k|zf;lgs pkl/Joo (Administration overhead) 15% of factory cost 

tof/ kfg'{xf];\ (Required):  nfut ljj/0f (Cost sheet)                                          [8]  

-0- 
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Model Question (Set B) 

Accounting 
 

ljBfyL{x¿n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfof“ lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\s hgfp“b5 . 
 

Candidates are required to give their answers in their own words as far as practicable. The figures 

in the margin indicate full marks. 

Group A 

-clt ;+lIfKt pQ/fTds k|Zgx¿/Very short answer questions): (11×1=11) 

1.  sDkgLsf s'g} b'O{ dxTjk"0f{ sfuhft pNn]v ug'{xf];\ .  

 (Mention any two important documents of a company.)    

2.  dfu ul/Psf] k"FhLsf] cy{ n]Vg'xf];\ .  

 (Write the meaning of called up capital.)      

3.  ljlQo ljj/0fsf] s'g} b'O{ ;Ldfx?sf] ;"rLs/0f ug'{xf];\ .  

 (List out any two limitations of financial statements.)    

4.  7]Ssf nfutsf] cy{ n]Vg'xf];\ . (Write the meaning of contract costing.) 

5.  cw{ kl/jt{gzLn nfutsf] cy{ n]Vg'xf];\ .  

 (Write the meaning of semi variable overhead.)    

6.  v/Lb cfb]zsf] cy{ n]Vg'xf];\ . (Give the meaning of purchase order.)  

7.  ;dob/ Hofnf k|0ffnLsf] s'g} b'O{ j]kmfObfx? pNn]v ug'{xf];\ . 

 (Mention any two disadvantages of time rate system of wages payment.) 

8.  n]vf df:6;{nfO{ kl/eflift ug'{xf];\ . (Define account masters.)  

9. kmlg{r/df d"No x|f¥; ? @),))) 5 eg] ;dfof]hg k|ljli6 tof/ ug'{xf];\ .  

 (Prepare adjustment entry for depreciation on furniture Rs.20,000)  

10.  olb jflif{s ljqmL ?= ^)),))) / cf;fdLdf j[l4 ? $),))) 5 eg] ljqmLaf6 

gub ;+sng kQf nufpg'xf];\ .  

 (Find out the cash collection from sales, if sales is Rs.600,000 during the year 

and increase in debtors by Rs. 40,000)     

11.  olb jflif{s pkef]u &,))) PsfO / cfb]z ;+Vof % k6s 5 eg], ldtJooL cfb]z 

kl/df0f kQf nufpg'xf];\ .  

 (If annual Consumption is 7,000 units & number of order is 5 times. Find out 

the Economic Order Quantity (EOQ).)     
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Group B  

-;+lIfKt pQ/fTds k|Zgx¿/Short Answer Questions):  (8×5=40) 

12. Pp6f sDkgLn] ?= !)) c+lst d"No ePsf %,))) z]o/ !) k|ltzt k|Jofhdf 

lgisfzg u/]sf]df *)) z]o/n] k|yd tyf clGtd ls:tfsf] ?= #) e'Qmfg 

gu/]sf]n] hkmt u¥of] . To;kl5 pQm z]o/x? ?= *% df k'/} e'Qmfg ePsf] dfgL 

k'gM lgisfzg u¥of] .  

 (A company forfeited 800 shares out of 5,000 shares @Rs.100 each issued at 

10% premium due to non-payment of first and final call money of Rs.30. 

These shares were subsequently re-issued at Rs.85 per shares as fully paid 

up.) 

tof/ ug'{xf];\ (Required): 

 z]o/sf] clGtd ls:tf, hkmt, k'gMlgisfzg / /sdfGt/sf] clen]v . 

 (Entries for Share final call, forfeiture, Re-issue and Transfer)     [2+1+1+1]  

13.a.  X  sDkgLn] Y sDkgLsf lgDgfg';f/sf ;DklQx? ?= %%),)))d'Nodf v/Lbug{ 

;xdt eof] . (X Company purchased the following assets of Y Company at 

an agreed price of Rs. 550,000.) 

   d]lzg/L  (Machinery) Rs.300,000 

   cfdf;Lx?  (Debtors)  Rs.100,000 

   df}Hbft  (Inventories) Rs.150,000 

 X  sDkgLn] pQm v/Lbd'No ?= !)) b/sf z]o/ !) % k|Jofhdf lgisfzg u/L 

e'Qmfg u¥of] .(X Company paid the purchase price by issuing shares of Rs. 

100 each at a premium of 10%.) 

tof/ ug'{xf];\ (Required): 

 pk/f]Qm ;DklQ v/Lb / z]o/ lgisfzg u/L e'QmfgLsf] clen]v .  

 (Entry for purchase of above assets by issuing shares)  [2] 

b. kL sDkgLn] ?= !)) b/sf !) % 5'6df %,))), (% C0fkq lgisfzg u¥of] / % 

jif{kl5 !) % k|Jofhdf lkmtf{ ul/G5 . 

 (P Company Ltd issued 5,000, 9% Debenture of Rs 100 each at 10% discount 

and redeemable at 10% premium after 5 years.) 

tof/ ug'{xf];\ (Required): C0fkq lgisfzg / lkmtf{sf] clen]v .  

 (Journal entries for issue and redemption of debentures)  [1+1+1=3] 
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14. kz'klt sDkgL ln= sf] #! dfr{ @)@! sf] lgDg hfgsf/Lx? lbOPsf] 5 

(The following is the information of Pashupati Co. Ltd. as on 31
st 

March 2021) 

ljj/0fParticulars (Rs.) ljj/0fParticulars (Rs.)  

v/Lb (Purchase) 275,000 laqmL (Sales) 530,000 

aLdf (Insurance) 24,000 Aofh k|fKt (Interest received) 5,000 

ef8f (Rent) 10,000 tna (Salary) 36,000 

z'? df}Hbft (Opening Stock) 80,000 ;fwf/0f vr{ (General Expenses) 20,000 

Hofnf (Wages) 175,000 laqmo vr{ (Selling Expenses) 15,000 

 yk hfgsf/L (Additional Information): 

 i.  clGtd df}Hbft M ahf/ d"No ?= *),))) / nfut d"No ?= &),)))  

  (Closing stock Rs. 80,000 at market price and Rs.70,000 as cost price.) 

 ii.  l:y/ ;DklQdf d"No xf¥; (Depreciation on fixed assets)Rs. 10,000 

 iii. s/sf] nflu Joj:yf (Provision for taxation) Rs.7,000 

tof/ kfg'{xf];\ (Required):       [2+3] 

  a. Jofkf/ vftf (Trading Account)  

  b. gfkmf gf]S;fg vftf (Profit and Loss Account)   

15.  utjif{sf] cGtdf Pp6f sDkgLsf]] ;Gt'ng k/LIf0f lgDgfg';f/ 5 M 

 (Trial balance of a company Ltd as on last year ended is as follows): 

Debit Rs. Credit Rs 

v/Lb (Purchases) 9,00,000 laqmL (Sales) 12,00,000 

z'? df}Hbft (Opening stock) 1,00,000 ;fx'x? (Creditors) 80,000 

Hofnf (Wages) 50,000 z]o/ k"FhL (Share capital) 2,00,000 

ef8f (Rent) 40,000 gfkmf gf]S;fgvftf (Profit and 

loss account) 

20,000 

tna (Salaries) 24,000   

gub (Cash) 86,000   

:yL/ ;DklQ (Fixed assets) 2,00,000   

cf;fdLx? (Debtors) 1,00,000   

Total 15,00,000 Total 15,00,000 

yk hfgsf/L(Additional Information): 

1. :yL/ ;DklQdf xf¥; (Depreciations on fixed assets) :15% 

2. k|:tfljt nfef+z (Proposed dividend)   :12% 

tof/ ug'{xf];\ (Required):        [5] 

 !@ dxlno sfo{ ljj/0f (12 column worksheet) 

16. nfut n]vfsf] cy{ n]Vg'xf];\ / nfut n]vfsf s'g} tLg p2]Zox? pNn]v ug'{xf];\ .   

 Give the meaning of cost accounting, and mention any three objectives of cost 

accounting.        [5] 
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17. a. s]lGb|s[t e08f/sf] af/]df n]Vg'xf];\ .(Write about centralized store.) [2]  

      b. Pp6f pTkfbg sDkgLsf] lgDgfg';f/ hfgsf/L lbOPsf] 5 M (The following information 

is available of a manufacturing company):  

ljj/0f (Details) PsfO{ (Units) PsfO{ nfut(Unit Cost) 

z'? df}Hbft (Beginning inventory) 2,000 Rs 100 

v/Lb(Purchases):  

 March 02 

 

3,000 

 

Rs 110 

 June 10 4,000 Rs 120 

 August 15 2,500 Rs 130 

 December 22 1,500 Rs 150 

 jif{ el/df !),))) PsfO{ hf/L -laj|mL_ ul/of] . 

 (During the year, inventory issued (Sales) 10,000 units) 

tof/ ug'{xf];\ (Required): 

 cfjlws df}Hbft k|0ffnL cGtu{t efl/t cf}ift ljlwaf6 ljqmLsf] nfut / clGtd

 df}Hbftsf] nfut kQf nufpg'xf];\ . 

 (Cost of goods sold and cost of closing stock under weighted average method 

 using periodic inventory system)          [3]  

18. a. k|To]s PsfO{ pTkfbg ug{ k|df0fLs ;do $ 306f nfU5 Pp6f, sfdbf/n] Ps 

dlxgfdf @)) PsfO{ pTkfbg u¥of] . k|lt 306f Hofnfb/ ?= *) 5 . (Standard 

time to produce each unit of output is 4 hours. A worker produced 200 units 

during the months. Wages rate per hour is Rs. 80.) 

kQf nufpg'xf];\ (Required): 

 Ps dlxgfsf] s'nHofnf(Total wages for the month)      [2]  

b.  nfut / ljlQo n]vfaf6 lgDg tYox? kQf nfUof] .  

   (Following facts were discovered from cost and financial accounting): 
a.  ljlQo n]vfcGtu{t v'bgfkmf ? &),))) 5 . 

  (Net profit as per financial account Rs 77,000) 

b. nfut n]vfdf z'? df}Hbftsf] ?= @),))) n] cl3 d"Nofª\s gePsf] 5 .  

  (Over valuation of opening stock in cost account Rs.20,000.) 

c.  nfut n]vfdf k|zf;lgs vr{ ?= #),))) Go"g n]lvPsf] 5 .  

  (Administrative expensesunderabsorbed in cost account Rs.30,000.) 

e. ljQLo n]vfdf nfef+z k|fKt ?= @), ))) 5 . 

  (Dividend received recorded in financial account Rs. 20,000) 

tof/ ug'{xf];\ (Required): nfut ldnfg ljj/0f (Cost reconciliation statement)   [3] 

19. n]vf k|0ffnLdf sDKo'6/sf] k|of]u 5f]6s/Ldf n]Vg'xf];\ .  

 (Write in brief the uses of computer in accounting.)     [5] 
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Group C  

 ( lj:t[t pQ/fTds k|Zgx? /Long answer questions):       [3×8=24] 

20.  utjif{sf] Pp6f sDkgLsf] ;Gt'ng kl/If0f lgDgfg';f/ lbOPsf] 5 M 

 (The Trial balance of a company limitedas on last year is given): 

ljj/0f (Particulars) Debit (Rs) ljj/0f (Particulars) Credit (Rs) 

z'? df}Hbft (Opening stock) 1,50,000 z]o/ k"FhL (Share Capital) 300,000 

Hofnf (Wages) 40,000 a}s C0f (10% Bank Loan) 150,000 

v/Lb (Purchase) 4,50,000 sldzg (Commission) 20,000 

ef8f (Rent) 30,000 ;fx'x? (Creditors) 80,000 

a}+s C0fdf Jofh (Interest on 

bank loan) 

10,000 gfkmf gf]S;fg vftf (Profit and 

Loss account)  

50,000 

tna(Salaries) 60,000 laqmL (Sales) 615,000 

kmlg{r/ (Furniture) 100,000   

cf;fdLx? (Debtors) 80,000   

v/fa C0f (Bad debts) 10,000   

9'jfgL (Carriage) 5,000   

cu|LdaLdf (Prepaid Insurance) 15,000   

d]l;g/L  (Machinery) 200,000   

gub (Cash) 25,000   

VoftL (Goodwill) 40,000   

Total 1,215,000 Total 1,215,000 

 ykhfgsf/L(Additional information):   [HA=22m] 

a. clGtd df}Hbft (Stock at close) :Rs.210,000. 

b. ltg{ afFsL Hofnf (Outstanding wages) :Rs.5,000 

c. clu|d aLdf vr{ n]lvof ] (Pre-paid Insurance expired) :Rs. 10,000 

d. s/sf] nflu Joj:yf (Provision for tax) :Rs. 10,000 

tof/ ug'{xf];\ (Required): cfo ljj/0f / juL{s[t jf;nft 

 (Income statement and classified Balance Sheet)    [4+4]  

 

21. P ln=sf] jf;nft / cfoljj/0f lgDgfg';f/ lbOPsf] 5 M  

 (The Balance Sheet and income  statement of A Ltd. are given below): 

bfloTjLiabilities 5th year 6th year ;DklQAssets 5th year 6th year 

z]o/ k"FhL (Share capital)  

C0fkq (Debenture) 

;fx'x? (Creditors) 

a}{s clwlj sif{ (Bank overdraft) 

z]if cfo (Retained earnings) 

 

200,000 
 

150,000 
 

140,000 
 

120,000 
 

140,000 

 

300,000 
 

130,000 
 

150,000 
 

110,000 
 

160,000 

kmlg{r/ (Furniture) 

hUuf (Land) 

df}Hbft (Stock) 

cf;fdL (Debtors) 

gub (Cash) 

 

200,000 
 

130,000 
 

180,000 
 

130,000 
 

110,000 

 

260,000 
 

145,000 
 

200,000 
 

120,000 
 

125,000 

Total 750,000 850,000 Total 750,000 850,000 
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cfo ljj/0f (Income Statementfor the year ending 6th year) 

ljj/0f (Items)  Rs. 

laqmL (Sales) 

laqmLsf] nfut (Less: Cost of goods sold):  

 

 

7,800,000 

6,700,000 

s'n gfkmf (Gross margin) 

;~rfng vr{(Less: Operating expenses) 

 xf¥;(Depreciation) 

 C0fkq e'QmfgLdf k|Jofh (Premium on redemption of 

Debenture) 

 kmlg{r/ ljqmLdf gf]S;fgL lstfjL d"No ?= @),)))_ (Loss on 

 sale of furniture) (Book value Rs. 20,000) 

 
 

1,040,000 
 

20,000 
 

1,000 

 
 

 
 

 
 

 
 

 
 

 

5,000 

1,100,000 

 

 

 

 
 

 
 

 

 
 

 
 

 
 

 

1,066,000 

Net income  34,000 

cGo hfgsf/L (Other information):     

a. kmlg{r/sf] laqmL ?= !%,))) / kmlg{r/sf] v/Lb ?= !),))) 5  

  (Sale of furniture for Rs. 15,000 and purchase of Furniture for Rs.100,000) 

b. o; jif{sf] nfef+z e'QmfgL (Dividend paid for the year): Rs.14,000 

tof/ ug'{xf];\ (Required): ck|ToIf ljlw k|of]u u/L gub k|jfx ljj/0f  

 (Cash flow statement using indirect method)   [4+1+2+1] 

22.  Pp6f j:t' pTkfbg ubf{ cfjZos nfut ;DaGwL hfgsf/L lgDgfg';f/ lbOPsf] 5 M  

 (Cost information for manufacturing a product is given below): 

k|ToIf ;fdu|L (Direct Material)   : 20,000 kgs @ Rs. 10 per kg 

k|ToIf >d nfut (Direct Labour cost)  : 80% of cost material 

sf/vfgf pkl/Joo (Factory overhead)  : Rs.64,000 

k|zf;lgs pkl/Joo (Administrative overhead)  : Rs.42,400 

af]nkq kz] ug{sf] nflu lgDgfg';f/ k"jf{g'dfgx? ul/Psf] 5   

 (The following estimations were made for submitting a tender): 

- ;fdfu|Lsf] nflu cg'dfg(The estimated cost of materials is)  Rs.30,000 

- k|ToIf >d(Direct labour)      Rs.24,000 

- sf/fvfgf pkl/Joo k|ToIf >dsf] cfwf/df nfUg] 5  

  (Factory overhead are absorbed on the basis of direct labour) 

- k|zf;lgs pkl/Joo sf/vfgf nfutsf] cfwf/df nfUg]5  

  (Administrative overheads are absorbed on the basis of factory cost) 

- ljqmLsf] @) k|ltzt gfkmf cg'dfg ul/Psf] 5  

  (A profit of 20% on selling price is estimated)  

 tof/ ug'{xf];\ (Required):     [3+5]  

 nfutsf] ljj/0f / af]nkq ljj/0f (A Statement of Cost and Tender Sheet)  

-0- 
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NEB-Grade XII 

(2079/2023) 

Model Question 

Rural Development 
 

ljBfly{x¿n] ;Dej eP;Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . dflh{gsf cs+x¿n] k"0f{ c+ssf] ;+s]t ub{5 . 

 (Candidates are required to give their answers in their own words as far as practicable. The figures in 

the margin indicates full marks.) 
 

Time: 3 hrs.         Full Marks: 75 

 

;a} k|Zgx¿sf] pQ/ lbg'xf];\ (Attempt all the questions) 

 

;d"xM s (Group: A) 
 

 clt ;+lIfKt pQ/fTds k|Zgx? (Very short answer question)   !!! Ö !! 

!=  nfutdf cfwfl/t k|f?kcg';f/, g]kfndf slt k|ltzt dflg;x¿ ul/aLsf] /]vfd'lg /x]sf 5g\ < 

 According to the cost-based approach, what percentage of people are below the poverty line 

in Nepal?   

@= vfB ;'/Iff eg]sf] s] xf] ? Define food security in your own words. 

#= a]/f]huf/L zAb kl/eflift ug'{xf]; . How do youdefine the term 'unemployment' ? 

$= cfly{s ljsf;df cgf}krfl/s If]q eg]sf] s] xf] ? What is informal field in the economic development? 

%= u|fdL0f ahf/Ls/0fsf] k|of]unfO{ s;/L a'e\mg'x'G5 < s'g} b'O{ a'Fbfdf k|:t't' ug'{xf];\ .  

 How would you understand the implications of rural marketing ? Express in two words ? 

^= u|fdL0f ljsf;df kof{–ko{6gsf] s'g} b'O{ pkof]lutfx¿ sf]g'{xf];\ .  

 Draw any two implications of eco-tourism in rural development. 

&= u|fdL0f lhljsf]kfh{gsf s'g} b'O{j6f ;|f]tx? pNn]v ug'{xf];\ .  

 Mention any two sources of rural livelihoods.  

*= lbuf] ljsf;sf s'g} b'O{j6f p2]Zox¿ n]Vg'xf];\ .  

 Write any two objectives of sustainable development. 

(= u|fdL0f ul/aL hgtfsf nflu u|fdL0f ljQsf s'g} b'O{ kmfObfx¿ n]Vg'xf];\ Write any two benefits of rural 

finance for rural poor people.  

!)=  u|fdL0f ljsf; gLltsf b'O{ kmfObfx¿ ;+lIfKt ¿kdf pNn]v ug'{xf];\ . 

 Briefly outline the two benefits of rural development policy   

!!= s'g} b'O{ a'Fbfdf tYofª\s / ;"rgfljrsf] km/s 5'6\ofpg'xf];\ . 

 Differentiate between data and information in two words.  

 

;d"x …vÚ (Group 'B') 

-;+lIfKt pQ/fTds k|Zgx¿ /Short Answer Questions)    *% Ö $) 

!@= g]kfnL ;dfhdf 3/]n' lx+;f Go"gLs/0fsf nflu s'g} kfFrj6f Jofjxfl/s pkfox¿ ;'emfj lbg'xf];\ .  

 Suggests any five practical measures to alleviate domestic violence in Nepalese society  

cyjf (Or) 

 g]kfndf s'kf]if0fsf] ;d:of ;dfwfg ug]{ s'g} kfFrj6f pko'Qm pkfox¿ l;kmfl/; ug'{xf];\ . 

 Recommend any five appropriate ways to solve the problems of malnutritionin Nepal 



!#= tkfO{sf] ljrf/df, g]kfnsf] ;'b"/klZrd k|b]zdf 5fpk8L k|yfsf] ;d:of ;dfwfgsf nflu s:tf Jofjxfl/s pkfox¿ 

;'emfj lbg'x'G5 < (What practical measures do you suggest to solve the problems of ‘ChhaupadiPratha’ in the 

Far-Western province of Nepal ?) Justify your answer with your own opinion.) 

!$=   u|fdL0f pBdL eGgfn] s] a'emg'x'G5  < o;sf kfFr k|d'v ljz]iftfx? ;"lra4 ug'{xf];\ .  

 What do you mean by the rualentrepreneur ? List out its three major characteristics. 

!%= dfgj ljsf; pkfudsf d"Vo vDafx¿sf af/]df 5nkmn ug'{xf];\ .  

 Discuss the essential pillars of the human development approach.  

!^= u|fdL0f ljsf;df /fHo s]lGb|t ljsf; /0fgLltsf] e"ldsf JofVof ug'{xf];\ .  

 Explain the role of state-led development strategy in rural development. 

!&= ah]6 lgdf0f{ k|lqmof kl/eflift ug'{xf]; / :yfgLo txdf jflif{s ah]6 th'{df ubf{ cfjZos kg]{ c;n cEof;x¿af/] 

;'emfj lbg'xf];\ .  

 Define budget formulation process and suggest good practices while formulating the 

annual budget at the local level. 

!*= g]kfndf :yflgo ;/sf/sf /fhZjsf k|d'v ;|f]tx¿af/] ljZn]if0f ug'{xf];\ . 

 Analyze the major sources of revenue of local government in Nepal. 

!(= u|fdL0f ljsf; gLlt eg]sf] s] xf] < u|fdL0f ljsf; gLlt th'{df ubf{ Wofg lbg'kg]{ tTTjx¿ s] s] x'g\ < s'g} kfFr a'Fbfdf 

n]Vg'xf];\ . 

 What is rural development policy? What are theconsidered factors of rural 

developmentpolicy formulation? Write in five words. 

cyjf (Or) 

 jt{dfg k~rjlif{o of]hgfsf] lzIff gLltsf s'g} kfFrj6f p2]Zox¿ ;"rLa4 ug'{xf];\  .   

 List out the five objectives of education policy of the current five-year plan. 

 

;d"x …uÚ (Group 'C') 

-lj:t[t pQ/fTds k|Zgx¿/Long Answer Questions)      #* Ö @$ 

@)= u|fdL0f ljsf;sf] ;DaGwdf ;fdflhs ;dfj]zLs/0fsf] e"ldsfsf af/]df JofVof ug'{xf];\ .  

 Explain the role of social inclusion inrelation to rural development. 

@!= jftfj/0f ;+/If0f / lbuf] ljsf;aLrsf] ;DaGwaf/] ljZn]if0f ug'{xf];\ .  

 Examine the relationship between environmental conservation and sustainable development.  

cyjf (Or) 

g]kfndf h}ljs ljljwtf ;+/If0fsf k|of;x¿sf] ;an / sdhf]/ kIfx¿af/] ;dfnf]rgf ug'{xf];\ .  

Examine the strengths and weaknesses of bio-diversity conservation efforts in Nepal.  

@@=u|fdL0f ljsf;sf ;fdflhs ;jfnx?;Fu ;DalGwt pko'Qm zLif{s 5gf]6 u/L cg';Gwfg k|ltj]bgsf] cfb{z vfsf tof/ ug'{xf];\ 

. Develop a standard model of a research report choosing a suitable title relating to the social 

issues of rural development. 

-0- 
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Subject Code: 1101 

NEB-XII 

2079 (2023) 

Model Question 

Nepalese Legal System 

ljBfyL{x¿n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfof“ lsgf/fdf lbOPsf] cª\sn] 
k"0ff{ª\s hgfp“b5 . 
(Candidates are required to give their answers in their own words as far as 

practicable. The figures in the margin indicate full marks.) 

 
Time : 3 hrs.                                                                                      Full Marks : 75 

 

;a} k|Zgsf] pQ/ lbg'xf]; . (Attempts all questions.) 

;d"xæsÆ(Group 'A') 

-clt ;+lIfKt pQ/fTds k|Zgx?/Very short answer questions)  111=11 

 

1. sfg'gL k|0ffnL eg]sf] s] xf] < b'O{ jfSodf n]Vg''xf]; . 

What is legal system? Write in two sentences.  

 

2. sfg'gL k|0ffnLsf s'g} b'O{ ljz]iftfx¿ n]Vg'xf];\ . 

State any two characteristics of legal system.  

 

3. sfg'gL k|0ffnLsf s'g} b'O{ dxTj pNn]v ug'{xf];\ . 

Mention any two importance of Legal system.  

 

4. lxGb" sfg'gsf] b'O{ :s'n pNn]v ug'{xf]; . 

State two schools of Hindu law. 

 

5. >'lt tyf :d[lt s'g sfg'gL k|0ffnLsf sfg'gsf ;|f]tx¿ x'g\ < 

Shruti and Smriti are the sources of which legal system?  

 

6. lxGb" sfg'gL k|0ffnLnfO{ b'O{ jfSodf kl/eflift ug{'xf]; . 

Define Hindu Legal System in two sentences.  

 

7. cw{ Goflos lgsfo eg]s]f s] xf] < 

What is quasi-judicial body?  

 

8. d'l:nd sfg'gsf] ;Dk|bfoaf/] n]Vg'xf];\ . 

Write down the schools of Muslim law. 
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9. sfg'gL lzIffsf] s'g} b'O{ dxTj pNn]v ug'{xf];\ . 

Mention any two important points of legal education.  

 

10. g]kfndf /x]sf sfg'g Jofj;foLx¿sf] k|sf/ n]Vg'xf];\ . 

Write down the categories of lawyers in Nepal.  

 

11. sfg'g Jofj;foLsf] cfrf/ ;+lxtf eg]sf] s] xf] < b'O{ jfSodf n]Vg'xf];\ . 

What is the code of conduct for lawyers? Write down in two sentences.  

 

 

;d"xævÆ(Group 'B') 

-;+lIfKt pQ/fTds k|Zgx?/Short answer questions)    85=40 

 

12. sfg'gsf] s'g} tLg cfofdsf] af/]df j0f{g ug{'xf];\ . 

Describe any three dimensions of law. 

13. s:tf] k|sf/sf] sfg'gL k|0ffnLnfO{ ;dfhjfbL sfg'gL k|0ffnL elgG5 < ;dfhjfbL sfg'gL 

k|0ffnLsf] s'g} tLg ljz]iftf pNn]v ug'{xf];\ . 

What type of legal system is called the Socialist Legal System? Write down any three 

features of the Socialist Legal System.  

 

14. tkfO{Fsf] l5d]sdf Ps hgf Psn dlxnf a;f]jf; ug'{x'G5 . h;sf] >Ldfg ljt]sf] !) 

jif{eGbf a9L eO;s]sf] 5 . lxGb" wd{cg';f/ ljjfx Ps wfld{s ;+:sf/ xf] h;df Ps 

k'?if / dlxnf ;fdflhs, cfWoflTds, zf/Ll/s ;a} lsl;dn] :yfoL ;DaGwdf afFlwPsf 

x'G5g\ . tkfO{n] sfg'g cWoog ug'{ ePsf]n] tL l5d]sL dlxnfn] csf]{ ljjfx ug'{x'G5 ls 

x'Gg eg]/ tkfOF{nfO{ ;f]Wof] eg] pgnfO{ s] ;'emfj lbg'x'G5 < 

One of your neighbours is a single woman. It has been more than 10 years since her 

husband passed away. According to Hinduism, marriage is a religious ceremony in 

which a man and a woman are bound in a permanent relationship socially, spiritually and 

physically. Since you have studied law, if the neighbouring woman asked you whether 

she should get married again or not, what would you suggest to her? 

cyjf(Or) 

lxGb" sfg'gsf ;|f]tx¿sf] af/]df lgaGw n]Vg'xf]; . 

Write an essay on the sources of the Hindu law. 

15. g]kfnL sfg'g k|0ffnLdf /fd zfxsf] s] of]ubfg 5 < 5f]6s/Ldf n]Vg'xf]; . 

What are the contributions made by Ram Shah in the Nepalese Legal system. Explain in 

brief. 

 

16. tkfO{Fsf] cfkmGtsf] a'afsf] d[To' eP/ cbfntn] lbPsf] Dofbleq pxfF cbfntdf pkl:yt 

x'g ;Sg'ePg . o:tf] cj:yfdf ;f] cfkmGtn] æcfkm\gf] wfld{s k/Dk/fcg';f/ sfhlqmof 
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a:g'kg]{ x'G5, s] d}n] Tof] ;a sfo{ ;s]kl5 cbfnt hfFbf x'G5 <Æ eg]/ ;f]w] eg] 

;dfwfgsf] pkfo s;/L atfOlbg'x'G5 < 

Due to the death of your relative's father, he could not appear in the court within the time 

frame given by the court. In such a situation, the relative said, "According to religion, we 

have to perform the rituals as per custom. Can I go to the court after the completion of 

rituals?" What do you suggest in this regard?  

 

17. g]kfnsf] sfg'g k|0ffnLdf ;dfhjfbL sfg'g k|0ffnL / wfld{s sfg'g k|0ffnLsf] k|efjaf/] 

t'ngf ug'{xf];\ . 

Compare the influence of Socialist Legal System and Religious Legal System over the 

Nepalese Legal System.  

 

18. xfnsf] g]kfnL sfg'gL lzIffsf] k|j[lQnfO{ ljZn]if0f ug'{xf];\ . 

Analyze recent trends of legal education in Nepal.  

 

19. sfg'g Jofj;foLn] lsg sfnf] sf]6 nufpF5g\ < 5f]6s/Ldf j0f{g ug'{xf];\ . 

Why do lawyers wear black coats? Explain in brief.  

cyjf(Or) 

sfg'g Jofj;foLnfO{ lsg ;fdflhs cleoGtf elgG5 < 5f]6s/Ldf pNn]v ug'{xf]; . 

Why are the lawyers called the Social Engineers? Explain in brief. 

 

;d"xæuÆ(Group 'C') 

-lj:t[t pQ/fTds k|Zgx?/Long answer questions)         83=24 

 

20. æsdg sfg'gL k|0ffnLÆ eg]sf] s] xf] < o;sf] ljz]iftf ;lxt JofVof ug'{xf]; . 

What is "Common Legal System"? Explain along with its characteristics. 

cyjf(Or) 

æl;len sfg"gL k|0ffnLÆ eg]sf] s] xf] < o;sf] ljz]iftf ;lxt JofVof ug'{xf]; . 

What is "Civil Legal System"? Explain along with its characteristics. 

 

21. g]kfnsf] ;+j}wflgs ljsf; qmdsf] af/]df ;+If]kdf pNN]v ug'{xf]; . 

Describe briefly the constitutional development of Nepal.  

 

22. j}slNks ljjfb ;dfwfgåf/f b'O{ kIfaLrsf] ljjfb s;/L ;dfwfg ug{ ;lsG5 < o; 

;DaGwdf g]kfnsf] k|rlnt sfg'gsf] cfwf/df JofVof ug'{xf];\ .  

How can a dispute between two parties be resolved through Alternative Dispute 

Resolution? Explain on the basis of prevailing laws of Nepal in this regard. 

-0- 
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Model Question  

Instructional Pedagogy and Evaluation 

ljBfyL{x¿n] ;s];Dd cfkm\g} zAbdf pQ/ lbg' kg]{5 . bfFof lsgf/fdf lbOPsf cªsn] k"0ff{ªs hgfpFb5 .  

Candidates are required to give their answers in their own words as far as practicable. The figures in the 

margin indicate full marks. 
 

Time: 3 hrs.          Full Marks: 75 
 

;a} k|Zgsf] pQ/ lbg'xf]; . (Attempts all questions.) 

;d"x s (Group A) 

clt ;+lIfKt pQ/fTds k|Zgx¿ (Very short answer questions.)                                               (111=11) 
 

1. ælzIf0f zf:qÆsf] zflAbs cy{ pNNf]v ug'{xf];\ . 
State  etymological meaning of the term “pedagogy”.   

2. jflif{s sfo{ of]hgfdf ;dfj]z ul/g] s'g} b'O{ kIfx¿ pNn]v ug'{xf];\ .   

Mention any two aspects which contain in annual work plan.  

3. lg0f{ofTds d"Nofª\sg  s'g k|of]hgsf nflu pkof]u ul/G5 < 

For what purpose summative evaluation is used ?  

4. a:t'ut k|Zgsf k|sf/x¿sf] ;"rL agfpg'xf];\ .  

List out the various types of objective test items.  

5. k|Zgsf] sl7gfO{ :t/ eGgfn] s'g s'/fnfO{ hgfpF5 < 
what is meant by difficulty level of an item  

6. tkfO{Fsf] ¿lrsf] ljifodf Pp6f  z}Ifl0fs p2]Zo lgdf{0f ug'{xf];\ .  

Prepare an instructional objective in your subject of interest.   

7. cfwf/e"t tx -sIff !–#_ sf nflu s'g d"Nofª\sg ljlw pko'Qm x'G5 < 

Which evaluation method would be appropriate for basic level (grade 1-3) ?  

8. ljBfyL{x¿sf] s:tf Jojxf/sf] d"Nofª\sg  ug{sf] nflu ¿h' ;"rL k|of]u ul/G5 < 

For assessing which types of behavior checklist can be used ?  

9. x]/]/ d"Nofª\sg ug{'kg{] s'g} Pp6f Jojxf/ sf] gfd pNn]v ug{'xf];\ . 

Mention any one behavior that can be assessed only by observation.  

10. ljBffyL{x¿nfO{ kl/of]hgf sfo{df ;+nUg u/fpgsf] nflu pko'Qm x'g] s'g} Ps zLif{s 5gf}6 

ug{'xf];\ . 

Select an appropriate topic for involving students in project work .  

11. lg/Gt/ d"Nofª\sg k4lt sfof{Gjogsf] qmddf cfpg ;Sg] s'g} Pp6f ;d:of pNn]v ug{'xf];\ .  

Identify any one problem we may face during implementation of continuous assessment 

system.  

 

;d"x v (Group B) 
;+lIfKt pQ/fTds k|Zgx¿ (Short answer questions)                                                               (85=40) 
 

12. ;+1fgfTds If]qsf] ljleGg txx¿sf] ;"rL agfO{ k|To]s txsf] nflu pko'Qm Ps–Ps lqmofkb 

pNn]v  ug'{xf];\ . 



List out the different levels of cognitive domain and mention one active verbs for each level. 

OR 

PsfO{ of]hgfsf] klro lbg'xf];\ < sIff lzIfsn] PsfO{ of]hgf tof/ ubf{ s] s] s'/fx¿ 

;dfj]z ug{'k5{ , ;"rL agfpg'xf];\ .  

Introduce unit plan what matters should a teacher include while preparing an unit plan ? 

Prepare a list. 

 

13. 5kfO{ ;fdu|Lsf] kl/ro lbP/ sIff lzIf0fdf k|of]u ug{ ;lsg] s'g} tLgj6f 5kfO{ ;fdu|Lsf] 

pbfx/0f lbg'xf];\ .  

Introduce printed materials. Mention any three printed materials that are appropriate for 

classroom teaching. 

14. tkfOF{sf] :yfgLo :t/df dgfOg] s'g} Ps rfF8÷kj{sf] af/]df ljBfyL{x¿nfO{ cWofkg u/fpg' 

k/]df  s:tf ;fdu|L, s;/L k|of]u ug{'x'G5 < k|of]u ug{]  ljlw n]Vg''xf];\ .  

If you have to teach one of your local festival, which materials will you choose the teach that 

festival ? Also state the method for using these materials.  

15. ljBfyL{ s]lGb|t lzIf0f ljlwsf] kl/ro lbO{ pQm ljlw k|of]u ubf{ ljBfyLx¿n] sIffsf]7fdf ug{] 

s'g} tLgj6f lqmofsnfkx¿ pNn]v ug'{xf];\ . 

Introduce student centered method of teaching and also state any three activities students 

perform in the classroom.  

16. :yfgLo wfld{s :ynsf] af/]df cfwf/e"t tx -sIff ! –#_ df  lzIf0f ug{'k/]df lzIfssf] 

gftfn] tkfO{F s'g lzIf0f lalw 5gf}6 ug'{x'G5 < /, To;df tkfO{Fn]  u/fpg] s'g} kfFrj6f 

lqmofsnfk pNn]v ug'{xf];\ . 

If you have to teach about local religious place to basic level students (grade 1-3) , which  

instructional method will you choose and what activities will you carry on ? State any five 

activites. 

17. Eff}ltsdfkg h:tf] dgf]j}1flgs dfkg j:t'lgi7 xF'b}g lsg < s'g} kfFrj6f sf/0f n]Vg'xf];\ . 
“Psychological measurement is not as accurate as physical measurement.” Why ? Explain in 

five points.  

OR 

d"Nofª\sg  s'g s'g p2]Zosf nflu pkof]u ug{ ;lsG5 < :ki6 kfg'{xf];\ .  

For what purposes evaluation can be used ?   

18. ljBflyL{x¿sf] lgoldt cWoog ug{] aflgsf] d"Nofª\sg  ug{sf] nflu pko"Qm x'g] Pp6f ¿h' ;"rLsf] gd'gf 

tof/ kfg{'xf];\ .  

Prepare a model of  check list appropriate  for assessing regular study habit of  students.  

19. lg/Gt/ d"Nofª\sg  k¢ltsf tTjx¿sf] ;"rL lgdf{0f u/L s'g} Pp6f tTjsf] kl/ro lbg'xf];\ .  

Make a list of different components of continuous assessment and introduce any one of them.  

 

;d"x …uÚ (Group 'C') 
lj:t[t pQ/fTds k|Zgx¿÷Long answer questions.                                                                (38=24) 

20. Dffgf} tkfOF{sf] sIffdf hflto, eflifs ;f+:s[lts ljljwtf 5 . o:tf] sIffdf ljBfyL{x¿nfO{ 

l;sfO{df ;s[o ;xefuL u/fpg s] s] ug{'knf{ < 

Suppose there are diversified students in terms of caste, ethnicity, culture, language, etc. in 

your classroom. What do you do to actively involve students in learning ? 



21. Dffgf} tkfOF{ Pp6f ljifodf k|Zgkq lgdf{0f ub}{ x'g'x'G5 . pko"St k|Zgkq tof/ ug{ tkfO{F s'g 

s'g r/0fx¿ cjnDag ug'{x'G5 < tkfO{nfO{ dg kg{] ljifodf Pp6f k|Zgkq tof/ kfg{'xf];\ .  

Suppose you are going to prepare a set of test items in a subject. What process would you 

follow while preparing the set¿ Also prepare one question in subject of your interest.   

OR 

tkfO{FnfO{ k/LIff ;+rfngsf] lhDdf lbPdf pQm sfo{ k|efjsf/L ¿kdf k"/f ug{ tkfOF{  s] s] 

ug{'x'G5, ;"rL agfpg'xf];\ .    

If you are given responsibility of administrating test, what steps would you adopt for this   

task.   

22. ;fdflhs lzIff;Fu ;DalGwt nfdf] pQ/ cfpg] s'g} Pp6f k|Zg lgdf{0f u/L To;sf nflu 

pt/s'l~hsf ;d]t lgdf{0f ug'{xf];\ .  

Prepare a long answer question on Social Studies subject  and also prepare a scoring key  for 

examining  its  answer .   

-0- 



NEB-XII 

2079 (2023) 

Model question  

Biology 

 

Candidates are required to give their answers in their own words as far as Practicable. The figures in the 

margin indicate full marks. 

 

Time: 3 hrs.                         Full marks: 75 

 

Attempt all the questions. 

Section:  I (Botany) 

Group ‘A’ 

Rewrite the correct options of each question in your answer sheet.      5x1=5 

1. What type of development of an embryo from an unfertilized egg is called?  

A) Parthenocarpy 

B) Parthenogenesis 

C) Polyembryogeny 

D) Polycarpy 

2. Which one of the following parts is responsible for transpiration in plants?     

A) Root 

B)   Stem 

C)   Leaves 

D)  All aerial parts  

3. Which type of mutation is caused by the addition or deletion of a single nitrogenous base?   

A)  Transition     

B)  Transversion 

C)  Frame shift     

D)  Substitution 

4.   What basis would you apply to distinguish a meristematic tissue from a permanent tissue?   

A)  Supporting plant                                

B)   Providing   food  

C)   Activating cell division                    

 D)  Losing ability of cell division 

 

   5.  Some of the C4 plants possess diagnostic features of  Kranz anatomy. Select which of the following plant contains 

such features?            

A)  Wheat       

B)  Maize 

C)  Barley 

D)  Sugarcane 
 

Group ‘B’ 
 

Give short answer to the following questions.        4x4=16 

6.  Define vascular bundle. What type of vascular bundle is present in monocot root? Mention any two functions of 

vascular bundle.          (1+1+2)    

 

Sub code: 2021 



 

7. Study the given figure carefully and answer the following questions.      (1+2+1)    

 

i. Identify the given figure.  

ii. Name the parts A to D.  

iii. State the function of part D.  

 

 

 

 

 

 

8. If  you are assigned to make a Watson and Crick model of DNA,  what essential  components do you apply to 

make the exact structure of  the DNA.         (2+2)  

 

OR 

 Assuming you are provided seeds for germination, which  influencing parameters  you need to follow for  

normal germination? What would happen   when seeds are kept in low temperature?    (3+1)   

9. Biotechnology is an emerging discipline in this era. Would you think can it be used to mitigate the problem of    

food scarcity in context to Nepal? Justify your opinion.       (4)   

 

Group ‘C’ 

Long answer questions.                                2x8=16 

10. Three German biochemists Embden, Meyerhof and Paranas (EMP) worked out a pathway which involved the 

formation of pyruvic acids from a glucose molecule. Identify this pathway. Name the site where this pathway 

takes place in a cell. Construct  a step by step pathway developed by them. List the net gain of ATP in this 

pathway.                     (1+1+5+1)                   

11. Semi conservative mode of DNA replication is the most common mode of replication which results in two 

identical daughter DNA molecules. Explain various enzymes and mechanism involved during this process with 

necessary diagrams.           (2+4+2)   

OR 

 “Genes are inherited in new combination due to crossing over in the gametes”. Interpret  this statement with its 

mechanism and necessary diagrams. Assess its significance also.      (4+2+2)   

 



 

Section: II (Zoology) 

                                                  Group ‘A’ 

            6x1=6 

12. Which of the following tissue lacks blood supply?          

      A)  Areolar                                              

      B)  Muscular 

      C)  Bone                                                     

      D)  Cartilage 

13. In frog, coelom is derived from which embryonic layer?        

        A)  Ectoderm                                                 

        B)  Mesoderm 

        C)  Endoderm                                                  

       D)  Mesogloea 

14. What kind of enzyme is needed for digestion of milk protein in human beings?  

         A)  Rennin                                                 

         B)  Lactase 

         C)  Pepsin                                                  

         D)  Sucrase 

15. Which one of the following sets contains the bacterial disease only?       

A)  Hepatitis, influenza, cholera   

B)  Cholera, typhoid, candidiasis 

C)  Tuberculosis, typhoid, cholera   

D)  Tuberculosis, cholera, candidiasis 

16. If  the cerebellum of a person gets injured, it will have effect on  which of the following physiological  function? 

         

A)  respiratory  ability.                         

B)  body movement 

C)  memory  function                            

D)  smelling power  

 



17. Vas deferens transport spermatozoa from cauda epididymis to ejaculatory duct. What happens when the vas 

deferens of a male is surgically disconnected?           

A)  Sperms become non-motile                      

  B)  Sperms lack nuclei 

  C)  Seminal fluid is without sperms                 

  D)  No spermatogenesis occurs 

                                                          Group ‘B’ 

Give short answer to the following questions.        4x4=16 

18. Define blastulation. Write down the process of blastulation during the development of frog.        (1+3)   

OR                                                                                                    

What is immunity? Explain its type.                    (1+3)   

19. Study the given figure carefully and answer the following questions.                                     (1+1+2)                                                                                                       

i. Identify the gland.   

ii. Where is it located?                                                                             

iii. Mention any two hormones secreted by it.   

     

20. Compare and contrast areolar and adipose connective tissues.      (2+2)      

 

21. Peer pressure plays a negative role in provoking smoking habits in adolescents. As a school captain, plan any 

two activities you would like to organize with the help of senior students and any other two activities you would 

like your school authorities to organize for the students to tackle this problem.    (2+2)      

                                                                              Group ‘C’ 

 Give long answer to the following questions.             (2x8=16) 

22. Why typhoid is called enteric fever? Illustrate its causative agent, mode of transmission, symptoms and 

preventive measures.                        (1+1+2+2+2 )      

23. A human being usually take complex foods in her/his diet. However, our body needs its simpler form. Describe 

how the complex foods are converted into simpler forms within alimentary canal. Draw it with a well labeled 

diagram of alimentary canal. What would happen in digestion if the gall bladder is removed surgically?      

                                                                                                                                      (4+ 2+ 2)         

                                                                                   OR         

 On oxidation of glucose in the cells, CO2 is released as a by-product. This CO2 is carried to the lungs for 

elimination. Explain how the transport of CO2  take place in human body? What is the role of carbonic 

anhydrase enzyme? Mention the significance of diaphragm in breathing?          (5+1+2)                             

-0- 
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Model question  

Education and Development 

ljBfyL{x¿n] ;s];Dd cfkm\g} zJbdf pQ/ lbg'kg]{5 . bfofF lsgf/df lbOPsf] c+sn] k"0ff{Í hgfpFb5 . 

Candidates are required to give their answers in their own words as far  as practicable. The figures in the 

margin indicate full marks.  

Time: 3 hrs.          Full marks: 75 

;a} k|Zgsf] pQ/ lbg'xf];\ (Attempt all the question.) 

;d"x …sÚ(Group "A") 

clt ;+lIfKt pQ/fTds k|Zgx¿/Very short answer questions.     !!x !=!! 

1. ljsf;df s:tf kl/jt{gx¿ b]vfk5{g, s'g} b'O{ pbfx/0fx¿ pNn]v ug{'xf];\ .   

What types of changes take place  in development  ?  Mention any two examples. 

2. xfdLnfO{ lbuf] ljsf; lsg cfjZos 5 < s'g} Pp6f sf/0f lbg'xf];\ .   

Why do we need sustainable development ?  State one reason.  

3. ;dfhsf] kl/efiff lbg'xf];\ . 

Define society. 

4. gful/s lzIffsf] s'g} Ps dxTj n]Vg'xf];\ .  

state  any one importance of civic education. 

5. lzIffdf b]vfkg{  ;Sg] s'g} b'O{ ljljwtfsf] pbfx/0fx¿ lbg'xf];\ .  

Present any two examples of diversity that prevails in education sector. 

6. lzIffsf nflu ;|f]t kl/rfngsf b'O{ pkfox¿ n]Vg'xf];\ . 

List out any two ways of resource mobilization for education. 

7. tkfO{Fsf] If]qdf pknAw ;|f]tx¿sf] kl/rfngdf :yfgLo ;/sf/ -gu/kflnsf jf ufpFkflnsf_ n] v]Ng ;Sg] s'g} b'O{ 

e"ldsfx¿ pNn]v ug{'xf];\ .  

State any two roles of the local government (Municipality or Rural Municipality) might 

play for mobilization of local resources available in your locality. 

8. z}lIfs of]hgfsf] kl/efiff lbg'xf];\ . 

Define educational planning. 

9. /f0ffsfnLg cjlwnfO{ lsg lzIffsf] lj/f]w sfn elgPsf] xf]  < Pp6f sf/0f lbg'xf];\ . 

Why the Rana era is labelled as “opposition period of education”? Present one  reason. 

10. clgjfo{ lzIffcGtu{t s:tf s'/fx¿nfO{{ clgjfo{ ul/Psf] x'G5 <s'g} b'O{j6f pNn]v ug{'xf];\ .  

 What things/conditions are made mandatory to make education compulsory ? State any 

two.  

11. sIffsf]7fdf ljljwtfsf] Joj:yfkgsf] nflu ckgfpg]   s'g} Ps pkfo n]Vg'xf];\ . 

Mention any one way adopt for diversity management in classroom¿ 

 

;d"x …vÚ(Group "B") 

 

;+lIfKt pQ/fTds k|Zgx¿/Short answer questions.    *x%=$) 

12. lbuf] ljsf;sf] bf];|f] nIo æ;j}sf] lglDt vfg] kfgLÆ / æ;/;kmfO{ Æ ;Gbe{df tkfOF{ cfkm\gf] 3/df ;kmf kfgL / ;/;kmfO 

Joj:yf sf] nflu s] s] ug{' x'G5 sfo{ ;"rL tof/ kfg{'xf];\ .  



 SDG 2 is concerned with “drinking water for all” and “ sanitation” . What would you do 

to manage household  drinking water and sanitation , Prepare a working list for this 

purpose.  

cyjf (Or) 

lbuf] ljsf;sf] kfFrf} nIocGtu{t n}+lus ;dfgtf sfod  ug{sf] nflu tkfO{Fn] ckgfpg]  pkfox¿sf] ;"rL tof/ 

kfg{'xf];\ . 

List any five techniques you would adopt to maintain gender equality as provisioned in 

fifth sustainable development goal SDG.  

13. hg;xeflutfsf] cy{ :ki6 kf/L tkfO{Fsf] ;d'bfodf lzIffsf] nflu hg;xeflutf j[l4 ug]{ rf/j6f pko'Qm ;'emfjx¿ 

n]Vg'xf];\ .   

Elucidate the meaning of people’s participation. Suggest four measures to promote 

people’s participation for educational development in your community.  

14. ;dfj]zL lzIffsf rf/ pkfox¿sf] ;"rL agfpg'xf];\ . 

List out any four techniques for inclusive education. 

15. zflGt lzIffn] lbuf] ljsf; ug{ s;/L ;3fFp5 < 

How does peace education enhance for sustainable development¿  

16. ljBfnon] zflGtsf] nflu s:tf Jojxf/x¿ l;sfpg'k5{ xf]nf ts{ k|:t't ug{'xf];\ .  

For maintaining peace, what behaviors, you think, should a school teach to students? Give 

your arguments. 

17. tkfO{+sf] ;d'bfodf ePsf ljBfnosf] ljsf;sf nflu s:tf  ;|f]tx¿ pknJw 5g\ < ljj/0f lbg'xf];\ .  

What types of resources are available for school development in your community ? 

Describe. 

cyjf (Or) 

z}lIfs nufgLsf ;|f]tx¿ pNn]v ug'{xf];\ . 

Explain sources of investment in education.  

18. g]kfndf  ;fd'bflos -;/sf/L _ /  lghL -;+:yfut_ ljBfno ;+rfngdf 5g\ . oL b'O{aLrsf] kf+rj6f leGgtfx¿ 

5'§\ofpg'xf];\ .   

There are  community and private schools in Nepal. State any five differences between 

community and private school.  

19. tkfO{FnfO{ Ps sIffdf lzIf0f ug{ lbPdf tkfO{Fn] ug]{ kfFrj6f sfo{snfkx¿ k|:t't ug{'xf];\ .  

If you are assigned to teach in Grade One, list out five activities you would do ?   

 

;d"x …uÚ(Group "C") 

lj:t[t pQ/fTds k|Zgx¿/Long answer questions.      # x *= @$ 

20. lzIff k|fKt u/]/ klg a]/f]huf/ eP/ j:g'kg{] cj:yf g]kfnsf nflu hl6n ;d:of jg]sf] 5 . g]kfnsf] ;fdflhs, cfly{s 

/ dfgj ;|f]t ljsf;sf cfofdx¿sf cfwf/df ;f] ;d:of cfpg'sf sf/0fx¿ s] s] x'g ;Snfg\ pNn]v ug{'xf]; .   

Increasing number of educated but unemployed people has been one of the pressing issues 

for  Nepal. Locate the causes of such problem with reference to the social, economic and 

human resource conditions of Nepal.  

21. hg cfwfl/t ljsf;sf] cy{ k|:t't u/L tkfO{+ Ps ;s[o ;fdflhs sfo{stf{sf] ¿kdf hgcfwfl/t ljsf;sf] nflu sfd 

ug{'k/]df s:tf d"No dfGotfx¿ kfngf ug{'x'G5 < ljj/0f tof/ kfg{'xf]; .   

State the meaning of pro-people development. As an active social worker what norms and 

values would you adopt for pro-people development in your community? Explain. 

cyjf (Or) 

tkfO{sf] :yfgLo If]qdf /x]sf ;fj{hlgs ;/f]sf/sf s'g} b'O{ If]qx¿ pNn]v u/L o:tf If]qx¿df gful/s ;r]tgf hufpg 

tkfO{ s] s] ug{' x'G5 ljj/0f tof/ kfg{'xf]; .    

Identify any two matters of public concern in your locality.What action would you take for 

raising public awareness toward such concerns. 

22. tkfO{+sf] cfkm\gf] :yfgLo ljBfnosf] ;'wf/sf] nflu ljBfno ;'wf/ of]hgfsf] 9fFrf tof/ ug'{xf];\ .  
Prepare a model of “school improvement plan” for improving school in your locality.  
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Subject Code: 2101 

NEB-XII 

2079 (2023) 

Model Question 

Legal Drafting 

 

ljBfyL{x¿n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfof“ lsgf/fdf lbOPsf] cª\sn] 
k"0ff{ª\s hgfp“b5 .(Candidates are required to give their answers in their own words as far as 

practicable. The figures in the margin indicate full marks.) 

Time: 2 hrs. Full Marks: 50 

 

समूह “क”(Group 'A') 

(अति संतिप्त उत्तरात्मक प्रश्नहरु/Very short answer questions)   9 

1. sfg'g मस्यौदाको पररभाषा छोटकरीमा ददनुहोस् । 
 Define Legal Drafting in short. 

2. थुनछेकको आदशे भन्नाले के बुतझन्छ ? 
 What does the Detention Order mean ? 

3. वारेसनामा दकन उपयोगी छ, दईु वाक्यमा लेख्नुहोस् । 
 Why is Power of Attorney useful ? Write in two sentences. 

4. बकस पत्रको प्रकारह¿ उल्लेख गनुुहोस् । 

 Mention the types of Deed of Will.  

5. जमानि तलखि कुन उद्देश्यका लातग प्रयोग गररन्छ ? 
 For what purpose „Deed of Bail‟ is used ? 

6. करारपत्र भनेको के हो ? छोटकरीमा लेख्नुहोस । 
 What is a „Contract Paper‟ ? Write in brief. 

7. सट्टापट्टा तलखिमा आवश्यक पने २ वटा ित्वह¿ उल्लेख गनुुहोस् । 
 Trace out two requirements of Exchange Deed.  

8. अनुमति पत्र भनेको के हो ? 
 What is a „No-Objection Letter‟ ?  

9. मुचुल्काको पररभाषा छोटकरीमा ददनुहोस् । 
 Define Recognizance (Muchulka) in short. 

समूह “ख”(Group 'B') 

(संतिप्त उत्तरात्मक प्रश्नह¿/ Short answer questions)    5 

10. sfg'g मस्यौदाका आधारभूि तसद्धान्िह¿बारे छोटकरीमा वर्ुन गनुुहोस । 
   Describe the basic principle on techniques of Legal Drafting in brief.  

11. जाहरेी दरखास्िको मस्यौदा ियार पादाु ध्यान ददनुपने कुराह¿ के-के हुन ्? 
  What are the points to be considered while drafting First Information Report 

(FIR)? 
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12. बैनाबट्टा मस्यौदाको एउटा नd'gf ियार गनुुहोस् । 
  Prepare a sample of Deed of Advance Payment.  

अथवा(Or) 

  सट्टापट्टा मस्यौदाको एउटा नम'ना ियार गनुुहोस् । 
  Draft a sample of Exchange Deed. 

13. सम्पतत्त तबक्रीको तसफाररश पत्र र नागररकिाको तसफाररश पत्रबीच िुलना गनुुहोस् ।   
 Compare the „recommendation letter for citizenship‟ and „recommendation 

letter for sale of property‟.  

14. हातजर हुने तनवेदनको मस्यौदा नमूना ियार गनुुहोस् । 
 Make a sample of application for request to appear.  

समूह “ग” (Group 'C') 

(तवस्िृि उत्तरात्मक प्रश्नह¿/Long answer questions)    2 

15. “फौजदारी मुद्दामा अतभयोग पत्र दिाुसंगै अदालिी प्रकृयाको औपचाररक ;'रुवाि हुन्छ" 

भन्ने भनाइलाई पुष्टी गनुुहोस् । अतभयोग पत्र ियार गदा ुआवश्यक पने कुराह¿को बारेमा 

तववेचना गनुुहोस्  । 
 Justify the statement “With the registration of a charge sheet, court procedure of a 

criminal case formally begins.”Critically analyze the points to be considered while 
preparing the charge sheet.  

अथवा(Or) 

 “मुद्दा तनरूपर्का लातग बहस नोट सहयोगी तलखि हो” भन्ने भनाइलाई पुष्टी गनुुहोस् । 

बहस नोट ियार पादाु चातहने आवश्यक कुराह¿का बारेमा प्रकाश पानुुहोस्  । 

 “Pleading Note is a helpful deed for deciding a case.” Justify the statement. 
Illustrate the points to be considered while preparing a pleading note.    

16. व्यतिगि लेनदनेसम्बGwL तलखि भनेको के हो ? कपाली िमसुकको मस्यौदाको नम'gf 

ियार गनुुहोस् । 
 What is meant by private transaction document ? Prepare a sample of Loan Deed.  
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NEB- GRADE XII 

Model Question 

2079 (2023) 

Sociology 

 

ljBfyL{x¿n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfofF lsgf/fdf lbO{Psf] c+sn] k"0ff{+s hgfpFb5 . 

Candidates are required to give their answer in their own words as far as practicable . The 

figures in the margin indicate full marks. 

Time: 3 Hrs.         Full Marks: 75 

;a} k|Zgsf] pQ/ lbg'xf];\ . ( Attempt all the questions.) 

 

;d"x s ( Group A) 

-clt ;+lIfKt pQ/fTds k|Zgx¿ / Very Short Answer questions)       11x1=11 

!=alxis/0fsf] s'g} Pp6f sf/0f n]Vg'xf];\ . (Writeany one reason for exclusion?) 

@= tkfOF{sf] ;d'bfodf j;f]jf; ug]{ dflg;x¿n] hLljsf]kfh{gsf lglDt canDag ug]{ d'Vo k]zf s'g xf] < Ps 

jfSodf n]Vg'xf];\ . (Which one is the main occupation followed by the people in your 

community for their livelihood? Write in one sentence.)  

#= tkfO{Fsf] l5d]sdf ljk|]if0fsf] ¿kdf lelqPsf] j}b]lzs d'b|fnfO{ s'g If]qdf nufgL ubf{ ;DalGwt kl/jf/n] al9 

nfe lng ;Snf < lsg < Ps jfSodf n]Vg'xf];\ . (Which is the best area to invest the foreign 

currency that a family in your neighborhood receives as remittance? Why? Write 

in a sentence.)  

$= j}b]lzs /f]huf/Ldf /x]sf] ;+nUgtf g} g]kfnL kfl/jfl/s ljv08gsf] d'Vo sf/0f xf] eGg] s'/fnfO{ Ps jfSodf 

k'li6 ug'{xf];\ . (Involvement in the foreign employment  as the main reason of family 

disintegration in Nepal. Justify in one sentence.)  

%= a;fO;/fO{ eg]sf] s] xf] < cfkm\gf] zAbdf n]Vg'xf];\ . (What is migration? Write in your own 

words.)  

^= a;fO;/fO{sf s'g} b'O{ sf/0f pNn]v  ug'{xf];\ . (Mention any two causes of migration.)  

&= ljsf;nfO{ kl/eflift ug'{xf];\ . (Define Development.)  

*= ljsf; k|lqmofsf s'g} b'O{ p2]Zox¿ pNn]v ug'{xf];\ . (State any two objectives of 

development.) 

(= g]kfndf k|fb]lzs ljsf;sf] s'g} Ps ;Defjgfsf] klxrfg ug'{xf];\ . (Identify any one possibility of 

provincial development in Nepal.) 

!)=d'n'sL P]g eg]sf] s] xf] < Ps jfSodf n]Vg'xf];\ . (What is Muluki civil code ?Write in a 

sentence.) 
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!!=tkfOF{sf] ;d'bfodf /x]sf] hftLo lje]b cGTo ug{ d'n'sL P]g, @)&$ nfO{ s;/L pkof]u ug'{x'G5 < Ps 

jfSodf n]Vg'xf];\ . (How do you use civil (Codified) code–2074 to eliminate caste 

discrimination that exists in your community? Write in a sentence.) 

 

;d"x v ( Group B) 

-;+lIfKt pQ/fTds k|Zgx¿ / Short Answer questions)       8x5=40 

!@= ;fdflhs kl/jt{g eg]sf] s] xf] < ;dsfnLg g]kfnL ;dfhdf k/Dk/fut k]zf jf Joj;fodf dfq 

dflg;x¿sf]  ;+nUgtf /xg g;Sg'sf s'g} tLgsf/0f pNn]v ug'{xf];\ . (What is social change? 

Point out any three causes of people not being involved only in the traditional 

occupation in contemporary Nepalese society.) 

!#=“ljljwtfdf Pstf g]kfnL ;dfhsf] klxrfg xf] .” s'g} pko'Qm pbfx/0f;lxt JofVof ug'{xf];\ . (“Unity in 

diversity is the identification of Nepalese Society.” Explain with any suitable 

example.) 

Or 

 /fp6] hfltsf] 5f]6f] kl/ro lbFb} pgLx¿sf] hLjgz}nLsf jf/]df n]Vg'xf];\ . (Write down about the 

livelihood of Raute with their brief introduction.) 

!$= g]kfndf kl/jf/sf]  ljv08gn] ;[hgf u/]sf s'g} @ j6f ;d:ofx¿sf jf/]df JofVof ug'{xf];\ . (Describe 

any two problems created by the separation of family in Nepal.)  

!%=g]kfndf kl/jlt{t ljjfx / k/Dk/fut ljjfxsf aLrdf pbfx/0f;lxt s'g} $ j6f cGt/ n]Vg'xf];\ . (Write 

any four differences between traditional and modern marriage system in Nepal 

with example.) 

!^=g]kfndf ;+3Lotfsf] Jojyf;Fu} :yfgLo ;/sf/n] ljleGg lsl;dsf of]hgfx¿ lgdf{0f u/L sfof{Gjog ug{ ;Sg] 

s'/fsf] k|fjwfg ul/Psf] 5 . o;} s'/fnfO{ dgg\ ub}{ s]lx jif{b]lv :yfgLotxdf o:tf sfdx¿ eO/fv]sf 5g\ 

. o;/L :yfgLo txdf g} of]hgf lgdf{0f u/L sfof{Gjog ubf{ cfdgful/sx¿nfO{ s]–s:tf kmfObfx¿ xf]nfg\ 

< k|i6 kfg'{xf];\ . (With the provision of federal system in Nepal, local government 

can develop and implement different types of plans at local level.In this regard, 

what types of benefits would general people receive from these plans ? Clarify.) 

!&= tkfO{Fsf] l5d]sdf ;DklQsf] c+zj08fsf af/]df ljjfb ul//x]sf] Pp6f kl/jf/nfO{ pQm ;d:of ;dfwfg ug{ 

d'n'sL P]g cWoog u/]sf] ljBfyL{sf gftfn] s] s:tf ;'emfjx¿ lbg'x'G5 <(Based on civil code, 

what suggestions would you give to a family of your neighborhood to settle 

down their conflict on separation of assets?) 
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!*= ;fdflhs cg';Gwfgdf k|:tfj eGgfn] s] a'lemG5 < o;sf tTTjx¿sf] ;"rL agfO{ s'g} Pssf] JofVof 

ug'{xf];\ . (What is proposal in social research? List out its elements and explain any 

one of them.) 

!(="bfOhf] k|yfn] g]kfnL ;dfhdfkf/]sf] k|efj" zLif{sdf ;j]{ cg';Gwfg ub}{ x'g'x'G5 . To;sf nflu tYofª\s 

;ª\sng ug{ pkof]uL x'g] s'g} kfFrj6f k|Zgx¿sf] ;"rL tof/ ug'{xf];\ . (You are going to carry 

out a survey research in "the impact of dowry system in Nepalese society". 

Prepare a list of any five questions that can be used to collect data for this 

research.) 

Or 

tkfO{Fn] cfkm\gf] sIffdf cWoog ug]{ 5fqfx?sf] bfOhf] k|yfk|ltsf] b[li6sf]0f a'em\g] p2]Zon] Pp6f ;j]{ 

cg';Gwfg ub}{ x'g'x'G5 . o;sf nflu pQm cg';Gwfgsf] s'g ljlw k|of]u ug'{x'G5 < lsg < k|i6 kfg'{xf];\ . 

(You are going to conduct a survey research to understand the perspective of girl 

students towards dowry system from your class. In this regard, which survey 

method do you use? Why? Clarify.) 

 

;d"x u ( Group C ) 

-lj:t[t pQ/fTds k|Zgx¿ / Long Answer questions)       3x8=24 

@)=g]kfnL ;dfhdf /x]sf ;fdflhs lje]bsf ljleGg cfofdx¿nfO{ pbfx/0f;lxt JofVof ug'{xf];\ . (Explain 

the various dimensions of social discrimination existed in Nepalese society with 

example.) 

Or 

g]kfn ;/sf/n]  ;dfj]zLs/0fsf] gLltdfkm{t l;dfGts[t ju{nfO{ d"nwf/df Nofpgsf nflu u/]sf s'g} tLg 

k|oTgaf/] ;+If]kdf 5nkmn ug'{xf];\ . (Discuss any three efforts made by the government of 

Nepal in implementing inclusive policy to mainstream marginalized groupsin 

brief.) 

@!= tkfOF{ a;f]jf; ug]{ ;d'bfodf /x]sf hflt, wd{, efiff, kof{j/0f / hLjLsf]kfh{gsf cfwf/df ljljwtfsf] 

cWoog ub}{ ToxfF /x]sf s'g} rf/j6f d'Vo ;d:ofx¿ klxrfg ug'{xf];\ / tL ;d:ofx¿ ;dfwfg ug{ ;fy{s 

x'g] pkfox¿ n]Vg'xf];\ . (Study the diversity of your community based on caste, 

religion, language, ecology, and livelihood and then identify any four major 

problems exist there and write down the solutions to solvethem.) 

@@= k|jf;g eg]sf] s] xf] < g]kfndf a;fO;/fO{sf] k|j[lQ s] 5 < pNn]v ug'{xf];\ . (What is meant by 

immigration? What is the trend of migration in Nepal? Mention.) 
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 Sub. Code: 2161 

NEB - GRADE XII 

2079 (2023) 

Business Studies 

 (Model Question) 

विधार्थीले सकेसम्म आफ्नै शब्दमा उत्तर ददनुपनेछ . दायााँ दकनारमा ददइएको अंकले k"0ff{Í जनाउFदछ . 
(Candidates are required to give their answers in their own words as far as practicable. The 

figures in the margin indicate full marks.) 

Time: 3 hrs.  Full Marks: 75  
 

सबै प्रश्नको उत्तर ददनुहोस् . (Attempt all the questions) 

 

समूह क (Group 'A')  

(अवि संविप्त उत्तरात्मक प्रश्नहरू Very short answer questions.)   (1×11=11) 

1. शीर्ष स्िरको व्यिस्र्थापनका कुनै दईु वजम्मेिारीहरू उल्लेख गनुषहोस ्। 
Mention any two responsibilities of top level management.  

2. रणनीविक योजना के हो ? 

What is strategic plan ? 

3. कायषक्रवमक वनणषय रगैर-कायषक्रवमक वनणषयबीचको वभन्निा छुट्याउनुहोस ्। 

Differenciate between programmed and non-programmed decision. 

4. साधारण संगठनात्मक संरचनाको वचत्र कोनुषहोस ्। 

Draw a figure of a simple organizational structure.  

5. उत्पे्ररणाको अिधारणाबारे लेख्नुहोस ्। 
Write the concept of “motivation”. 

6. संचार प्रकृयालाई वचत्रणगने रेखावचत्र कोनुषहोस ्। 

Draw a diagram illustrating the process of communication.              

7. सुपरीबेिणले कसरी कमषचारीको कायषसम्पादनलाई प्रभाि पाछष ?  

How does supervision influence employee’s performance ?  

8. गुणस्िर व्यिस्र्थापनका कुन ैदईुिटा अंगहरू उल्लेख गनुषहोस् । 
Mention any two components of quality management.  

9. आपूर्ति शृङ्खला व्यिस्र्थापनको कुनै दईुिटा महत्त्ि उल्लेख गनुषहोस ्। 
Write any two importance of supply chain management.  

10. नेपालमा रहकेा पाररिाररक व्यिसायका कुनै दईु उदाहरणहरू उल्लेख गनुषहोस ्। 

Write any two examples of family business-houses in Nepal.  

11. आदशे पत्र भनेको के हो ?  

What is order letter?  

  

 



 

समूह ख (Group 'B') 

 

संविप्त उत्तरात्मक  प्रश्नहरू (Short answer questions)    (8×5=40) 

12. व्यिस्र्थापनलाई दकन कला भवनन्छ ? व्याख्या गनुषहोस ्। 

Why management is referred to as an art ? Explain. 

13. िैज्ञावनक व्यिस्र्थापन भनेको के हो ? प्रशासवनक व्यिस्र्थापन कुन ैचार वसद्धान्िहरू िणषन गनुषहोस ्। 

What is scientific management ? Describe any four principles of administrative 

management theory.                                                               1+4                                                                                            

14. वनणषय गन ेभनेको के हो ? वनणषय गन ेविवभन्न अिस्र्थाहरू व्याख्या गनुषहोस ्। 

What is decision making? Explain the different conditions under which decisions are 

made.                                         1+4                  

 Or  अर्थिा 

"योजना व्यिस्र्थापनको प्रार्थवमक र आिश्यक कायष हो  " औवचत्य पुवि गनुषहोस ्। 

“Planning is primary and essential function of management” Justify. 

15. विभागीयकरणका कुन ैदईु आधारहरू उल्लेख गरी सवचत्र व्याख्या गनुषहोस ्। 

Explain pictorially mentioning any two bases of departmentalization.       2.5+2.5            

16. "संस्र्थाको सफल कायष संचालन व्यिस्र्थापकीय नेिाको गुणमावनभषर गदषछ । "नेपाली पररपे्रक्ष्यमा 

रटप्पणी गनुषहोस ्। 

“Successful functioning of an organization depends upon the quality of managerial 

leader”. Comment in Nepalese perspectives.  

17. प्रभािकारी वनयन्त्रणका लावग आिश्यक ित्िहरू के के हुन\ ? व्याख्या गनुषहोस ्। 

What are the essentials of effective control? Explain.  

18. नेपाली व्यिसावयक संगठनमा द्वन्द्वका स्रोिहरू पवहचान गरी व्याख्या गनुषहोस ्। 

Identify and explain the sources of conflicts in Nepalese business organization. 1+4          

 Or अर्थिा 

व्यिसावयक संगठनको लावग प्रविभा व्यिस्र्थापन महत्त्िपूणष छ। "औवचत्य पुवि गनुषहोस्। 

“Talent management is important for business organization.” Justify" 

19. २०७९माघ१० गिे सावन्िपुर खबर दवैनकमा प्रकावशि लेखा सहायकको पदका लावग नेपाल 

बैंकवलवमटेडका ठमाडौंको मानि संसाधन प्रबन्धकलाई आिेदन पत्रको मस्यौदा ियार पानुषहोस ्। 

Draft an application letter to the Human Resources Manager of Nepal Bank Ltd. 

Kathmandu for the position of account assistant that was advertised in the Santipur News 

Daily on 10
th

Magh, 2079.  

      



समूह ग (Group 'C') 

lj:t[t उत्तरात्मक  प्रश्नहरू (Long answer questions)     (३×८=२४) 

20. प्रबन्धकहरू आफ्ना मािहिकाहरूलाई अवख्ियार सुम्पन दकन वहचदकचाउाँछन ्? अवख्ियारको 

प्रभािकारी प्रत्यायोजन सुवनविि गनष प्रबन्धकहरूले पालना गनष सके्न कुन ैचार वसद्धान्िहरू िा 

ददशावनदशेहरू िणषन गनुषहोस् । 

Why are managers hesitant to delegate authority to their subordinates? Describe any four 

principles or guidelines that managers may follow to ensure effective delegation of 

authority?                       4+4               

21. व्यिसावयक सन्दभषमा कमषचारी उत्पे्ररणाको व्याख्या गनष मास्लोको आिश्यकिा शंृखला वसद्धान्ि 

कवत्तको प्रभािकारी हुन्छ ? यसका सीमाहरू उल्लेख गनुषहोस ्। 

How effective is Maslow's hierarchy of needs theory in explaining employee motivation 

in business contexts? Describe its limitation.       5+3                     

 Or अर्थिा 

सुपरीबेिणको लावग प्रभािकारी सञ्चार दकन महत्त्िपूणष छ ? प्रभािकारी सुपरीबेिणका अिरोधहरू 

छलफल गनुषहोस ्। 

Why is effective communication important for supervision? Discuss the barriers of 

effective supervision.          4+4 

22. नयााँ रेस्टुरेन्टको लावग क) व्यिसायको वििरण ख) उत्पादनको वििरण र ग) वित्तीय योजना उल्लेख 

गरी व्यिसावयक योजना ियार गनुषहोस ्। 

Prepare a business plan for a new restaurant that includes a) a description of the business, 

b) a description of the product, and c) a financial plan.                      4+2+2                     

-0- 
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NEB-XII 

2079(2023) 

Model Question 

Population Studies  
 

k/LIffyL{n]  ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg' kg]{5 . lsgf/fdf lbOPsf cª\sn] k"0f{fª\snfO{ hgfpF5 .  

The candidates are required to give their answers in their own words as far as practicable. The 

figures in the margin indicate full marks. 
 

;do (Time): 3 Hrs.       k"0ff{ª\s (Full Marks): 75 
 

;a} k|Zgsf] pQ/ lbg'xf];\ . (Attempt All Questions) 
 

;d"x …sÚ(Group ‘A’) 
 

-clt ;ª\lIfKt pQ/fTds k|Zgx?÷Very Short Answer Questions)  ११x१=११  

!= l;=kL= ANofs/sf cg';f/ hg;ªVof ;+qmd0fsf] l;4fGtsf r/0fx? sltj6f 5g < 
(How many stagesare there in demographic transition theoryaccording to C.P. Blacker?) 

@= lj=;+= @)&* ;fnsf] hgu0fgfsf] glthfcg';f/ g]kfnsf] hg;ª\Vof j[l4b/ lj=;+= @)^* ;fnsf] eGbf sd jf 

a9L s]] 5 < 
(Is the population growth rate of Nepal according to result of census 2078 B.S. lesser or 

greaterthan 2068 B.S.?)  

#= sf]/f hGdb/sf] z'q n]Vg'xf];\ .  
(Write the formula of crude birth rate.) 

$= ?U0ftf eg]sf] s] xf] < Ps jfSodf n]Vg'xf];\ . 
(What is morbidity? Write in one sentence.) 

%= olb s'g} ;x/ dflj=;+= @)&* ;fndf $) hgfa;fOF ;/]/ cfP / Tof] ;x/sf] s'n hg;+Vof @)))) lyof] eg] 

pSt ;x/sf] cfk|jf;g b/ sltxf]nf< 
(If 40 people immigrated to a city in 2078 B.S. and the total population of that city was 20000, 

what would be the immigration rateof that city?) 

^= dlxgfjf/Lsf] ;dodf dlxnfx?n] ckgfpg] ;/;kmfOsf s'g} b'O{j6f pkfox? n]Vg'xf];\ .  
(Write any two measures of hygiene adopted by women during menstruation.) 

&= g]kfnL ;dfhdf b]vfk/]sf of}lgstf;DaGwL s'g} b'O{ unt wf/0ffx? n]Vg'xf];\ .  
(Write any two misconceptions about sexuality that has emerged in Nepali society.) 

*= ;x;DaGw u0fgf ug{] z'q n]Vg'xf];\ .  
(Write the formula to calculate correlation.) 

(= /]vflrqsf] s'g} b'O{ k|sf/x? n]Vg'xf];\ .  
(Write any two types of line graph.) 

!)= cg';Gwfg k|lqmofsf] klxnf] r/0fdf s] s:tf lqmofsnfkx? ckgfOG5 < 
(What activities are followedin the first stageduring research process? ) 

!!= k|fylds tyf låtLo tYofª\lar Ps leGgtf pNn]v ug'{xf];\ . 
(State one difference between primary and secondary data.) 

;d"x …vÚ (Group ‘B’) 

-;ª\lIfKt pQ/fTds k|Zgx?÷Short Answer Questions)    *x%=$) 

!@= dfNy;sf] hg;+Vof l;4fGtsf] s'g} kfFrj6f cfnf]rgfx? n]Vg'xf];\ .  
(Write any five criticisms of Malthusian theory of population.) 

!#= ;fs{ /fi6«x?sf] jt{dfg hg;+Vofsf] cfsf/ / j[l4b/sf] 5f]6s/Ldf JofVof ug{'xf];\ .  
(Describe briefly the current population size and growth rate of SAARC countries.) 

 

cyjf 
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 cltljsl;t / sdljsl;t /fi6«x?sf] hg;+Vofcfsf/ / j[l4b/sf] 5f]6s/Ldf JofVof ug{'xf];\ . 

(Describe briefly the current population size and growth rate of more developed and less 

developed countries.) 
 

!$=tkfOn] s'g} Pp6f hg;ª\Vof;Fu ;DalGwt ul0ftLo ;d:of kl/sNkgf u/L ;f] ;d:ofaf6 sf]/f hGdb/ kQf 

nufpg'xf];\ .  
 (Imagine a population related mathematical problem and calculate crude birth rate from that 

problem.) 

cyjf 

tkfOn] s'g} Pp6f hg;ª\Vof;Fu ;DalGwt ul0ftLo ;d:of kl/sNkgf u/L ;f] ;d:ofaf6 ;fwf/0f k|hgg b/ 

kQf nufpg'xf];\ . 

(Imagine a population related mathematical problem and calculate general fertility rate from that 

problem.) 

!%= dfgf}+ lj=;+= @)&* ;fndf jg]kf gu/kflnsfdf #%)) lzz'x?sf] hGdePsf] lyof] / ;f]xL jif{leq 

ltgLx?dWo] Ps jif{sf] pd]/ k'/f gxF'b} @@$ lzz'x?sf] d[To' ePsf] lyof] eg] pSt jif{sf] jg]kf gu/kflnsfsf] 

lzz' d[To'b/ u0fgf ug{'xf];\ .  
(Suppose, 3500 babies were born in Banepa Municipality in the year 2078 B.S. and 224 of them 

died before the age of one year, then calculate the infant mortality rate of Banepa Municipality of 

that year.) 

!^= hg;+Vof / ljsf;sf /fli6«o d'2fx?sf] ;"rL agfO{ s'g} Pssf] j0f{g ug{'xf];\ .  
(List out the national issues of population and development and describe any one.) 

!&= lbuf] ljsf;sf nflu ;lqmo hgzlStn] v]Ng ;Sg] s'g} kfFrj6f e"ldsfx? n]Vg'xf];\ .  
(Write any five roles active manpower can play for sustainable development.)  

!*= tnsf] tYof+saf6 dlWosf u0fgf ug{'xf];\ .  
(Calculate the median from the following data.) 

k|fKtfª\s(Marks 

Obtained) 

10-20 20-30 30-40 40-50 50-60 60-70 70-80 

ljBfyL{ ;+Vof(No. of 

Students) 

10 12 14 20 15 5 4 

!(= JolStut ;/;kmfO;Fu ;DalGwt ljifodf cWoog cg';Gwfg ubf{ tYofª\s ;ª\sngsf nflu cfjZos kg{] 

s'g} kfFrj6f k|Zgx? tof/ kfg{'xf];\ . 
(Prepare any five questions needed to collect the data related to personal hygiene in research 

study.) 

;d"x …uÚ (Group ‘C’) 

-lj:t[t pQ/fTds k|Zgx?÷Long Answer Questions)     #x*=@$ 

@)=cfGtl/s a;fOF;/fOsf dfksx?nfO{ ;'q;lxt JofVof ug{'xf];\ .  
(Explain measures of internal migration with formula.) 

@!= ;fdflhs ;~hfnn] JolStsf] ;fdflhs hLjgz}nLdf Nofpg]] cj;/ / r'gf}tLx?sf ;DaGwdf cfkm\gf] 

/fo÷dt JoSt ug{'xf];\ .  
(Express your opinion about the opportunity and challenges of social media in individual’s social 

lifestyle.) 

cyjf 

g]kfndf n}ª\lustfdf cfwfl/t dlxnf lx+;fsf] cj:yf / o; lj?4 ePsf k|of;x?af/] cfkm\gf] /fo JoSt ug{'xf];\ . 

(Express your opinion about the situation of gender based women violence and efforts against it 

in Nepal.) 

@@=g]kfndf xfnsf] lszf]/–lszf]/Ld}qL k|hgg :jf:Yo ;]jfnfO{ cem k|efjsf/L agfpg tkfO{n] ckgfpg ;Sg] 

lqmofsnfkx? pNn]v ug{'xf];\ . 
(State the activities that you adopt to make the current adolescent-friendly health service more 

effective in Nepal. 

-0- 
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Sub.Code : 3021 

NEB- GRADE XII 

Model Question 

2079 (2023) 

Chemistry 

 
Candidates are required to give their answers in their own words as far as practicable.  

The figures in the margin indicate full marks.                               
 

Time: 3 hrs.           Full Marks : 75 

Attempt all the questions 

Group A 

Rewrite the correct options of each questions in your answer sheet.   (11x1= 11) 

1. Identify the equivalent weight of K2Cr2O7 in the following reaction? 

(Cr =52, K=39) 

K2Cr2O7 + 3H2SO4 + 5(COOH) 2     K2SO4 + Cr2 {SO4)3 + 10CO2 + 8H2O 

 A) 49  B) 294 

 C)  98   D) 108 

2.In a solution that is at equilibrium, what happens to the concentration of H+ ions if the concentration of 

OH- ions is increased?                                                       

A) The concentration of H+ ions increases 

B) The concentration of H+ ions decreases 

C) The concentration of H+ ions stay the same 

D) It depends on the initial concentration of H+ ions  

3.  Assuming the rate of a reaction is doubled for every 10
o
C rise in temperature how many times 

increases the rate of temperature rises from 10
0
C to 100

0
C?  

      A) 112 times           B) 400 times             C) 512 times    D) 614 times     

4. forthe given reactions 

 i. C + O2→ CO2, ∆ H = - x KJmol
-1

 

 ii. 2CO + O2→ 2CO2, ∆ H = - y KJmol
-1

 

 The enthalpy of formation of CO becomes  

    A) 2y-x            B). 2x-y         C)  
𝑦−2𝑥

2
             D)  

𝑥−2𝑦

2
 

5. What product would be obtained if red hot copper wire reacts with steam? 

A) CuO                                 B) Cu2O              C) Cu2O2                D) Cuo2 

6. For which manufacturing process, Bessemer converter is used?  

A) Pig iron                     B)  Steel                      C) Wrought iron             D) Cast iron 

7. When Sodium phenoxide reacts with methyl bromide it gives 

 A) Cresol                       B) Toluene                   C) benzene D) Anisole 



 

2 
 

8. Identify the X in the following reaction: 

 

 

 

 

A) Na2S  B)  Sn/HCl C) LiAlH4 D) Na/H2 

 

 

9. Which of the following reagents can be used to distinguish between a phenol and a carboxylic acid? 

  A) KOH         B) Na            C) NaOH           D) NaHCO3 

10. The colorless sweet smelling liquid compound A which exposed in air forms poisonous phosgene and 

also react with acetone gives sleep-inducing drug. Predict the product when the compound A reduced 

in a neutral medium?  

A) Methylene chloride      B)  Methane C) Ethyne              D) Ethane  

 

11. Oxygen containing organic compounds upon oxidation forms a carboxylic acid as the major organic 

product with its molecular mass higher by 14 units. Identify the organic compound. 

A) A primary alcohol                   B) An aldehyde               C) A ketone.         D) A secondary alcohol 

 

Group B 

Short answer questions             (8x5= 40) 

12. The addition of solution of required concentration in a reaction mixture yields profitable products and 

saves reactants. 

a) A solution of HCl is labelled 2M. Clarify its meaning? 

b) In which aspects molarity is different frommolality? 

c) List the significance of normality factor in preparation of standard solution? 

d) Liquor ammonia kept at a corner of your chemistry lab is 25% (w/w) NH3 and its specific gravity 

is 0.91. Find the molarity of liquor ammonia.                                                [1+1+1+2] 

 

13. a) Write down the differences between rate of reaction and rate constant. (2)  

b) For the reaction 2A+B→product, following data were obtained  

Experiment  [A], moleLitre
-

1
 

[B], 

moleLitre
-1

 

Initial rate, moleLitre
-1

 S 
-1

 

1 0.50 0.50 1.6x10
-4

 

2 0.50 1.00 3.2x10
-4

 

3 1.00 1.00 3.2x10
-4

 

 

      Find, 

  i) order with respect to A and B. (1) 

 ii) the value of the rate constant of the reaction (1)  

                     iii) the rate of reaction when the concentration of A and B is 0.5M and  

0.4 M, respectively. (1)       

Or 

 

NO2 

NO2 

X 
 

NO2 

NH2 
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Four metals A, B, C and D react in the following way: 

B displaces only A from solution. Only D and Cdisplaces hydrogen from 1M HCl solution. None of the 

metals will displace C from solution. Answer the followings: 

 i) Make the activity series of four metals with hydrogen      (1) 

 ii) The standard potential for the following electrodes are: 

                 C
++

+ 2e
- 
C,E

o
= -0.76V 

                 D
+++

+ e
- 
              D

++
,E

o
= +0.77V 

          a)   Construct the galvanic cell by pointing out cathode and anode.            (2) 

  b)    With 1M solution of the ions, what will be EMF of cell?                                    (1) 

    c)    Will the reaction occur: C
++

 + 2D
++

 → C + D
+++

. Occur? Give reasons.              (1)       

14. An ammonia solution is added to the sulphate of coinage metal A,the blue  

      Precipitates (B) which appears dissolves in excess of reagent to form deep blue  

      Solution(C). Answer the followings: 

 a)  Identify A, B and C with sequence of chemical reaction.            (3) 

 b) Predict the electronic configuration of this metal A.                   (1) 

 c) Select the suitable methods for the purification of metal A?       (1) 

15. What is meant by d-d electron transitions? List the characteristics of transition metals.        1+4=5 

16. Write down the structural formula and IUPAC name of tertiary alcohol with formula C4H10O. How 

would you apply Victor Meyer’s method for the distinction of 1- propanol and 2- propanol ?  

Explain.          1+4 

17. An organic compound X reacts with methyl magnesium bromide followed by acidic hydrolysis yields 

the compound Y. The compound Y On oxidation with acidified KMnO4 yields Z. All three gives 

positive iodoform test. Answer the followings:  

 a).  Predict the compounds  X , Y and Z  with sequence of reaction and give their IUPAC names.    (3)                               

     b) Make the product by reacting Z with dilute NaOH?                                                         (2) 

 

OR 

An organic compound(X) when heated with acetone gives hypnotic and nervous sedatives drugs and 

form carbonyl chloride when it exposes to air 

 a)  Predict the organic compound (X)                                                                         (1) 

 b) Write the reactions for the formation of (X) from ethanol.  A                                   (2) 

 c) Predict compound the new compound by treating (X) withconcnitric acid?              (1) 

 d) Convert (X) into acetylene.                                                                                       (1) 

18. .a) Nitro group in nitrobenzene is meta-directing group towards electrophilic substitution reaction, 

why? How does nitrobenzene react with? 

i) Zn/ NH4Cl    ii) LiAlH4                                                              (2+2) 

   b) What are the isomers of formula C2H7N?            (1) 
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19. Give an example of the following reactions                 1x5=5 

 (a) RiemerTiemann’s reaction            (b) Perkin’s condensation reaction 

 (c) Williamson’s ether synthesis    (d) Cannizzaro’s reaction 

 (e) Sandmeyer’s reaction 

 

Group C 

Long answer questions         (3 x 8 =24) 

20. The expressions of Ostwald’s dilution law is, 

∝  = √
𝐾𝑎

𝐶
 

a) Derive it. 

b) What information can you obtain from this expression? 

c) Will strong electrolytes obey this expression, why? 

d) 0.1M ethanoic acid is 1.34% ionized. Find its dissociation constant.                                                            

                       (3+ 2+1+2)      

Or 

a) Hess' law is applied to calculate different types of enthalpy of reaction. 

 i) Illustrate the Hass law of constant heat summation.  

 ii) Standard enthalpy of combustion of c (g); H2 (g) and C2H2 (g) are -394 KJ mol
-1

, -286 KJ mol
-1

 and 

-1300 KJ mol
-1

 respectively. Calculate enthalpy of formation of acetylene.    (2+4) 

 b) Draw the energy profile diagram of exothermic and endothermic reaction.      (1+1) 

21. An organic compound C2H4O2 has two functional isomers A and B. Isomer A changes blue litmus into 

red and B has fruity smell.   

a) Give the reaction for the formation of A by using Grignard's reagent.    (1)  

b) Convert the isomer A into isomerB?                                                     (2)  

c) Write a suitable test reaction to distinguish A frommethanoic acid.     (1)  

d) Arrange the following in the decreasing order of their acidic strength and give reason for your 

answer. 

CH3COOH, ClCH2COOH, FCH2COOH, C6H5COOH                                         (2) 

e) Identify A and B of the following reactions.     (2)        

 

 

 

OR 

Amines are formally derivatives of ammonia, wherein one or more hydrogen atoms have been replaced      

by a substituent such as an alkyl or aryl group which may respectively be called alkyl amines and aryl 

amines. 

a) Give a test to distinguish alkyl amine and aryl amine.                       (2) 

b) How can you separate ethylamine and dimethylamine present in mixture byHoffmann’s method?  (3) 

   

c) Arrange the following amines In terms of  increasing order of basic strength.              (1) 

          Propyl amine,ethyl methylamine, trimethylamine. 

d)  Convert:  ethanamine to methanamine                                 (2) 
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22. a. How are cement classified on the basis of hardening and setting behavior?    (2) 

 b. Differentiate between  

  i. paper and pulp                   (2) 

  ii. artificial and natural radio activity              (2)  

 iii .addition and condensation polymer           (2) 

 
-o- 
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Format for Weightage of different level of cognitive domain given in Chemistry 

Question Paper 

 
Grade:  XII 

Subject: Chemistry 

Year:  

Full Marks: 75 

Pass Marks: 

 

 

 

Cognitive 

Level 

 

Weightage 

given in SG 

 

 

Question Number 

 

Marks given in 

various types of 

questions 

 

Marks and 

percentage 

given in the 

question paper 

 VSQ/

MCQ 

SAQ LAQ VSQ/

MCQ 

SAQ LAQ 

Knowledge 12 6, 7 12c,15

,19 

 2 1+10

=11 

 12 (16%) 

Understanding 18 1, 3, 5 

8, 9 

12b,18

, 

22 5 1+5

=6 

8 18 (24%) 

 

Application 

21 2, 4, 

10 

12a 

12d 16 

20 3 3+5

=8 

8 21(28%) 

 

Higher Ability 

24 11 13, 14, 

17 

21 1 15 8 24 (32%) 

Total 100% 

 
11 8 3 11 40 24 75 (100%) 
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NEB - GRADE XII 

2079(2023) 

Model Question 

Economics 
k/LIffyL{n]  ;s];Dd cfkm\g} zAbdf df}lns pQ/ lbg' kg]{5 . lsgf/fdf lbOPsf cª\sn] k"0f{fª\snfO{ hgfpF5 .  

The candidates are required to give their answers in their own words as far as practicable. The 

figures in the margin indicate full marks. 
 

;do (Time): 3 Hrs.       k"0ff{ª\s (Full Marks): 75 
 

;a} k|Zgsf] pQ/ lbg'xf];\ . (Attempt All Questions) 

 

;d"x …sÚ -Group A) 

 
-clt ;+lIfKt pQ/fTds k|Zgx¿/Very Short Answer Type Questions)                                11×1 = 11 

1. >d ljefhgsf s'g} b'O{ kmfObfx? n]Vg'xf];\ .  

Write any two advantages of division of labour. 

2. Ps ljj|m]tfn] !) cf]6f a:t'sf] laqmLaf6 ?= &)) ?k}ofF sdfpF5 . olb p;n] yk Ps PsfO a]Rof] 

eg], p;sf] s'n cfo ?=&%) x'G5 eg] ;"q k|of]u u/L ;LdfGt cfo kQf nufpg'xf]; .  
A seller earns Rs. 700 from the sale of 10 units of a good. If s/he sells 1 more unit, her/his 

total revenue becomes Rs 750, then find marginal revenue by using formula. 

3. d'›f cfk"lt{ / shf{ lgoGq0f ug{ s]G›Lo a}+sn] cjnDag ug{] gLltnfO{ s] elgG5 <  
What is the policy applied by central bank to control the money supply and credit called? 

4. l:y/ ljlgdo b/ / kl/jt{gzLn lalgdo b/ larsf] s'g} Pp6f leGgtf n]Vg''xf];\ . Write any one 

difference between fixed exchange rate and flexible exchange rate. 
5. ;+/rgfut a]/f]huf/L eg]sf] s] xf] < 

What is ‘structural unemployment’? 

6. g]kfn ljZj Jofkf/ ;+u7gsf] ;b:o slxn] eof] < 
When did Nepal become the member of WTO ?  

7. g]kfnsf] rfn" of]hgfn] ul/aLsf] /]vfd'lgsf] hg;+VofnfO{ sd ug]{ nIosf ;fy /fv]sf s'g} b'O{ 

gLltx¿ n]Vg'xf];\ .  
Write down any two policies aimed at reducing the size of population below poverty line 

in the current plan of Nepal.  
8. tkfO{Fsf] ;d'bfodf n}+lus c;dfgtf 5 . rfx] kl/jf/df xf];\ jf ljBfnodf xf];\ 5fqfx?sf] t'ngfdf 5fqx?nfO{ jl9 

dxTTj lbOPsf] kfOG5 . o:tf] ;Gbe{df g]kfnn] ;g\ @)#) ;Dd lzIffdf n}+lus ;dfgtfsf] nIo xfl;n ug{ ;3fp 

k'¥ofpg] p2]Zn] tkfO{Fn] v]Ng ;Sg] s'g} b'O{ e"ldsfx¿ pNn]v ug{'xf];\ .  
There is gender inequality in you community. More prioriety is given to boys as 

compared to girls either at home or in school. In this regard, state any two roles that you 

can play to achieve the goal of gender equality in education by 2030 in Nepal ? 

9. k|fylds tYofÍs ;+sng ug'{ k"j{ hfgsf/L /fVg' kg]{ s'g} b'O{ s'/fx? n]Vg'xf];\ .  
Write any twopre-requisites of primary data collection. 

10. låltos tYof+ssf ;|f]tx?df k':ts, kqklqsf, /]l8of], cflb kb{5g\ . t/ ltgLx?jf6 tYof+s ;+sngdf 

cg]s ;d:of /xG5g\ . o; ;Gbe{df låtLos ;|f]taf6 tYof+sx?  k|of]u ubf{ cfOkg]{ s'g} b'O{ 

;d:ofx? cf+}Nofpg'xf];\ .  
The sources of primary data collection are book, newspaper, radio, etc. But there are 

various problems in data collection from such sources. In this regard, point out any two 

problems while using the data from secondary sources. 



Sub. code 3041 

2 
 

11. olb k|yd rt'yf{+; / t[tLo rt'yf{+zx¿sf] km/s / of]ukmnx¿ qmdzM $% / &% eP rt'y{s ljrns 

u'0ffª\s kQf nufO{ JofVof ug'{xf]; .  
If the difference and sum of first quartile (Q1) and third quartile (Q3) are 45 and 75 

respectively. Find the coefficient of quartile-deviation and interpret it. 

 

;d"x v -Group B) 
 

-;+lIfKt pQ/fTds k|Zgx¿/Short Answer Type Questions)                         8×5 = 40 
 

12. ;|f]t / ;fwgsf] afF8kmfF8sf] cy{ s] xf] < ;|f]tx?sf] afF8kmfF8 ubf{ pTkGgx'g ;Sg] k|d'v tLgj6f 

;d:ofx¿sf] klxrfg u/L j0f{g ug'{xf];\ .  
What is the meaning of allocation of resources ? Identify and describe the three major 

issues that may arise while allocating resources.      2+3 
Or -cyjf_ 

ahf/ cy{tGq eg]sf] s] xf] < o;sf s'g} rf/j6f ljz]iftfx¿ j0f{g ug{'xf]; . 

What is Market Economy ? Explain any four features of market economy.    1+4 

13. gfkmfsf] clglZrttf jxg l;4fGtsf] a0f{g ug'{+xf]; . o;sf s'g} rf/j6f sdhf]/Lx? cf}Nofpg'xf];\ . 

Describe the Uncertainty Bearing Theory of Profit. Point-out its’ any four weaknesses.               
   3+2 

14. lbOPsf] tflnsfsf cfwf/df lgDg k|Zgx¿sf] pQ/ lbg'xf];\ .   
Give the answer of following questions on the basis of given table.         2+3 

Output 1 2 3 4 5 6 

TC 8 14 18 28 45 72 

AC  7   9  

MC    10  27 

i. dflysf] tflnsf k"/f ug{'xf];\ . (Complete the above table.) 

ii. k'/f ul/Psf] tflnsfaf6 cf};t\ nfut / ;LdfGt nfutsf /]vf lrq lvRg'xf]; .  

Draw AC and MC curves from the completed table. 

15. s'g} Psfwsf/L kmd{n] a:t'sf] d"Nodf qmdzM sld ub}{ nu]/ cfk'mn] rfx] hlt j:t'sf] kl/df0f laqmL 

ug{ ;Sb5 . o; hfgsf/Lsf cfwf/df kmd{sf] s'n cfo, cf};t\ cfo / ;LdfGt cfo b]vfpg] tflnsf 

tof/ kfg{'xf];\  / pSt tflnsfsf] cfwf/df ;LdfGt cfo tyf cf}ift\ cfo /]vflrq lvRg'xf];\ .  
‘A monopoly firm can sell as many goods as it wants to sell by decreasing prices’. Based 

on this information, prepare a table showing the firm’s total revenue, average revenue 

and marginal revenue. Draw the curves of average revenue and marginal revenue based 

on the table.                              3+2 
16.  d'b|f ahf/sf] kl/efiff lbg'xf]; / o;sf s'g} rf/j6f laz]iftfx¿sf] JofVof ug'{xf];\ .  

Define Money Market and describe any four features of it.                   1+4  

17.  xfn g]kfndf lg/Gt/ a9\bf] cfly{s c;dfgtfsf] cj:yfn] ubf{ b]zsf] ;fdflhs, /fhgLlts / ;du| 

cfly{s If]qdf k|lts'n c;/ k/]sf] b]lvG5 . o:tf] cj:yfnfO{ sd ug{ s'g} kfFr Jofjxfl/s pkfox¿ 

;'emfpg'xf];\ .  
Currently, increasing economic inequality situation in Nepal has adversely affected the social, 

political and whole economic sectors of the country. Suggest any five practical measures to 

reduce this situation. 
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18.  g]kfnsf] ljsf;sf of]hgf lgdf{0f tyf sfof{Gjogsf] Oltxf; nfdf] 5 . t/ kof{Kt ljsf; x'g 

;ls/x]sf] 5}g . o; ;Gbe{df g]kfnn] k|efjsf/L ljsf; of]hgf lgdf{0f ug{ s] s] r/0fx¿ ckgfpg' 

kb{5 < ;'emfj lbg'xf];\ .  

 

Nepal has a long history of formulation and implementation of development plan.  But 

there is no sufficient development. In this regard, suggest the steps to formulate an 

effective development plan in Nepal. 
19. lbOPsf] tYofª\saf6 :t/Lo ljrng kQf nufO{ glthfsf] JofVof ug'{xf];\ .  

Find the standard deviation from the given data and interpret the result.                       4+1 

 

Hofnf ?=(Wages Rs.)  >ldssf] ;+Vof (No. of Labour)  

45 8 

55 7 

65 3 

75 2 

80 4 
 

or -cyjf_ 

tnsf] tYof+saf6 nf:k]o/sf] ;"q k|of]u u/L d"No ;'rsfª\s kQf nufpg'xf];\ / glthfsf] ljZn]if0f 

ug{'xf];\ .  

Find Price Index using Laspeyre’s formula and interpret the result.                               4+1 
 

j:t'sf k|sf/ 

(Types of goods) 
cfwf/ jif{ (Base year) rfn" jif{ (Current year) 

d'No (Price) kl/df0f (Quantity) d'No (Price) kl/df0f (Quantity) 

Rffdn (Rice) 
lk7f] (Flour) 
cfn' (Potato) 

  t]n (Oil) 
  b'w (Milk) 

70 

40 

30 

200 

30 

15 

5 

10 

7 

5 

80 

45 

35 

250 

35 

20 

7 

12 

5 

4 

 
;d"x …uÚ -Group C) 

 
-lj:t[t pQ/fTds k|Zgx¿ /Long Answer Type Questions)                     3×8 = 24 

 
20.  k"0f{ k|lt:kwf{ cGtu{t pTkfbgsf] d"No tyf kl/df0f lgwf{/0f x'g] k|s[ofnfO{ lrlqt ug{'xf];\ / MR-

MC cjwf/0ff cg';f/  kmd{sf] cNksfnLg ;Gt'ngsf cj:yfx¿ b]vfpg'xf];\ .  
Illustrate the price and output determination process under perfect competition and show 

the situations of short-run equilibrium of the firm by MR-MC approach.                      4+4 
21. t'ngfTds nfesf] l;4fGt cGt/f{li6«o Jofkf/sf] cfjZostf;Fu ;DalGwt 5 . x/]s b]zx?n] cfkm\gf] 

b]zdf pTkfbg ubf{ al9 nfut kg]{ j:t' cfoft ub{5g\ . Pp6f pko'St pbfx/0fsf] ;fy AofVof 

ug'{xf];\ . 
The Comparative Advantage theory of international trade is relatedto the need of 

international trade.Every country imports the goods if their cost of production is high in 

the country. Explain with a suitable example. 
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22. g]kfn h:tf ljsf;f]Gd'v b]zsf nflu a}b]lzs /f]huf/L a9\bf] a]/f]huf/Lsf] ;d:of ;dfwfg ug]{ Pp6f 

pkfo xf] . tyflk o;n] eljiodf oL b]zx?n] laleGg ;d:ofx? ;fdgf ug'{kg]{ klg x'g ;S5 . o:tf 

;Defljt ;d:ofx?nfO{ dgg\ u/L rf/÷rf/ a'Fbfx?df cfkm\gf larf/x? AofVof ug{'xf];\ .  

Foreign employment is a way to solve the unemployment problem for developing countries like 

Nepal. However, from this, such countries will have to face various problems in future. 

Considering such possible problems, explain your ideas in four points for each.                   4+ 4 

cyjfor 
g]kfnsf nflu ;fGble{s /x]sf ;+o'St /fi6« ;+3sf bLuf] ljsf;sf s'g} rf/cf]6f nIox¿ k|fyldsLs/0f 

ug'{xf];\ . g]kfnsf] ;Gbe{df oL nIox?nfO{ k|fyldstfdf /fVg lsg h?/L 5 < k|i6 kfg{'xf];\ . 

Prioritize and list out any four major SDGs of UN that is directly relevant to Nepal. Why these 

aims should be prioratized in Nepalese context? Clarify.                  2+3+3 
-0- 
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ljBfyL{x¿n] ;s];Dd cfkm\g} zJbdf pQ/ lbg'kg]{5 . bfofF lsgf/fdf lbOPsf] c+sn] k"0ff{+s hgfpFb5 . 

Candidates are required to give their answer in their own words as far as practicable. 

The figures in the margin indicate full marks. 

 

Time: 2hrs         Full Marks -50 
 

v08 …sÚ(Group 'A') 

 

-clt ;+lIfKt pQ/fTds k|Zgx¿/Very short answer questions.)   (! =+ (  

!= ko{6gdf cfjf; ;'lawfsf] cy{ s] xf] ? 

 What is the meaning of accommodation in tourism?   

@= g]kfndf ;+rflnts'g} rf/ zfxl;s ko{6gsf] gfd n]Vg'xf];\ .  

     List any four adventure tourism activities operating in Nepal.  

#= ko{6gdf cf/If0fug{'kgf{sf s'g} b'O{ sf/0fx¿ k|i6kfg'{xf];\ .  

 Justify any two reasons of reservation in tourism.   

$= cfjfudg ;]jfeg]sf] s] xf] :ki6kfg'{xf];\ .  

 Illustrate the meaning of arrival transfer?  

%= r]gJoj;fo / k|m]GrfOlh8\u dWo] s'g a9L gfkmfd"ns x'G5 xf]nf? 

 In „Franchise‟ and Chain‟ business, which is more profitable business?  

^= O- l6s]l68\usf s'g} b'O{ kmfObfx¿ n]Vg'xf];\ . 

 Write any two benefits of E- ticketing.  

&= s'g cj:yfdf …gf]-;f]‟nfUb}g . 

 In which condition „No – show‟ is not applicable?  

*= Acute Mountain Sickness af6 s;/L hf]lug ;lsG5 . 

 How to prevent „Acute Mountain Sickness(AMS)? 

(= kf;kf]6{ eg]sf] s] xf] ?  

 What is passport?W 

v08 …vÚ(Group 'B') 

-;+lIfKt pQ/fTds k|Zgx? / Short answer questions.)     % % = @% 

!)= g]kfnsf] laZj ;Dkbfdf ;'lrs[t :yfgx¿ ;dfj]; u/]/ cGt//fli6«o ko{6ssf nflu # /ft/$lbgsf] 

ofqfljj/l0fsf tof/ ug{'xf];\ .  

Develop a tour itinerary of 03 nights/ 04 days for international tourist including World 

HeritageSites of Nepal.  

!!= “ko{6g kyk|bz{s eg]sf] b]zsf] /fhb't xf]” . of] sygsf] cfwf/d. ko{6g kyk|bz{ssf] e"ldsf / 

lhDd]jf/L bzf{pg'xf];\ .  

“Tourist guide is the ambassador of the country”. Justify this statement based on the roles 

and responsibilities they perform as a guide.  

cyjf (OR) 

Psn :jfldTTj / ;fem]bf/L ko{6g Joj;fodf cf]rgfTds leGgtfx? b]vfpg'xf];\ . 

Critically differentiate between sole ownership and partnership in tourism business. 



 
 

!@=  e'StfgL lkmtf{sf ;fwf/0f lgodx¿ n]Vg'xf];\ .  

         Write down general rules of refunding the payment.  

 

cyjf(OR) 

u|fxs u'gf;f] ;dfwfgsf lgodx¿ n]Vg'xf];\ .  

Describe the process of handling client‟s complaints.  

 

!#= olb bf]xfsf] :yflgo ;do !&=%) jh] -laxLaf/ @& k|m]a'c/L_ p8]sf] xjfOhxfh sf7df8f}df )!=)) ah]  

-z'j|maf/ @* k|m]a'c/L_ cjt/0f u5{ eg] bf]xfaf6 sf7df8f}+sf] p8fg ;do km]nf kfg{'xf];\ . lx;fa 

j|mda¢¿kdf b]vfpg'xf];\ . -bf]xfsf] STD + )# / sf7df8f}+sf] + )%=$%_   

If a flight left Doha local time at 17.50 (Thu. Feb 27) and arrives at Kathmandu 01.00 (Fri. 

Feb 28). Findout the flight duration from Doha to Kathmandu. Show the step by step process 

of calculation.(Doha STD + 03 and Kathmandu + 5.45)  

!$= Pp6f lxdfn cf/f]x0fsf] j|mddf g]t[TTjstf{sf] e"ldsfsf]af/]df j0f{g ug{'xf];\ .  

Describe the role of expedition leader during an expedition.    

 

v08 …uÚ(Group ‘C’)  

 

-lj:t[t pQ/fTds k|Zgx¿/Long answer questions.)     @  *= !^ 

  

!%= xf]6nsf] meal plan eg]sf] s] xf] ? Psn sf]7f / b'O{hgf sf]7fsf] laleGg k|sf/sf meal plans pbfx/0f 

;lxt a0f{g ug{'xf];\ .  

Explain the different meal plans with examples of each plan for single room and double 

room.  

!^= pRr lxdfn cf/.]x0fsf j|mddfx'g ;Sg] eofjx vt/fx¿ s] s] x'g\ ? To:tf vt/faf6 hf]lug] pkfox¿  

n]Vg'xf];\ .  

What are the major risks in Himalayan expedition? Mention the ways to avoid those risks?   

 

cyjf(OR) 

Pp6f SofDk ;fO6sf] 5gf}6 ubf{ s:tf k|sf/sf ;'ljwf, ;]jf, tyf ;'/Iffdfljrf/ k'¥ofpg'k5{ < 

k|:6\ofpg'xf];\ .   
What types of facilities, services and safety measures should be consideredwhile 

selecting a camp-site.  

-0- 
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ljBfyL{x¿n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfFof lsgf/fdf lbOPsf cªsn] k"0ff{ªs hgfpFb5 .  

Candidates are required to give their answers in their own words as far as practicable. The 

figures in the margin indicate full marks. 

 

;a} k|Zgsf] pQ/ lbg'xf];\ . (Attempt All Questions) 

;d"x …sÚ(Group 'A') 

-clt ;+lIfKt pQ/fTds k|Zgx¿/Very Short Answer Questions)  [11x1=11] 

1. ahf/zf:q eg]sf] s] xf] < 

What is Marketing ? 

2. d'Vo j:t'sf] s'g} b'O{j6f pbfx/0fx¿ pNn]v ug'{xf];\ .  

Mention any two examples of core product.  

3. æDffsf{ gfdÆ nfO{ æJofkf/ lrGxÆ df tkfOF{ s;/L abNg'x'G5 < 

How do you convert "brand name" into "trade mark"?  

4. d"No lgwf{/0fsf] kl/efiff n]Vg'xf];\ . 

Define pricing.   

5. v'b|f laS|m]tfn] s] ub{{5 < 

What does a retailer do?  

6. tkfO{Fn] sn]hsf] k|rf/sf] nflu s'g k|rf/ cf}hf/nfO{ pkof]u ug{'x'G5 < s'g} b'O{j6f pNn]v ug'{xf]; . 

Which publicity tools will you use for promoting your college ? Mention any two. 

7. s[lif ahf/zf:qsf] s'g} b'O{j6f ljz]iftf pNn]v ug'xf];\ . 

State any two features of agriculture marketing.  

8. …ahf/zf:q g}ltstfÚ zAbnfO{ kl/eflift ug'{xf];\ . 

Define term 'Marketing ethics'.  

9. ahf/zf:qLsf]  ¿kdf tkfO{Fn] pkef]Qmfk|lt jxg ug{'kg{] b'O{j6f bfloTjx¿ pNn]v ug'{xf];\ . 

As a marketer, state any two obligations you need to fulfil toward customers. 

10. ljqm]tfn] s] sfo{ u5{ < 

What does a salesperson do ? 

11. k|efjsf/L ljS|m]tfsf] ¿kdf tkfO{Fdf x'g'kg]{ b'O{j6f u'0fx¿ pNn]v ug'{xf];\ .  

As an effective salesperson, what qualities you should possess ? Mention any two.  

;d'x …vÚ (Group 'B') 

-;+lIfKt pQ/fTds k|Zgx¿/Short Answer Questions)    [8x5=40] 

12. ljlzi6 a:t'sf] ljz]iftf;lxt j0f{g ug'{xf];\ . 

Explain the specialty product with its features.  

 



13. tkfFO{nfO{ d'gfkmf a[l4 ug{] p2]Zosf ;fy j:t'sf] d"No lgwf{/0f ug{] lhDd]jf/L lbOPdf pQm sfo{ s;/L ;DkGg ug{'x'G5 < 

k|i6 kfg{'xf];\ .  

Suppose you are entrusted with the responsibility of determining  the price for product to 

maximize profit, how do you accomplish this task? Elucidate . 

14. pkef]Qmf j:t'x¿sf] dfWod ;+/rgf ;lrq j0f{g ug'{xf]; . 

Describe with diagram the channel structure for consumer Products.  

15. pkef]Qmfsf] nflu JolQmut ljS|mosf] dxTj pbfx/0f;lxt j0f{g ug'{xf];\ . 

Illustrate the importance of personal selling consumer point of view.  

16. pTkfbssf] ¿kdf tkfO{Fn] j:t'sf] Jofkf/ laS|mL k|j4{gsf nflu s'g s'g ljlwx¿ k|of]u ug'{x'G5 < 

As a manufacturer, select the methods of trade sales promotion to promote your product ?  

17. g]kfndf cf}Bf]lus ahf/zf:qsf] ;DefJotf n]vfhf]vf ug'{xf];\ . 

Assess the prospects of industrial marketing in Nepal.  

Or 

tkfOF{sf] ljrf/df s] PsfO;f} ztflAbdf ;]jf ahf/zf:q nf]slk|o x'Fb} uO/x]sf] 5 < sf/0f ;lxt JofVof ug'{xf];\ .  

Do you think service marketing is getting popular in 21
st
 century ? Justify with reason.  

18. jt{dfg cj:yfdf g]kfnL Joj;fon] ef]Ug'k/]sf cj/f]wx¿ s] s] x'g\, j0f{g ug'{xf];\ .  

Identify various sorts of barriers Nepali businesses facing today.  

Or 

ahf/zf:qdf g}lts Jojxf/ kl/ro lbO{ g}lts Jojxf/  a[l4 ug{sf] nflu lgb]{lzsfsf]  vfsf tof/ ug'{xf];\ . 

Define and outline an ethical guidelines  for betterment of ethical behavior in the 

marketing.   

19. ljS|mosnfnfO{ æsnf / lj1fgÆ ¿kdf pbfx/0f ;lxt :ki6 kfg{'xf];\ .  

Illustrate salesmanship as "Art and Science".  

 

;d"x …uÚ (Group 'C') 

-lj:t[t pQ/fTds k|Zgx¿/Long  Answer Questions)     [3x8=24] 

20.  sRrf kbfy{sf] cy{ / ljz]iftfx¿ j0f{g ug'{xf]; . ;fy} sRrf kbfy{sf] ahf/Ls/0fdf Wofg lbg'kg{] s'/fx¿ pbfx/0f ;lxt 

k|:6 kfg'{xf]; . 

Explain the meaning and features of raw materials.  Also illustrate      marketing 

considerations of raw materials.         3+5 

21. æg]kfndf ljt/0f k|0ffnLnfO{ ljsf; ug{{ oftfoft / uf]bfd b'O{ k|d'v tTjx¿ x'g\Æ. of] egfO{nfO{ ts{sf ;fy ;dy{g 

ug'{xf]; .  

“Transportation and warehousing are the major components to develop distribution system 

in Nepal.”Support this statement with convincing logic. 

Or 

dfWod åGå eg]sf] s] xf] < tkfOF{sf] sDkgLdf dfWod ;b:ox¿sf ljrdf 4Gb ePdf s;/L ;dfwfg ug{' x'G5 < o:tf 

4GbnfO{ ;dfwfg ug{] tl/sfx¿sf af/]df ;'emfj lbg'xf];\ .  

What is channel conflict ? Suggest measure to resolve such types of conflict among the 

channel members in your company.        2+3+3 

22. s[[lif ahf/zf:q eGgfn] s] a'em\g'x'G5 < g]kfndf s[lif ahf/zf:qdf b]vf k/]sf ;d:ofx¿ vf]hL j0f{g ug'{xf]; .  

What is meant by agriculture marketing¿ Explore the problems of agriculture marketing in 

Nepal.            2+6 

-0- 
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Civil and Criminal Law and Justice 

ljBfyL{x¿n] ;s];Dd cfkm\g} zJbdf pQ/ lbg'kg]{5 . bfofF lsgf/df lbOPsf] c+sn] k"0ff{Í hgfpFb5 . (Candidate are required to 

give their answer in their own words as far as practicable. Figures in the margin indicate full 

marks.) 

 

Time: 3:00 hrs.        Full Marks: 75 

       

-;a} k|Zgsf] pQ/ lbg'xf];\ /Attempt All Questions.)                                                                                        

Group-'A'-;d"x'sÚ_ 

-clt ;+lIfKt pQ/fTds k|Zgx¿/Very Short Answer Questions.)   (11x1=11) 

!= b]jfgL sfg'g eg]sf] s] xf] < 

 What is Civil Law ?  
@= b]jfgL / kmf}hbf/L GofoaLrsf] s'g} b'O{ d"Vo leGgtf pNn]v ug'{xf];\ . 
 Mention any two major difference between civil and criminal justice.  
#= ljjflxt dlxnfn] ;DaGw ljR5]b ug{sf nflu lng'kg]{ s'g} b'O{j6f cfwf/ n]Vg'xf];\ .  
 Write any two criteria of divorce for a married woman.  
$= s'g} bDkltn] wd{k'q jf k'qL /fVg rfx]df klxnf] r/0fdf s] ug{ ;'emfj lbg'x'G5 < 
 If a couple wishes to adopt a child, what do you suggest them to take as the first step ?  

%= s]–s:tf lsl;dsf ck/fwx¿ h3Go ck/fw;Fu ;DalGwt x'G5g\ < s'g} b'O{j6f pNn]v ug'{xf];\ < 
 What sort of crimes is related to heinous crime ? Mention any two.  

^= kmf}hbf/L sfg'gcGtu{tsf] ;fk]If / lg/k]If bfloTjaLr /x]sf] km/s Ps jfSodf 5'6\ofpg'xf];\ . 
 Differentiate between relative and strict liability under criminal law in one sentence. 

&= Kof/f]n eGgfn] s] a'lemG5 < Ps jfSodf n]Vg'xf];\ . 

 What do you understand by parole ? Write in a sentence.  
*= lnR5jL sfndf s;'/bf/nfO{ s:tf lsl;dsf ;hfox¿ lbOGYof] < s'g} b'O{j6f pNn]v ug'{xf];\ . 
 What sort of sentences were given to the convicted during „Lichchhavi‟ period ? 

Mention any two. 

(= lst]{ eg]sf] s] xf] < 
 What is forgery ?  
!)= uf]klgotfsf] xs eg]sf] s] xf] < 
 State the term right to privacy.  
!!= ck/fw kLl8tsf s'g} b'O{j6f st{Jox¿ n]Vg'xf];\ . 
 Write any two duties of crime victims.  

 

;d"x'vÚ (Group 'B')  

;+lIfKt pQ/fTds k|Zgx¿  (Short Answer Questions.)    (8x5=40) 
!@= b]jfgL sfg'g / Gofosf] dxTj lsg 5 < k'li6 ug'{xf];\ . 

 Why civil law and justice is important ? Justify. 
OR 
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 "sfg'gsf] cglj1tf IfDo x'Fb}g" eGg] egfOnfO{ k'li6 ug'{xf];\ . 

 "Ignorance of law is no excuse." Justify.  

!#= s'g} k'¿ifn] cfkm\gf] kTgLsf lj¿4 ;DaGw ljR5]bsf] lgj]bg bfo/ ug{ rfx]df ckgfpg' kg]{ 

k|lqmofsfaf/]df ;'emfj lbg'xf];\ .  
 Suggest a male client regarding the steps to be taken while filing divorce petition 

against his wife.  
!$= wd{k'q jf k'qLn] lgjf{x ug'{kg]{ e"ldsf tyf lhDd]jf/Lsf af/]df 5f]6s/Ldf JofVof ug'{xf];\ . 
 Explain the roles and responsibilities of adopted children in brief.  
!%= ck/fw / kmf}hbf/L sfg'gsf] k|s[ltsf af/]df 5f]6s/Ldf JofVof ug'{xf];\ . 
 Explain the nature of crime and criminal law in brief.  

OR 

 ck/fwsf ljleGg r/0fx¿sf] af/]df k|sfz kfg'{xf];\ . 

 Illustrate the different stages of crime.  
!^= g]kfndf ;'wf/fTds b08 k|0ffnL s;/L k|of]udf NofOPsf] 5 <j0f{g ug'{xf];\ . 
 How reformative punishment system is operated in Nepal ? Explain.  

!&= g]kfnsf] cfw'lgs kmf}hbf/L Gofo k|0ffnLsf s'g} kfFrj6f ljz]iftf pNn]v ug'{xf];\ . 
 Mention any five characteristics of modern Nepalese criminal justice system. 

!*= ;DklQ;DaGwL s;"/sf] af/]df ;+If]kdf j0f{g ug'{xf];\ . 
 Explain briefly regarding the offences against property.  

!(= bf]xf]/f] vt/fsf] l;4fGt s:tf] cj:yfdf nfu" x'G5 < 
 In what situation the principle of double jeopardy is applied¿  

 

;d"x'uÚ (Group 'C') 

-lj:t[t pQ/fTds k|Zgx¿/Long Answer Questions._        (3x8=24) 
@)= klt;Fuaf6 c+z lnO{ leGg a:g rfx]df To:tf] dlxnfnfO{ d'n'sL b]jfgL ;+lxtf, @)&$ df ePsf] 

Joj:yfnfO{ cfwf/ dfGb} s:tf] ;'emfj lbg'x'G5 < pNn]v ug'{xf];\ . 
 How do you suggest a lady client who is wishing to get partition from her husband as 

per the provisions of Muluki Civil Code, 2074 B.S. ? Explain.  
@!= s/f/ eg]sf] s] xf] < j}w s/f/sf cfjZos tTjx¿sf] j0f{g ug'{xf];\ . 
 What is a contract ? Explain the essential elements of a valid contract.  
     OR 

 s/f/sf] pNnª\3g eGgfn] s] a'em\g'x'G5 < g]kfndf s/f/sf] pNnª\3g ePdf pknAw sfg'gL pkrf/sf 

af/]df pNn]v ug'{xf];\ . 

 What do you mean by breach of contract ? Mention the legal remedies available for 

breach of contract in Nepal.  

@@= “JolQm lj¿4sf] s;"/ uDeL/ ck/fw xf]” eGg] egfOnfO{ JolQm lj¿4sf] s;"/sf k|sf/sf cfwf/df k'li6 

ug'{xf];\ . 
 „Offences against person is a serious crime'. Justify this statement in the light of 

different kinds of offences against person.   

-0- 



ljifo sf]8 M ##@! 

 

/fli6«o k/LIff af]8{ 

gd'gf k|Zg 

P]lR5s g]kfnL   

-@)&(_ 

ljBfyL{x¿n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{ 5 . bfofF lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\s hgfpFb5 .  

;do M # 306f                  k"0ff{ª\s M &% 

;d"x …sÚ   

!= lbOPsf] syf+z k9L ;f]lwPsf k|Zgsf pQ/ lbg'xf];\ M         -#±@_  

;f]r]F cfh lhGbuL km]l/ gofF df]8df plePsf] 5, oxL gofF df]8df pleP/ ;f]Rb} 5' . of] df]8af6 cnlUuP/ 

uPsf b'O6f af6fx¿dWo] d s'g af6fdf cfˆgf] klxnf] kfOnf rfn"F < Pp6f af6fdf zlStxLgtf 5, 

c;Ifdtf 5, lg/fzf 5, c;Gt'li6 5, pbf;L 5, j}/fUo 5, knfog 5, 56k6L 5, s'07f 5, kL8f 5, b'Mv 

c;Gt'li6 5, pbf;L 5, clUgzfnf 5, cgf:yf 5, :g]xsf] cefj 5, csf]{ af6f] t]l5{Psf] 5 . x]5{ tn;Dd 

ToxfF hLjgsf oz:jL ;fx;L laDax¿ 5g\, sd{zLntf 5, hfu/0f 5, ;r]ttf 5, pTs[i6tf 5 . o;/L 

hLjgsf ofjt\ ;xh / ;sf/fTds kIfx¿ 5g\ . pHofnf ;|f]tx¿ 5g\, xl/ofnLx¿ x'g\ . zflGtk"j{s 

lhpg'sf cfwf/x¿ x'g\ .  

k|Zgx¿ 

-s_ dflysf] syf+zdf  s'g b[li6ljGb' k|of]u ePsf] 5 <pbfx/0f;lxt n]Vg'xf];\ .  

-v_ dflysf] syf+zdf …dÚ kfqdf lsg låljwf  pTkGg ePsf] xf] < b'O{cf]6f sf/0f lbg'xf];\ .  

@= tnsf] sljtf+z k9L ;f]lwPsf k|Zgsf] pQ/ lbg'xf];\ M        -#±@_ 

hxfF 

xl/ofxl/of kxf8sf kml/of 

clns tn ;f/]/ 

lgd{n, :jR5 / Gofgf] 3fddf 

lxdfnn] ;w}F 9f8 ;]s]sf] x'G5 

d hlt 6f9f eP klg Tof] d]/f] b]z 

;w}F d]/f] dgn] 

;kgfdf kfOnf 6]s]sf] x'G5 .     

 

k|Zgx¿ M  

-s_ dflysf] sljtf+znfO{ Jofs/l0fs kbj|mddf ¿kfGt/0f ug'{xf];\ .  

-v_ dflysf] sljtf+zdf k|s[ltnfO{ s;/L dfgjLs/0f ul/Psf] 5 < 

#= tnsf] lgaGwf+z k9L ;f]lwPsf k|Zgsf] pQ/ lbg'xf];\ M        -#±@_  

ljrf/ u/]/ NofpFbf o;sf] hDd} kf]n v'N5 . ;j{k|yd of] Pp6f nfdls/f] xf] . of] eGbf a9L s]xL xf]Og . 

o;sf] ls/f]kgsf] 1fg gx'Gh]n dfq dflg; o;l;t 8/fpg] x'g\ t/ kl5 t o;nfO{ a}7fpg] s}og\ ;lhnf jf 

hl6n} klg pkfox¿ dflg;n] kQf nufpF5 . o;sf] klg ;Lldt Oltxf; 5 . o;sf] klg k/Dk/f 5 . 

ha;Dd o;n] cfˆgf] k/Dk/fsf] ;fFu'/f]kgnfO{ 5f]8\g ;Sb}g ta;Dd o;sf] pGglt x'g'xF'b}g . o;sf] cfdfn] 



ljifo sf]8 M ##@! 

 
o;nfO{ ToxL b'nf]leq hGd lbO{, t;y{ o;n] klg cfˆgf] 3/ b'n}leq} agfPsf] 5 . cem o;sf] afa'n] o;sf 

s}og\ bfh'efO / lbbLalxgLnfO{ hGdg]lalQs} vfOlbof] / dfq of] afFr]sf] xf] . t;y{ of] sxfF;Ddsf] d"v{ 5 

eg] of] klg cfˆg} ;Gtlt vfg lha|f] nknkfpF5 . o;sL >LdtL o;nfO{ 3[0ffsf cfFvfn] x]l5{g\, y'OSs 

Hofgdf/f eg]/ . o;sf] hGdhft :jefj c¿nfO{ ljif 5g]{ ePsf]n] Ps t o;nfO{ s;}n] ljZjf;} ub}{gg\ / 

s;}n] ug{ vf]h] klg o;sf] j[l4 g} e|i6 ePsf]n] o;n] hf] xf]rf], p;}sf] d'vdf 3f]rf] u5{ / 6f]lsxfN5 . clg 

s;n] of] s'hftnfO{ dfof ug]{ < clg o;sf] l/;sf] aofg t s;}n] gu/] klg x'G5 . l/;}l/;n] o;sf] 3fF6L 

ˆof:; km'S5 / 6fpsf] t RofK6} . Tof] RofK6f] 6fpsf]df cxª\sf/ / ljgfzsf] of]hgfafx]s c¿ s]xL x'Gg . 

          

k|Zgx¿ M  

-s_ dflysf] lgaGwf+zdf uf]dg ;k{nfO{ s:tf dflg;;Fu t'ngf ul/Psf] 5 < 

-v_ dflysf] lgaGwf+zdf k|of]u ePsf Pp6f cg's/0ffTds zAb / Pp6f pvfg klxrfg u/L ltgsf] cy{ 

v'Ng] u/L jfSodf k|of]u ug'{xf]];\ .  

 

$= tnsf] cfTdhLjgLsf] c++z k9L ;f]lwPsf k|Zgsf] pQ/ lbg'xf];\  M        % 

;flxTo / bz{gdf ?lr /fVy] 3/df 3f]l6g'kYof]{ lx;fa / lj1fgdf afa' eg] uyF]{, æ;flxTo klg s'g} ljifo xf] 

/ < lx;fa u/ lx;fa .Æ s]]6fs]6Lb]lv g} 3'dGt] :jefjsL lyPF, eljiodf z}nfgL ag]/ b]z ljb]z 3'Dg' / 

hLjgdf e]6\6fOPsf cfTdljef]/tfx¿nfO{ n]Vg] u5'{ eGg] ;kgf / cfsfª\Iff kfNg] uy]+{ . PSn} klg 3'Dy]+, 

kfgLdf ?‰b}?‰b} klg 3'Dy]+, v'a jghª\un rxfy]{+ t/ 3/df k|ltaGw lyof] . h"gn] g'xfPsf] w/tLdf, 

km"naf/Lsf] PsfGtdf /ft latfpg dg nfUYof], rf}tf/Ldf ;'Tg dg nfUYof] t/ :jtGqtfsf] kv]6f s/fks'?k 

efFr]/ 9f]sf aflx/ kmflnlbFb} 3fd c:tfpgf;fy 3/leq kl;;Sg' kYof]{ . sqf] ljjztf, sqf] afWotf cfˆgf 

rfxgfx¿sf] xTof ug{ . t}klg ljb|f]x hfUYof] af/Daf/, slxn] cfFvf h''wfpFy]+ cleefjs;Fu / slxn] d'v klg 

nfUyF] . cfOdfO{ s]6fs]6L eP/ oltv]/ lg:sg'x'Gg eGg] k|rng a9L lyof], To; ;dosf] ;fdflhs kl/j]z 

lyof] cfhsf] eGbf lgs} ;fF3'/f] ;dfh . bfh'n] l;g]df x]g{ kfpg], xfdLn] gkfpg] < To;kl5 efu]/ l;g]df 

x]g{ l;lsof] . s]xL ;do t l;g]dfsf] nt g} nfUof] .  

 

 k|Zgx¿ M 

 -s_  dflysf] c+zdf s] s:tf]  k|]/s ;Gbe{ k|:t't ePsf] kfOG5 < 

 -v_ dflysf] c+zdf s:tf] ;dfhsf] lrq0f ul/Psf] 5 < 

 

;d"x ævÆ  

s'g} tLg k|Zgsf] pQ/ lbg'xf];\ M             #X% = !% 

%= cfw'lgs g]kfnL syfsf] k|of]ujfbL wf/fsf kfFr k|d'v k|j[lQx¿ n]Vg'xf];\ .  

^= dfWolds sfnLg z[ª\ufl/s g]kfnL sljtfsf If]qdf df]tL/fd e6\6sf] of]ubfg d"Nofª\sg ug'{xf];\ .  

&=  cfw'lgs sfnsf g]kfnL gf6ssf] r/0f ljefhg u/L k|d'v kfFr k|j[lQx? pNn]v ug'{xf];\ . 

*=  cfw'lgs g]kfnL pkGof;sf] klxnf] r/0fsf k|d'v k|j[lQx? j0f{g ug'{xf];\  .   

    

        ;d"x æuÆ  

s'g} b'O{sf] ;k|;ª\u JofVof ug'{xf];\ M        @ X % = !) 

(= d]/f] klg of] 3/df s]xL xs 5 . dnfO{ xs rflxPsf] 5, dnfO{ Gofo rflxG5 lgufx x}g, bof x}g . 



ljifo sf]8 M ##@! 

 
!)= sxLF a'FVofrfn] ltdLnfO{ g} a'FVofrf elg7fGof t 5}g ===< 

!!= wtL{df ;'vzflGtsf ls/0fn] 5fO{ lbg] nIosf  

    xfdL Gofo prfNg jL/ultsf] af6f] lng] kIfsf   

 

;d"x æ3Æ 

s'g} Ps k|Zgsf] pQ/ lbg'xf];\ M         !×^ Ö ^ 

!@= …dxfk'?ifsf ;ª\utÚ lgaGwsf lgaGwsf/n] cfkm"nfO{ dxfk'?if 3f]if0ff ugf{sf sf/0fx? pNn]v  ug'{xf];\ .  

!#= …kl/aGbÚ syfdf k|:t't 5cf]6f k|d'v 36gfnfO{ qmda4 ¿kdf k|:t't ug'{xf];\  .  

         

;d"x æªÆ 

s'g} tLg k|Zgsf] pQ/ lbg'xf];\ M        #×* Ö @$ 

!$=d;fg gf6sdf o'jtL / b'nxLsf] rl/qut leGgtf  s]nfpg'xf];\  . d;fg gf6s 

!%= O/kmfg cnL syfsf h:tf kfqx¿ cfhsf] g]kfnL ;dfhdf kfOG5g\ < ts{;lxt cfkm\gf] k|ltlqmof 

n]Vg'xf];\ . 

!^= cf}kGofl;s kfqM hLjgsf] k[i7e"lddf lgaGwnfO{  zLif{s  / p2]Zosf cfwf/df d"Nofª\sg ug'{xf];\ . 

!&= tnsf] sljtf+zsf] 5Gb / cnª\sf/sf b[li6n] ;dLIff ug'{xf];\ .  

;ª\sNksf] 5 wfuf] 5'6L–/x]sf] nuftf/ . 

ub{5 h;sf e/df hLjg–rª\uf ljleGg ;~rf/ .. 

Tof] dl;gf wfufdf lvl/nf]kg Nofpg] tfhf . 

3l;Psf] ax't ;kmf ljj]s an a'l4sf] dfhf .. 

-0- 
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NEB-XII 

Model Question  

(2079/2023) 

Optional English  

                                                                                     
Candidates are requested to give their answers in their own words as far as practicable. 

Attempt all the questions. 

Time: 3 hours                                                                                                    Full Marks.: 75 

 

Group A  

Tick (√) the correct answer from the alternatives given in each question below.  (11x1=11) 

1. To which one of the following language families does official Nepali language belong?  

 a. Afro-Asiatic   

 b. Sino-Tibetan   

 c. Niger-Congo  

 d. Indo-European 

2. Language change as a result of globalization occurs due to which of the following reasons?  

 a. fashion  

 b. foreign influence  

 c. broadening   

 d. narrowing 

3. Kituba is a widely used lingua franca in Central Africa. It is based on Kikongo, a Bantu 

language. It is also a national language in the Democratic Republic of the Congo.Which one 

of the following types of language is it? 

 a. pidgin 

 b. creole 

 c. vernacular 

 d. slang 

4. Who is the author of the story ‘Paul’s Case’?  

 a. Willa Cather   

 b. Sir Arthur Canon Doyle  

 c. M C Vassanji 

 d. Rudolfo Anaya 

5. What kind of story is ‘The Three Students’?  

 a. a horror story  

 b. a humorous story   

 c. a detective story  

 d. a satirical story 

6. ‘I can resist anything but temptation.’ What is this sentence an example of? 

 a. paradox     

 b. oxymoron 

 c. analogy      

 d. euphemism 

 

 



7. Which one of the following poems is a ballad?  

 a. Mending Wall  

 b. No Second Troy  

 c. A Woman   

 d. The Three Knights 

8. What does the poet imply through the line ‘I grew whiter and whiter’ in the poem 

‘Kidnapped’?  

 a. he became a more learned person.   

 b. he got influenced by western education system. 

 c. he was happy to become a European.   

 d. he got assimilated in the western culture. 

9. What year was the play ‘All My Sons’ written?  

 a. 1947    

 b. 1949     

 c. 1953    

 d. 1955 

10.  Which one of the following literary elements is richly endowed in the play ‘All My Sons’?  

 a. irony    

 b. symbol    

 c. image   

 d. metaphor 

11. Which of the following does linguistic sign comprise?  

 a. sign and signifier     

 b. signifier and signified   

 c. arbitrariness and conventionality    

 d. signified and binary 

Group- ‘B’ 

Give short answers to the following questions in about 75 words each.    (8x5=40) 
12. What is language death? Give suitable examples of language death.  

 

13. Is content knowledge more important than acquisition of skills?Why, why not? Give reasons 

to support your answer. 

 

14. How does Julian show the important theme of hypocrisy in the story ‘Everything That Rises 

Must Converge’?  

 

15. In what way does the story ‘A Deal on Wheat’ reflect influence of naturalism? Explain 

briefly.  

 

 

16. How does lean production combine the best features of both craft and mass production? 

Explain. 

OR 

 ‘The reality is that we do not know what to think about death: not that of a fly, or of a dog or a 

pig, or of ourselves.’ Do you agree or disagree with this key idea given by Stephen Cave? 

Give reasons based on the essay 'Not Nothing'? 



 

17. Summarize the poem ‘If I Should Die.’  

 

18. Differentiate textual perspective from contextual perspective.  

 

19. According to Sigmund Freud, literary creation emerges from unconscious state of mind. Do 

you agree or disagree? Justify your opinion. 

OR 

 Evaluate how postmodern perspective addresses the issue of plurality. 

Group -‘C’ 

Write long answer to the following questions in about 150 words each.      (3x8=24) 
20. Summarize the essay ‘A Black Grandmother’.  

21. Interpret the following lines of the poem ‘Lord! Make me a Sheep’ in your own words 

relating the speaker’s feelings to the contemporary materialistic society. 

 

 Let me have divine animality, O Providence,  

 Be kind to me and seize me quickly! 

 Come! Please! 

 Make me a sheep right now. 

OR 

 Do you believe that abstract reasoning is predominantly the  male field of thought? Give 

reasons in support of your answer. 

 

22. Do you think the play ‘All My Sons’ is the play of responsibility, tragedy and guilt? Justify 

your answer with examples.  

-0- 
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Model Question  

Business Mathematics 

Time : 3 hrs     Full Marks : 75 

 Group A [11 × 1=11] 

1. If A =  
0    3

−3     0
  be a square matrix, which of the following relations is true?  

2. What is the value of  
1      − 1        − 1
−1         0            1
0          1           0  

 ? 

 a) 0  b) 1  c) -1  d) 3          

3. Which of the following entries will make the matrix  
…−  0.1

−0.2         0.3
  satisfy 

Hawkin's –Simon conditions? 

a) -0.2  c) 0.5 

b) 0   d) 0.01    

4. On calculation of Elasticity of demand if Ed = -2.25 then 

a) Demand is unit elastic   

b) Demand is elastic 

c) Demand is inelastic 

d) Demand is viable      

5. What is the integrating factor of the differential equation 

 
𝑑𝑦

𝑑𝑥
 - 

𝑦

𝑥
 = e

x
 ? 

a) - 
1

𝑥
  b) x  c) log x d) 

1

𝑥
  

6. If 'P' be the present value 'PT' the present value of future return, 'T' the time of 

cash flow, 'i' the discount rate per annum then which of the following is applied to 

find the present value of future return. 

a) P = 
𝑃𝑇

(1+𝑖)𝑇
   b) P = 

𝑃𝑇

(1−𝑖)𝑇
 

c)   PT = 
𝑃

(1+𝑖)𝑇
   c) PT = 

𝑃

(1−𝑖)𝑇
   

7. What is the geometric mean between 1 and 64? 

a) 5  b) 7  c) 8  d) 9  

8. There are 'm' simultaneous linear equations and 'n' unknown variables (n>m) then 

which of the following is the numbers of basic solution. 

a)m + n  b) n – m c) m – n d) n  

Sub.Code: 4061 



9. The original cost of machine is Rs. 50000. It depreciates at the rate of 20% per 

annum then what is the value of machine after 2 years. 

a) Rs. 10000  b) Rs. 20000  c) Rs. 25000  d) Rs. 32000 

10. In a frequency distribution the difference between mean (𝑋 ) and mode (Mo) is 1.4 

and coefficient of skewness SK(P) is 0.625. What is the value of standard 

deviation? 

a) 1.24 b) 2.24  c) 1.34  d) 2.34   

11. If P(A) and P(B) are probability of events A and B respectively. Which of the 

following condition is true? 

a) P(A/B) = 
P(A∩B)

P(A)
  b) P(A/B) = 

P(A∩B)

P(B)
   

c) P(A/B) = 
P(A)

P(A∩B)
  d) P(A/B) = 

P(B)

P(A∩B)
  

 Group B [8 × 5=40] 

12. 3x + 3y = 6 and x + y = 2 are two simultaneous equations. 

i. Write the above system of equations in the matrix form AX = B where A, X 

and B have their usual meanings.      [1] 

ii. Find the determinant of A.      [1] 

iii. Does the inverse of A exit?      [1] 

iv. Does the system have unique solution?     [1] 

v. On the basis of Gauss elimination method, what types of the solutions exist. [1]

    

13. If A = 
1 2 −3
2 −1 4
3 1 3

 , find A
-1

 and verify that A.A
-1

 = I3   [5] 

14. a)  Write average cost (AC) in terms of total cost (C) and output (Q)  [1] 

b) What does  𝑓 𝑥 𝑑𝑥
𝑏

𝑎
 represent geometrically?     [1] 

c) Write the degree of differential equation 
𝑑𝑦

𝑑𝑥
 + 2y = 5.    [1] 

d) If P is demand function and Q is output, Write the corresponding revenue 

function.          [1] 

e) Write the formula of elasticity of demand (Ed).     [1]              

15. The demand function is Pd = 196 – x
2
 and the supply function is Ps = x

2
 + 4x + 126. 

Find the consumer and producer surplus at market equilibrium.    [5] 

16. The birth rate population in a certain country is given by 

 
𝑑𝑝

𝑑𝑡
 = 0.15(6000 – P) where t is the time in years. (P = 0 when t = 0). 

a. Solve the above differential equation.     [3] 

b. Calculate the population after 10 years.      [2] 



17. Using simplex method, maximize(z) = 6x – 9y, subject to the constraints  

x + y ≤ 20, 2x – 3y ≤ 6, x, y ≥ 0.       [5] 

18. The height(ft) and weight(Kgs) of five students of a class  are given below: 
 

Height 4 4.5 5 5.5 6 

Weight 30 38 42 58 70 
 

Find the correlation coefficient between the height and weight. Also interpret the 

result.                [4 + 1] 

19. A binomial distribution has 5 independent trials. If the probabilities of 1 and 3 

success are 
1

4
 and 

144

625
 respectively, find p and q. Also find the probability of 2 

success.          [5]

  

 Group C [8 × 3=24] 

20. a) A rectangular garden requires 144m of fencing wire for its complete 

fencing. What will be its shape if its area is maximize? Justify its  

reason. [4 + 1] 

 b) Find the area between curves y = x
3
 and x-axis, when x = -2 and y = 8.    [3] 

21. a) The ages in years of three students are in G.P such that the sum and the product 

of their ages are 21 and 64 respectively. Find their ages in years.       [4]  

b) A donor decides to grant scholarship to the student of medicine Rs. 50000 

yearly for 5 years. What sum of money should be deposited in the bank with 

the compound rate of interest 8% per year so that the sum is sufficient to 

grant the scholarship at the end of each year.         [4] 

22. a) Regression equations in two variables X  and Y are  

3X + 2Y – 26 = 0 and 6X + Y – 31 = 0. 

i. Find the mean values of X and Y.         [2] 

ii. Find two regression coefficients.         [2] 

b) In a season, 70% visitors went to travel Janakpur and 30% visitors to 

Lumbini. It is estimated that 35%Janakpur visitors and 65% Lumbini 

visitors are Nepali. A visitor is selected at random and found to be Nepali. 

i. What is the probability that the visitor is Janakpur visitor?      [2] 

ii. What is the probability that the visitor is Lumbini visitor?     [2] 
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Model Question 
General Law 

 

ljBfyL{x¿n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{ 5 . (Candidates are required to give 

their answers in their own words as far as practicable) 
Time: 3 hrs.          Full marks: 75 

 

;a} k|Zgsf] pQ/ lbg'xf];\ .(Attempt all the questions) 
 

;d"xÚsÚ(Group ‘A’_ 

-clt ;+lIfKt pQ/fTds k|Zgx¿/Very Short Answer Questions_   (11x1=11) 

!= g]kfnsf] ;+ljwfgsf] s'g wf/fdf uf]kgLotfsf] xssf] Joj:yf ul/Psf] 5 < 

 In which Article of the Constitution of Nepal do you find Right to Privacy ?  

@= s'g df}lns xsn] g]kfndf Jofkf/÷Joj;fo ;~rfng ug{ lglZrt ub{5 < 

 Which fundamental right ensures the operation of a business in Nepal ?   

#= cf}Bf]lus ;DklQsf b'O{j6f k|sf/x¿ n]Vg'xf];\ . 

 Write any two types of industrial property.  

$= jf}l4s ;DklQ eg]sf] s] xf] < 

 What is meant by intellectual property ?  

%= bflvn vf/]h eg]sf] xf] < 

 What is deregistration ? 

^= ck/fwsf tTjx¿ n]Vg'xf];\ . 

 Write the elements of crime.  

&= uDeL/ ck/fw / h3Go ck/fwaLr s'g} Pp6f km/s 5'6\ofpg' xf];\ . 

 Differentiate between serious and heinous crime. Give any one difference. 

*= hfx]/L b/vf:t eg]sf] s] xf] < 

 What is First Information Report ?  

(= cw{Goflos lgsfoaf/] pNn]v ug'{xf];\ .  

 Mention quasi-judicial bodies. 

!)= g]kfnsf tLg txsf cbfnt s]–s] x'g < n]Vg'xf];\ . 

 Mention the three tiers of court under the judiciary of Nepal.  

!!= g]kfnsf] s'g cbfntnfO{ clen]v cbfnt elgG5 < 

 Which court of Nepal is called the court of record ?  

 

;d"xÚvÚ(Group 'B'_ 

-;+lIfKt pQ/fTds k|Zgx¿/Short answer questions)    (8x5=40) 

!@= vfB ;Dk|e'tf eg]sf] s] xf] < 5f]6s/Ldf j0f{g ug{'xf];\ . 

 What is food sovereignty ? Explain in brief.  



 
 

!#= ck/fw kLl8tsf clwsf/sf af/]df 5f]6sf/Ldf j0f{g ug{'xf];\ . 

 Explain briefly about the crime victim.  

!$= g]kfndf k|ltlnkL clwsf/ s;/L ;+/If0f ug{ ;lsG5 < 

 How do we protect copy-rights in Nepal ?  

!%= ljB'tLo ;DklQsf] dxTj / cfjZostfaf/] pNn]v ug{'xf];\ . 

 Write the necessities and importance of cyber property.  

!^= btf{ u/fpg' kg]{ d'Vo lnvtx¿ s]–s] x'g\ < n]Vg'xf];\ . 

 What are the major deeds to be registered ?  

cyjf (OR) 

 n]gb]g Jojxf/ eg]sf] s] xf] < n]gb]g ;DaGwL rf/ j6f sfg'gL k|fjwfgx¿ pNn]v ug{'xf];\ . 

 What is transaction¿ Point out the four legal provisions of transaction. 

!&= g]kfndf ;+ul7t ck/fw lgoGq0fsf pkfox¿ s]–s] x'g< 5f]6s/Ldf n]Vg'xf];\ . 

 What are the ways of controlling organized crimes in Nepal ?  

!*= plrt sfg'gL k|s[of eg]sf] s] xf] < j0f{g ug{'xf];\ . 

 What is due process of law ? Explain. 

!(= ;jf]{Rr cbfntsf c;fwf/0f clwsf/ If]q s]–s] x'g < 

        What are the extra-ordinary jurisdictions of the Supreme Court ? 

cyjf (OR) 
 g]kfndf cw{ Goflos lgsfosf sfo{x¿ n]Vg'xf];\ . 

 Write the functions of quasi-judicial bodies in Nepal. 

;d"xÚuÚ (Group C_ 

- lj:t[t pQ/fTds k|Zgx¿/Long answer questions.)           (3x8=24) 

@)= g]kfndf ;fdflhs ;'/Iff;DaGwL clwsf/sf] sfof{Gjog s;/L x'G5 < pbfx/0f ;lxt a0f{g 

ug{'xf];\ . 

 How is the right to social security enforced in Nepal to ensure social justice ? 

Describe with suitable examples.   

cyjf (OR) 

 tkfO{Fsf] hLjgdf df}lns xssf] k|of]u s;/L ug{'ePsf] 5 <pNn]v ug{'xf];\ . 

 How do you apply fundamental rights in your life ? Illustrate. 

@!= ;fj{hlgs ;DklQ / ;/sf/L ;DklQaLrsf] t'ngf u/L leGgtf 5'6\ofpg'xf];\ . 

 Compare and contrast between government property and public property.  

@@= lkm/fbkq eg]sf] s] xf] < lkm/fbkq tof/ ubf{ Wofg lbg'kg]{ s'/fx¿ pNn]v ug{'xf];\ . 

 What is complaint ? Explain the points to be considered to prepare a complaint.  
-0-  
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NEB- XII 
2079 /2023 

Model Question  

Finance 
Candidates are required to give their answers in their own words as far as practicable. 
The figures in the margin indicate full marks.  
 

Time : 3 hrs       Full Marks: 75 
 
Attempt All Questions 

Group ‘A’  

-clt ;+lIfKt pQ/fTds k|Zgx¿/Very Short Answer Questions.)       11 x 1=11  

1.  ljQzf:qsf] cy{ pNn]v ug'{xf];\ . 

 State the meaning of finance.                                                                 

2.  olb tkfO{FnfO{ s'g} sDkgLsf] ljQLo ljj/0f tof/ ug{ lbOPdf s'g s'g ljj/0f 

;dfj]z ug{'x'G5 , s'g} b'O{j6f pNn]v ug{'xf];\ .   

 If you are authorized to prepare financial statements of a company, what 
statements would you include? State any two.                              

3.  cg'kft ljZn]if0fsf] cy{ pNn]v ug'{xf];\ .  

 Mention the meaning of ratio analysis.                                                   

4.  ;fwf/0f z]o/eGbf k"jf{lwsf/ z]o/ s;/L leGg 5 < s'g} b'O{ cfwf/x¿ pNn]v 

ug'{xf];\ . 

 How does common stock differ from preferred stock ? State any two 
criteria. of differences between common stock and preferred stock ?    

5.  ljQLo ;+/rgf eg]sf] s] xf] < 
  What is financial structure?                                                                   

6.   z"Go Aofhb/ c+lst C0fkqsf] d"No s;/L lgwf{/0f ul/G5 <  

 How is value of zero-coupon bond calculated ?                                   

7.  sfo{zLn k'FhLsf s'g} b'O{ lgwf{/s tTTjx¿ pNn]v ug'{xf];\ . 

  State any two determinants of working capital.                                 

8.  nfef+zsf] cy{ n]Vg'xf];\ . 
  Write the meaning of dividend.                                                            

9.   58\s] ljlgdo b/sf] s'g} b'O{ laif]ztfsf a'Fbf pNn]v ug'{xf];\ .  

 Point out any two features of cross exchange rate.   

10.  olb Pp6f sDkgLsf] s'n C0f k'FhL ¿=%)),))) dWo] $)∞ bL3{sfnLg C0faf6 

;+sng ul/G5 eg] cNksfnLg C0fsf] /sd slt x'G5 <  

 If total debt of the company Rs.500,000. 40% of the capital collected through 
long term debt, find out the amount of short-term source.    

11.  olb Ps 8n/sf] jt{dfg ljlgdo b/ ¿=!@) 5 eg] ¿=%),))) sf] nflu slt 

8n/ rflxG5 < 
 If current exchange rate is Rs.120 per dollar, how much dollar is needed for 

Rs.50,000 ?                                                                                        

  

 

 

 



 2 

 
Group B 

 

-;+lIfKt pQ/fTds k|Zgx¿/Short Answer Questions)            (8 × 5 = 40) 

12. olb tkfO{F s'g} sDkgLsf] ljQLo Joj:yfks lgo'lQm ePdf  tkfO{Fn] s:tf 

lhDd]jf/Lx¿ jxg ug'{kg{] x'G5 < aofg ug{'xf];\ .  
 If you are appointed as a  financial manager of a company what 

responsibilities will you have to  take ? Explain.       5 

13.   tkfO{Fn] s'g} sDkgLsf] jf;nft lgdf{0f ubf{  jf;nftsf ;Dklt / bfloTjtkm{ s:tf 

zLif{sx¿ ;dfj]z ug{'x'G5 <   

 If you are preparing a Balance Sheet of certain company, what components 
will you incorporate in Assets and liabilities sides of it .  5 

14.  ;do / :jfldTjsf] cfwf/df sf]if jf k'FhLsf] ;|f]tx¿ j0f{g ug{'xf];\ .   

 Clarify the sources of fund based on time and ownership.   5 

15.  Pp6f sDkgLsf] aflif{s :yL/ ;+rfng vr{ ¿= @,)),))) 5 . k|lt PsfO{ 

kl/jt{gzLn ;+rfng vr{ ¿=@) / cf}ift las|L d'No ¿= #) 5 . jflif+s kf/ laGb' 

PsfO{ / ?k}ofFdf slt x'G5 < 

A Company has fixed operating cost of Rs.200,000 a year. Variable operating 
cost is Rs. 20 per unit of product and average selling price is Rs.30 per unit. 
How much the annual operating break-even point in unit and rupees ? 2.5+2.5 

16.  nufgL lg0f{osf] dxTTjx¿ a0f{g ug'{xf];\ . 
 Explain the importance of investment decision.  5 

17.   B lgdf{0f sDkgLsf] las|L df}Hbft cg'kft * u'0ff;lxt jflif{s las|L ¿=*,)),))) 

5 . k|fKo ;+sng cjlw #) lbg / e'Qmflg :yug cjlw @) lbg 5 . dfgf} #^) 

lbgsf] Ps jif{ x'G5 .  
 B manufacturing company has annual sales of Rs.800,000 with an inventory 

turnover ratio of the 8 times. It has receivable collection period of 30 days, 
and a payable deferral period of 20 days. Assume 360 days in a year.  

  

kQf nufpg'xf];\ (Required):  3+2 

 a.  df}Hbft kl/0ft cjlw (Inventory conversion period)  

        b. gub kl/0ft cjlw  (Cash conversion cycle)  
18.  nfef+z e'Qmflg ubf{  ;fdfGotof s:tf  k|s[ofx¿ ckgfpg] ul/G5 < :ki6 kfg{'xf];\ . 

What procedures are generally followed while distributing dividend. 
Elucidate . 5 

19.  ax'/fli6«o / :jb]zL ljQLo Aoj:yfkgaLr km/s 5'6\ofpg'xf];\  .  

Differentiate between multinational and domestic financial management.   5 

OR 
 la|l6z kf}08 / cd]l/sg 8n/aLrsf] ljlgdo b/ !=^^ 8n/ k|lt @ kf}08 5, hjsL 

hd{g dfs{ / cd]l/sg 8n/aLrsf] ljlgdo b/ !=@# 8n/ k|lt dfs{ 5 eg] la|l6z 

kf}08 / hd{g dfs{aLrsf] 58\s] b/ kQf nufpg'xf];\ .  

 The exchange rate between British Pound and US Dollar is 1.66 dollar per 
pound, whereas the exchange rate between US Dollar and German Mark is 
1.23 dollar per German Mark, find out the cross rate between British Pound 
and German Mark ?  5 
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Group C 

 

-lj:t[t pQ/fTds k|Zgx¿/Long Answer Questions.)  (3 × 8 = 24) 

20.  PQR sDkgLsf] lgDgfg';f/ hfgsfl/x¿ lbOPsf 5g\  
 The following information is available from PQR Company:  
  

cf;fdLx¿ (Debtors) Rs.40,000 

rfn" cg'kft (Current Ratio) 2.5:1 

gub (Cash ) Rs.60,000 

:yL/ ;DklQ  (Fixed Assets) Rs.200,000 

C0fkq  (Debenture) Rs.100,000 

v'b gfkmf (Net Profit) Rs.80,000 

v'b gfkmf cg'kft (Net Profit Margin) 20% 

rfn" bfloTTj (Current Liabilities) Rs.80,000 

C0f :jfldTTj cg'kft (Debt-equity ratio) 50% 

Ps aif{df sfo{ lbg  (Days in a year ) 360 
 

kQf nufpg'xf];\ Required:   

a. clGtd df}Hbft (Closing Stock ) 

b.  rfn" cg'kft (Quick Ratio)  

c. las|L  (Sales )  

d. l:y/ ;DklQ las|L cg'kft (Fixed Assets turnover ratio_ 

e. l:y/ ;DklQdf k|ltkmn (Return on Fixed Assets_ 

f. :jfldTTj k'FhLdf k|ltkmn (Return on Equity_ 

g. df}hft las|L cg'kft  (Inventory Turnover Ratio_ 

h. las|L lbg aSof}tf  (Days sales outstanding_ [18=8] 

21. a. C0f;Fu ;DalGwt lgDg hfgsf/Lx¿ lbOPsf 5g\  

 Following information related to bond are given:   

 kl/kSj cjlw (Maturity period_ 8 years  

 c+lst d"No (Par Value_ Rs.100 

 Aofh b/ (Interest rate_ 0% (Zero coupon bond)  

 k|ltkmn b/ (Rate of return _  10%  

kQf nufpg'xf];\ Required: Value of bond -C0fkqsf] d"No_    4 

b. Pp6f sDkgLn] xfn} k|lt z]o/ gub nfef+z ¿=!^ e'Qmflg u/]sf] 5 . z]o/wlgx¿sf] 

nufgLdf k|ltkmn !@∞ rfx]sf 5g\ . olb k|ltaif{ !)∞ a[l4b/sf] ck]Iff ul/Psf] 5 

eg] M 
 A Company has just paid a cash dividend of Rs.16 per share. Shareholders 

required a 12% return from their investment. If expected rate of growth is 
10% per year. 

  

 

 



 4 

kQf nufpg'xf];\ (Required):  z]o/sf] jt{dfg d"No (Value of Stock at present) 5 
OR 

;fwf/0f z]o/sf] d"Nofª\sg ug{] k|s[of pbfx/0f;lxt AofVof ug'{xf];\ .  

What procedure is adopted for valuing common stock ? Explain with example. 8  
  

 

22. Pp6f sDkgLn] % aif{sf nflu gofF d]l;g vl/b ug]{ ;f]r agfPsf] 5 . gofF d]l;gsf] 

nfut ¿=^)),))) kg]{5 . cfufdL kfFr aif{sf nflu aflif{s v'b gub k|jfx 

lgDgfg';f/ x'g]5 .   

 A Company is considering to acquire one new machinery for 5 years. New 

machinery costs Rs.600,000. Annual net cash inflow for five years will be as 

follows:  

Year -aif{_ Cash flow -gub k|jfx_ 

0 (600,000) 

1 200,000 

2 300,000 

3 200,000 

4 300,000 

5 180,000 

a.  pQm sDkgLsf] nuflg lkmtf{ cjlw kQf nufpg'xf];\ . 

 Find out the payback period of the Company ?  

b.  olb sDkgLsf] clwstd nfut lkmtf{ cjlw % aif{ 5 eg] pQm d]l;g vl/b ug'{ 

pko'Q x'G5 <   

 Should the company purchase the machinery if its maximum cost recovery period is 

5 years?   

   

c.  olb cfjZos k|ltkmn b/ !%∞ 5 eg] sDkgLsf] v'b jt{dfg d"No kQf nufpg'xf];\ . 

 If required rate of return is 15%, calculate the net present value of the company. 

(2+2+4)  
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NEB -XII 

Model Question 

2079(2023) 

Computer Science 
Candidates are required to give their answer in their own words as far as practicable. The figures in the 

margin indicate full marks. 
 

Time:-2 hrs. Full Marks:- 50 

 Group A  

Rewrite the correct options of each questions in your answer sheet.  (9x1=9) 

1. In which normal form of database, atomicity is introduced? 
A) First  B) Second C) Third  D) Fourth 

 
2. Which of the following techniques is not implemented to protect a database?  

A) Rollback  B) Backup C) Recovery D) Firewall 
 

3. Which one of the following SQL commands is executed to display all the records having a second 
letter in the LNAME (LAST NAME) as “A” from the customer table? 
A) SELECT * FROM CUSTOMER WHERE LNAME LIKE “?A%”; 
B) SELECT * FROM CUSTOMER WHERE LNAME LIKE “_A%”; 
C) SELECT * FROM CUSTOMER WHERE LNAME LIKE “A%”; 
D) SELECT * FROM CUSTOMER WHERE LNAME LIKE “%A”; 

 
4. Which of the following is an incorrect IP address?  

A) 192.168.0.1 
B) 192.168.1 
C) 172.255.0.0 
D) 202.10.79.4 

 

5. Which of the following is a server-side scripting language? 
A) JavaScript B) MySql C) PHP  D) Jquery 

6. Which of the following keywords are used to declare a variable in JavaScript?  
A) int or var B) float or let C) var or let D) char or var 
 

7. Which of the following commands is executed in PHP to concatenate the variables $x with $y?  
A) $x + $y B) $x=$y C) concat ($x,$y)  D) $x.$y 

 
8. Which statement is incorrect about the object-oriented approach?  

A) Emphasis is on data rather than procedure. 
B) Data is hidden and cannot be accessed. 
C) Objects communicate through functions. 
D) It supports abstract data but not the class. 
 

9. Which of the following feasibility study is concerned with cost benefit analysis?  
A) Technical feasibility 
B) Economic feasibility 
C) Operational feasibility 
D) Schedule feasibility 



Group B 
Short Answer Questions        [5x5=25] 
 
10. Which type of database system (centralized or distributed) is mostly preferred by financial institution 

like a bank? Give any four suitable reasons. [1+4] 
OR 

Nowadays most of the business organizations prefer applying relational model for database design 
in comparison to other models. Justify the statement with your arguments. 5 
 

11. Develop a program in JavaScript to exchange/swap the values of any two variables. 5 
OR 

  How can you connect a database with PHP? Demonstrate with an example.               5 
 
12. Describe the concept of Object Oriented and Procedure Oriented Programming in brief. 2+3 
 
13. Write down any five qualities of good software. 5 
14. Explain mobile computing with its advantages and disadvantages. 5 

 
Group C (Long Answer Questions) 

Give the long answers to the following questions. [2x8=16] 
 

15. Why do most of the business organizations prefer setting their network with the client-server 
architecture? Write its advantages and disadvantages.  [2+6] 

 
16. Develop a program in C using structure to ask the information of any 12 students with roll_number, 

name and marks scored in sub1, sub2, and sub3. Also, display them in proper format along with the 
calculation of total and percentage. [Note: the full marks of each subject is 100]. 

OR 
 Demonstrate a program in C to create a data file named score.dat to store students’ information 

with Reg_no, name, gender, and address. The program should ask the user to continue or not. 
When finished, the program should also display all the records in the proper format. 

-0- 
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Hotel Management  
Model Question 

Candidates are required to give answers in their own words as far as practicable. Figures 

in the margin indicate full marks. 
 

Time: 2 hrs.          Full Marks: 50 

Attempt all questions. 

Group 'A'   

Very short answers questions:           9x1=9 

1. What is credit card ?        

2. How would you suspect the suspicious guest in hotel as a front office staff? 

State any two points.        

3. What is the appropriate temperature range for poaching?  

4. Why is cleaning important? write any two points.  

5. Name the common garnishes for serving cream soups.   

6. How do you dress Nepali style salad?    

7. Define venue.        

8. Enlist any two personal events.(Unit-5)      

9. Mention any two primary functions of carbohydrate.   

Group'B' 

Short answers questions:       5x5=25 

10. Suggest preventive measures of food poisoning.    [5] 

11. What procedure would you follow for bed making?   [5] 

                                          OR 

As a housekeeping staff, what steps would you adopt while "spring cleaning "a 

guestroom.          [5]  

12. Define carpet and what equipment and agents will you choose for cleaning 

carpet.          [2+3] 

13. Distinguish between fermented and distilled alcoholic beverage.  [5] 

14. Draw a format of KOT and explain its purposes.        [2+3]  

                OR 

Compare a' l carte and table d'hote menus.    [5] 

Group 'C'   

Long answers questions:        8x2=16 

15.  How can we develop Nepali food varieties using sauce as mother sauce in 

continental food? Discuss.           [8] 

16. Explain the normal guest check-in procedure along with the essential 

information required during the process.     [6+2] 

                                        OR                                                                         

 Explain the objectives of visitor tabular ledger and it’s posting procedure in 

detail.          [2+6]                        

-0- 
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Model Question 

Mass Communication 

ljBfyL{x¿n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfofF lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\s hgfpFb5 .  

(Candidates are required to give their answers in their own words as far as practicable. The figures in the 

margin indicate full marks.)  
 

;do M # 306f           k"0ff{s M &% 

;d"x …sÚ (Group 'A') 
-clt 5f]6f] pQ/fTds k|Zgx¿ / Very short answer questions.)    [11×1=11] 

1. ;Dkfbsdf x'g'kg]{ Go"gtd z}lIfs of]Uotf n]Vg'xf];\ <  
What is the minimum educational qualification required for an editor?  

2. ;dfrf/df 8]8nfOg lsg dxTTjk"0f{ 5 <  
Why is deadline important in the news ?  

3. lkmr/sf s'g} b'O{ k|sf/x¿ pNn]v ug'{xf];\ .  
Mention any two types of ‘features'.  

4. फिचर लेखनका लाफग उपयुक्त हुने कुनै दुई फिषय िा मुद्दाहरू फििाररि गनुुहोि्।  
Recommend any two topics/issues that would be suitable for feature writing.  

5. tkfO{ “n] lkmr/ n]Vbf Wofg lbg'kg]{ s'g} b'O{ kIf n]Vg'xf];\ .   
Write any two aspects you consider while writing feature.  

6. नेपालमा अन्य िञ्चार माध्यमको तुलनामा रेफडयो फकन प्रभािकारी छ ? कुनै दुई कारण उले्लख गनुुहोि् । 
Why is radio comparatively effective than other media in Nepal¿ Mention any two reasons.  

7. गोरखापत्रले आफ्नो पफहलो t:jL/ s'g ;fndf k|sflzt u/]sf] lyof] <  
When did Gorkhapatra publish its first photo?   

8. kmf]6f] SofK;g lsg n]lvG5 <  
Why is photo caption written ?  

9. जानकारी िङ्कलन गदाु िोटो पत्रकारले िामना गनु िके्न दुईिटा चुनौतीहरूको बारेमा pNn]v ug'{xf];\ .    
Write any two challenges that a photojournalist could encounter when gathering information.  

10. k|]; sfplG;nsf] :yfkgf slxn] eof] <   
When was Press Council established ?  

11. नेपालको िंफिधान २०७२ को कुन धारामा िञ्चारको हक उले्लख ul/Psf] छ <  
In which article of Constitution of Nepal, 2072 the right to communication is mentioned ?  

 
;d"x …vÚ (Group 'B') 

-5f]6f] pQ/fTds k|Zgx¿ / Short answer questions.)      [8×5=40] 

!@=  ;dfrf/ sIfsf] ;+/rgfaf/] ;lrq j0f{g ug'{xf];\ .  
 Describe the structure of the newsroom using a diagram.  

Or 

 cvaf/df k[i7 ;hfj6sf] dxTTjaf/] n]Vg'xf];\ .  
 Write the importance of ‘page making’ in newspaper.  

 

!#= lkmr/–n]vgsf s'g} kf“rj6f dxTTjk""0f{  laz]iftfx¿sf] j0f{g ug{'xf];\ .   
Describe any five characteristics of feature writing in briefly.   

 



!$= रेफडयो र टेफलफभजन पत्रकाररता मधे्य कुन रोजु्नहुन्छ < कुनै पफन पााँच तकु फदनुहोि् ।   
Among Radio and Television journalism which would you prefer ¿ Present your  five logics.  

Or 

;fdflhs ;Ghfn / cgnfOg ldl8of Kn]6kmd{df s] leGgtf 5 < s'g} kf“r dxTTjk"0f{ leGgtfx¿ n]Vg'xf];\ . 
What makes social media different from other online media platform¿ List any five 

significant differences.  
 

!%= :s[K6 किरी रेफडयो र टेफलफभजन प्रिारणको गुणस्तरलाई अिर गछु, र फकन फतनीहरूलाई यी माध्यमहरूमा िामग्री 

फनमाुणको महत्त्वपूणु तत्त्वहरू माफनन्छ < यिको फिसृ्तत व्याख्या गनुुहोि् ।   
How do scripts impact the quality of radio and television broadcasting, and why are they 

considered key elements of content creation in these media¿ Discuss in detail.  
 

!^= /]l8of] Dofu]lhgeGbf /]l8of] lkmr/ s;/L km/s 5 <  
 How does radio magazine differ from radio feature?  
 

!&= िोटोग्रािरको भूफमकाको रूपमा, तपाईंले िोटो खखच्दा पालना गनुुपने आिश्यक फिद्धान्तहरू के हुन् ? कृपया उफचत 

फिचार िफहत ठोि उदाहरणहरू प्रदान गनुुहोि् ।  

As a photographer, what are the essential principles that you should follow while taking a 

picture? Provide concrete, well-considered examples.  
 

!*= kmf]6f]u|fkmL ;6/, l:k8, Pkr{/ / ISO s;/L ;DalGwt 5g\ :ki6 ug'{xf];\ .  
 How shutter speed, aperture, and ISO are related in photography¿ Explain. 
 

!(= "िूचनाको हक" भनेको के हो ?  

 What does "right to information" mean?  

  

;d"x …uÚ (Group 'C') 

-lj:t[t pQ/fTds k|Zgx¿ / Long answer questions.)        [3×8=24] 

@)= िमाचार िम्पादन भनेको के हो < pk–िम्पादकहरूले (skL Pl86/) िम्पादन गने प्रफियामा के कस्ता चरणहरू िंलग्न 

हुन्छन् < व्याख्या गनुुहोि् ।  
What is news editing¿ What are the steps involved in the editing process carried out by ‘copy 

editors?’ Explain. 

OR 

lkmr/ eg]sf] s]] xf] < cvaf/df k|sflzt x'g] ljleGg k|sf/sf lkmr/x¿sf] af/]df ljZn]if0f ug{'xf];\, र 
फतनीहरू किरी एकअकाुबाट फभन्न छन् भनेर व्याख्या गनुुहोि् ।  

What is meant by ‘feature’¿ Discuss about the various types of ‘features’ that newspapers 

publish, and how do they differ from one another¿ 
 

@!= फिक्षा, खानेपानी, िडक फनमाुण, स्वास्थ्य िा िरििाइ जस्ता तपाईंको िमुदाय िा िमाजका लाफग महत्त्वपूणु हुने कुनै 

एक स्थानीय मुद्दामा पत्रकाररता कौिल प्रयोग गरेर िमाचार लेख्नुहोि् ।  
Write a news story using journalism skills on any one local issue that is important to your 

community, such as education, water supply, road construction, health, or sanitation.  
 

@@=  नेपालको िंफिधान २०७२ ले पे्रि स्वतन्त्रताको िंरक्षण र प्रिदु्धन कफत हदिम्म गदुछ ? पे्रि स्वतन्त्रताको फिसृ्तत 

पररभाषा फदनुहोि् र तपाईंको जिािलाई िमथुन गनु फििेष उदाहरणहरू प्रयोग गनुुहोि्।  
To what extent does the Constitution of Nepal 2072 protect and promote freedom of the 

press¿ Provide a comprehensive definition of press freedom and use specific examples to 

support your answer.   

     

-0- 
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NEB - GRADE XII 

2079 (2022) 

Model Question 

Health and Physical Education 

Time: 3 hrs.           Full Marks: 75 

 

ljBfyL{x¿n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfofF lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\s hgfpFb5 . (Candidates are 

required to give their answers in their own words as far as practicable. The figures in the margin 

indicate full marks.) 

;a} k|Zgsf] pQ/ lbg'xf];\ . (Attempt all the questions.) 

 

;d"x …sÚ (Group 'A') 

clt ;+lIfKt pQ/fTds k|Zgx¿ (Very short answer questions)     11x1=11 
 

1. Zf/Ll/s tGb'¿:tL eGgfn] s] a'ldmG5 < 

What is meant by physical fitness ?  

2. Pp6f JolQmnfO{ dfgl;s tGb'¿:tLsf] cfjZostf lsg kb{5 < Ps jfSodf n]Vg'xf];\ . 

Why mental fitness is necessary for an individual ? Write in a sentence.  

3. tkfOF{sL ltvf{PsL alxgLn] tkfOF{;Fu lkpgsf nflu Ps lunf; z'å kfgL dflu/x]sL 5g\ . t/, To; ;dodf 3/df 

z'4Ls/0f ul/Psf] kfgL 5}g . o:tf] cj:yfdf 3/df ePsf] kfgLnfO{ t'¿Gt} z'4Ls/0f ug{ s'g pkfP cjnDjg  

ug'{x'G5 < s'g} Ps pkfo n]Vg'xf];\ . 

You are asked to serve a glass of pure drinking water to your thirsty younger sister. But 

you do not have purified water at the moment. How do you purify available water 

quickly at your home ? Write any one measure.  

4. sfl8{of]ef:s'n/ /f]uaf6 aRg] s'g} Ps pkfo n]Vg'xf];\ . 

Write any one preventive measure of cardiovascular disease ?  

5. t/sf/Ldf cTolws ljiffbL k|of]u u/]sf sf/0fn] tkfO{Fsf] l5d]sdf s]lx dflg;x¿ SofG;/jf6 u|l;t eO/x]sf 5g\ . 

Pp6f ;r]t gful/ssf] x}l;otn] pgLx¿nfO{ t/sf/Ldf ljiffbL k|of]u gug{ k|f]T;flxt ug]{ s'g} Pp6f pkfo  

;'emfpg'xf];\ .  

A significant number of people in your neighbourhood are suffering from cancer due to 

excessive use of pesticide in vegetables. As a concious citizen, suggest a measure to 

your neighbours not to use pesticide in vegetables ?  

6. of}g :jf:Yosf s'g} b'O{ dxTTjx¿ n]Vg'xf];\ . 

Write any two importance of sexual health.   

7. tkfOF{sf] l5d]sdf x'g ;Sg] s'g} b'O{ of}g lx+;fx¿ pNn]v ug'{xf];\ . 

Mention any two sexual violence in your neighborhood.  

8. Vff] vf] v]nsf s'g} b'O{j6f ;Lkx¿ n]Vg'xf];\ . 

Write any two skills of Kho-Kho game.  

9. sa8\8L v]ndf naLsf] k|of]u ug{ ;lsg] s'g} Ps cj:yf n]Vg'xf];\ .  

Mention any one situation that can be used lobby in Kabaddi game ?  

10. xfOhDksf s'g} b'O{j6f r/0fx¿ pNn]v ug{'xf];\ . 

Mention any two steps of high jump.  
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11. 5f]6f] b"/Lsf] bf}8 / l/n] bf}8sf aLr /x]sf s'g} b'O{j6f leGgtfx¿ n]Vg'xf];\ . 

Distinguish between short distance running and relay race in two points.  

 

;d"x …vÚ(Group 'B') 

 

;+lIfKt pQ/fTds k|Zgx¿ (Short answer questions)      8x5=40 

12.  :jf:Yo k|j4{gnfO{ kl/eflift ug'{xf];\ / ;fd'bflos :jf:Yo k|j4{gsf s'g} 5j6f kIfx¿sf] ;"rL jgfpg'xf];\ . 

Define health promotion. List out any six aspects of community health promotion.  

13. tkfO{Fsf] ;d'bfodf kfO{g] s'g} 5j6f ;fd'bflos :jf:Yo ;d:ofx¿ pNn]v u/L s'g} Pssf] 5f]6f] j0f{g ug'{xf];\ . 

Mention any six community health problems found in your community and describe any 

one of them in short.  

14. g]kfnsf] b'u{d If]qdf j;f]jf; ug]{ w]/} dflg;x¿n] z'4 lkpg] kfgLsf nflu vr{ ug{ ;Sb}gg\ . kl/0ffd :j¿k pgLx¿n] 

ljljw vfnsf :jf:Yo vt/fx¿ ;fdgf ul//x]sf 5g\ . o:tf] cj:yfdf vfg]kfgLsf] z'4Ls/0fsf nflu tkfO{Fn] s'g ljlw 

l;kmfl/; ug'{x'G5 < sf/0f lbg'xf];\ . 

Many people in remote area of Nepal cannot afford purified drinking water. 

Consequently, they are facing many health hazards. In this situation, which method 

would you suggest to the poor families to purify drinking water ? Why ?  

Or 

;x/L If]qdf k'/fgf ;jf/L ;fwgx¿n] pRr dfqfdf xfgLsf/s w'Fjf pT;h{g ul//x]sf 5g\ . h;sf sf/0fn] w]/} 

dflg;x¿ d'6' tyf kmf]S;f]sf] ;+qmd0faf6 u|l;t ePsf 5g\ . :jf:Yo lzIffsf] ljBfyL{sf x}l;otn] ;x/L If]qdf jfo' 

k|b"if0f lgoGq0f ug{ pkof]uL x'g] s'g} kfFr pkfPx¿ pNn]v ug'{xf];\ . 

Old vehicles are emitting high amount of smoke in urban area. As a result, many people 

are infected from cardiovascular diseases. As a student of health education, mention any 

five measures to control air pollution in urban area. 

  

15. dlgifn] kfgLdf 8'a]sf] 3fOt]sf] k|fylds pkrf/ ul//x]sf 5g\ . o;/L pkrf/ ub}{ubf{ pgn] ljleGg r/0fx¿     

-kf]v/Ljf6 3fOt]nfO{ jflx/ lgsfn], gfs, d'v / sfgdf /x]sf jfx\o j:t'x¿ ;kmf u/], Zjf;k|Zjf; u/]÷gu/]sf] hfFr 

u/], 3fOt]sf] kmf]S;f]df el/Psf] kfgL lgsfNg k]6 lyr], 3fOt]sf] 6fpsf] tn / v'6\6f dfly kg]{ u/L 3f]K6f] kf/], 3fOt]sf 

leh]sf sk8f kl/jt{g u/] / lj/fdLnfO{ :jf:Yo ;+:yfdf k'¥ofpg cfktsflng ;xof]usf nflu cg'/f]w u/]_ cjnDjg 

ub}{ 3fOt]nfO{ k|fylds pkrf/ u/]sf 5g\ . s] dlgifn] kfgLdf 8'j]sf] 3fOt]nfO{ 7Ls k|lqmof cjnDjg u/L k|fylds 

pkrf/ k|bfg u/] < cfkm\gf ts{x¿ k]z ug'{xf];\ . (Manish has been providing first aid treatment to a 

drowning victim. While doing so, he has followed several steps (take out victim from the 

pond, clean foreign things from nose, mouth, and ear; check for breathing, compress the 

abdomin of victim to take out water, tilt his/her head down, change wet clothes, and call 

for emergency help to admit in a hospital) to provide first aid to the victim. Has Manish 

followed appropriate process to provide first aid to the victim ? State your arguments.)   

16. sa8\8\L v]nsf s'g} kfFrj6f lgodx¿ pNn]v ug'{xf];\ . 

Mention any five rules of Kabaddi game.  

17.  elnan, km'6jn jf af:s]6jn dWo] s'g} Ps v]n 5gf}6 u/L o;df cfjZos s'g} b'O{j6f ;Lkx¿sf] j0f{g ug'{xf];\ . 

Choose any one game among volleyball, football or basketball and describe any two 

essential skills of it. 
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18.  s'g} gofF 7fFpdf @)) ld6/= bf}8sf] nflu cfjZos bf}8ky jgfpgsf nflu tkfOF{nfO{ k|lzIfssf] ¿kdf lgo'Qm 

ul/Psf] 5 . o; ;Gbe{df tkfO{F{n] bf}8ky s;/L agfpg'x'G5 < bf}8kysf] Pp6f n]cfp6 gd'gf sf]g'{xf];\ . 

You have been recruited as a coach to make a track for 200m. running in a new place. In 

this regard, how do you construct the track ? Sketch a model layout of it.  

Or 

 Pp6f ljBfnodf z6k'6 v]nsf nflu pko'Qm gfk ;lxtsf] l/ª agfpgsf nflu tkfO{FnfO{ zf/Ll/s lzIff lzIfssf 

¿kdf lgo'Qm ul/Psf] 5 . o; ;Gbe{df tkfOF{{n] pQm l/ª s;/L agfpg'x'G5 < pko'Qm gfk ;lxtsf] l/ªsf] n]cfp6 

gd'gf agfpg'xf];\ . 

You have been recruited as a physical education teacher to make a ring for shotput in a 

school. In this regard, how do you construct the ring ? Sketch a model layout of it. 

19.  kf]if0fljb\sf x}l;otn] v]nf8Lx¿sf] nflu s:tf] vfnsf] kf]if0f pknAw u/fpg'x'G5 < pbfx/0f ;lxt k|i6 kfg'{xf];\ . 

As a dietician, what type of nutrition would you provide to athletes? Clarify with 

example.  

 

;d"x …uÚ (Group 'C') 

lj:t[t pQ/fTds k|Zgx¿ (Long answer questions)     3x8=24 
 

20.  Zff/Ll/s Jofofd kZrft s:tf k|sf/sf zf/Ll/s kl/j{tgx¿ b]vf kb{5g\ < j0f{g ug{'xf];\ . 

What type of physical changes would be seen after doing physical exercise? Describe.  

21. jfo' k|b'if0fdf ePsf] tLa| j[l4sf sf/0fn] tkfO{Fsf] ;d'bfosf s]lx dflg;x¿ sfl8{of]ef:s'n/ /f]uaf6 u|l;t eO/x]sf 

5g\ . efUoj; tkfOF{ / tkfO{Fsf] kl/jf/sf ;b:ox¿ cfhsf] ldlt;Dd ;'/lIft x'g'x'G5 . o:tf] cj:yfdf o; /f]ujf6 

;'/lIft x'g tkfO{Fn] cjnDjg ug]{ rf/ pkfox¿sf af/]df JofVof ug'{xf];\ . 

Some people in your community are suffering from cardiovascular disease due to rapid 

growth of air pollution. Fortunately, you and your family members are safe from this 

problem till the date. In this situation, what four measures would you adopt to be safe 

from this disease? Describe.  

22.  zx/L If]qdf dfOqmf]a;df ofqf ug]{ w]/}h;f] dlxnfx¿ ofqf ug]{ qmddf ljleGGf k|sf/sf of}g lx+;faf6 kLl8t eO/xsf 

5g\ . o:tf] cj:yfdf of] ;d:ofnfO{ sd ug{ pkof]uL x'g] s'g} rf/j6f ;'emfa pbfx/0f ;lxt pNn]v ug'{xf];\ .  

Most of the female passengers in micro bus at city area during travelling are suffering 

from different types of sexual violence. In this situation, state any four appropriate 

suggestions with examples to minimize the problem.  

Or 

 dfgf}F tkfO{Fsf] ;d'bfodf of}g k|;fl/t ;+qmd0faf6 s]lx dflg;x¿ ;+qmldt eO/x]sf 5g\ . o:tf] cj:yfdf o; 

;d:ofnfO{  Go"gLs/0f ug{sf nflu pkof]uL x'g] s'g} rf/j6f Jojxfl/s pkfox¿ pbfx/0f ;lxt ;'dmfpg'xf];\ . 

Imagine that some people of your community are suffering from Sexually Transmitted 

Infection (STI). In this regard, suggest any four practical measures with examples to 

minimize the problem?  

-0- 
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Model Question 

2079(2023) 

Environmental Science 

Candidates are required to give their answers in their own words as far as practicable. 
 

Time: 3 hrs.          Full marks: 75 
 

Attempt all the questions 
Group ‘A’ 

Very Short Answer Questions.       11x1=11 

1. What does hydrological cycle mean?  

2. Define lithosphere in one sentence.  

3. Give a reason for using quantification techniques in biodiversity assessment.  

4. Clarify the meaning of climate change.  

5. Give an example of heat budget in your own view.  

6. Mention any two measures to protect Greenhouse effect.  

7. List any two approaches for solid waste managementin your community.   

8. State any two major toxic chemicals found inenvironment.  

9. Give an example of chronic toxicity.  

10. Mention the full form of GPS.  

11. State the meaning of Remote Sensing(RS). 

Group ‘B’ 

Short Answer Questions.        8x5=40 

12. Illustrate the lentic and lotic environment with examples.  

13. Briefly describe the various steps of soil profile.  

Or 

Briefly describe the properties of soil. 

14. What is vegetation sampling method? Explain itstypes.  

15. Analyze the impacts of climate change in the context of Nepal.  

16. Interpret the bio- magnificationin eco system with example.  

17.  Explain the technological approaches of pollution control in brief.  

18. Explain the primary waste watertreatment. 

19. Mention the various applications of GIS in your daily life.  

Or 

Briefly describe the various units of land measurement system with examples. 

Group ‘C’ 

Long Answer Questions.        3x8=24 

20. Describe the vertical zonation of atmosphere. Illustrate the metrological parameters of 

atmosphereon environment.  

21. Mention the solid waste management approaches and explain any two approaches of solid 

waste management at your community. 

22. Analyze the environmental impact assessment(EIA)system inNepal.  

Or 

Discuss the various plan and policies being adopted to protect environmental degradation in 

Nepal.         -0- 


